Smooth/Low Speed Cylinders

CL1Y/C[1X series

Reducing stick-slip in a low speedrange
Smooth Cylinders CLC1Y Series
‘ Stable operation possible even at

a IOW Speed Of 5 m m/S (Measurement based on JIS B 8377)

Low sliding possible even in Lightweight/Improved functions
bi-directional operation (New structure equivalent to the standard models) B

Can be operated regardless of the direction of pressure. - Better visibility for auto switches

giEmmm
=) = m|im|m
2 Q|| =

(only when the D-M9CI/A90] are used in the CJ2Y, CM2Y, CG1Y)
Interchangeable with the standard models ¥ - Female rod end available as standard (CG1Y, CM2Y, CQSY, CQ2Y) |RHC
(CJ2Y, CM2Y, MBY, CA2Y, CS2Y)

cJ2y CcM2Y
(210, 216) (220 to 040) )

=
N
o

(CG1Y ) (MBY )
2 220 to 2100, 2 32 to 6100,
4. 20 B

3 .=
% b 1?'/

cQsy cQzy

(912 to 925) (932 to 2100)
= | /
o~ -

@ %
..‘/ \\‘/

Reducing adhesion/quick extension

Low Speed Cylinders CLIX Series
ISmooth operation possible even at 0.5 mm/s

(1 mm/s for @16 or smaller)

Minimum operating pressure is reduced in half. § Improved functions

(Compared to previous version) (New structure equivalent to the standard models)

The new structure has improved low friction characteristics. - Better visibility for auto switches

(CM2X, CQSX, CQ2X) (only when the D-M9LJ/A9L] are used in the CJ2X, CM2X)

. - Female rod end available as standard (CM2X, CQSX, CQ2X)

I Interchangeable with the standard models
CJ2X cm2X CQSx cQz2x Ccux

10, 16 2 20 to 240 . 12 to 925 32 to 2100, 1010 832)
(010, 016) {}(%} (920 to 640) 3 (@ 002 ) (032 to 2100) (010 to 632) »
A :ﬂ“‘fm g

St 1o specification Low-Speed Rotary Actuators [ e Premies
=/ = Series
Low-speed compact rotary actuator  Low-speed rotary table _

CRQ2X series o MSQX series 3

135




Smooth/Low Speed Cylinders

L[] | | | | ||

0.07 %_‘ N Large
_ ow speed cylinder Y
g 00 (Current model. " @ Standard cylinder 7)
= | -xBg, XB13 ) 1%
. NN A
© o005 1 00 de ; ‘ ‘ [
2 e 1 €
7] SN L — 5 0 2
g 0.04 Replaceable . : ] T g
g} 0 peed gde ~\\ % [ 1] 2
:.g 0.03 \ é_ T g’
@ z 2
& / ~N v @
E oo
£ |
E 0.01 2 U peecd Ue c o]0

Reducing adhesio b Low speed opera Sl
01 10 100 1000

Piston speed (mm/s)

_“ Smooth cylinder

I Low speed operation (from 5 mm/s)
I Low pressure operation
W Pressure on both sides

- Pressing force control

- Balance control of winders etc.

- General low-speed operating applications
- Tension control

_g Low speed cylinder (New model)

B Low speed operation (from 0.5 mm/s)
M Low pressure operation
M Pressure on both sides
M Reducing adhesion
- Load transfer without a lateral load (Lightweight trays etc.)

- Transfer with less adhesion (Wafers etc.)
- Higher-accuracy pressing force control

_g Low speed cylinder

(Current model: -XB9, XB13)

I Low speed operation

Function

© Smooth cylinder

_G Standard non-lube cylinder

[ General applications

@ Low speed cylinder|@ Low speed cylinder| @ Standard non-lube

(New model) (Current model: -XB9, XB13) cylinder
@ Low pressure operation (@) 8#3;:306 A A
@ Low speed operation O o O A
© Reducing adhesion O [©) @) A
O Reducing quick extension O o O A
@ Pressing force control e} 831)(;:506 o A
O Low sliding [©) o O A
©: Excellent O: Good A:Usable x: Handle with caution.
136

o
3



CLY/CUIX series

[l Selection Procedures (Reference Example)

Transfer Thrust control, Handling, Pressing

Purposes

Thrust control length 2 mm or longer

Less than the minimum
operating pressure

Low pressure, low thrust!

The minimum operating
ressure or more
50 mmis ! 500 mmis

or more or more

Piston speed Piston speed Control stroke

Less than Less than Thrust control length|
Without balancer or Less than the minimum
50 mm/s i 500 mm/s 12:]mmon’|és less than 2 mm operating pressure
Low sliding je====) @@ E) Follow-up speed ) ©) Low pressure, low thrustfrsssy. )
With balancer or Less than The minimum operating|
thrust control 100 mm/s pressure or more

Required ———— Required ———— Required
LowadhesionH (2] LowadhesionH (2] ’ Low adhesion [ (2)

25| 2 BEE
S|P o|m| =

Not vequivedl Not required Not rcqu\rcdl (Except CUX10)

o o o

@ Consider using the smooth cylinder. @ Consider using the low speed cylinder (New model).
© Consider using the low speed cylinder (Current model: -XB9, XB13).
O Consider using the standard non-lube cylinder. @ Please consult with SMC.

B Glossary Explanation

Average piston speed Cylinder full stroke (length) divided by air pressure operating time.

Adhesive phenomenon Quick extension or delay occurs when cylinders are not operated for long hours.

Thrust control Control the pressing force by controlling air pressure in the cylinder.

Balancer Cylinders move along with the moving workpiece.

Balancer follow-up speed The speed of an air cylinder moving along with the workpiece at a small stroke.

| HEHLERGUTE R (GELRR  Calculate the cylinder thrust multiplying piston area by pressure. Piston area varies depending on models and bore sizes.

B Applicable Model/Bore Size

o (2] @ Smooth cylinder @ Low speed cylinder (New model)
Type Smooth B
cylinder gylindeq Compact
(New model)
Small [ ] [ ) [ ] CJ2 Model | CJ2Y |CM2Y|CG1Y |CA2Y|CS2Y|MBY |CQSY|CQ2Y | CJ2X |CM2X |CQSX|CQ2X | CUX
Round [ ] ° [ ] CM2 010 | © [ ] [ ]
[ ] [ ] CG1 012 [ ] [ ]
(] [ ] MB 016 | © [ ] [ ] [ ] [ ]
Tie-rod [ ] CA2 220 [ ) [ ] [ N ) [ ]
[ ] Cs2 025 [ K ) [ ] [ N ) [ ]
o [ ] [ ] [ ] cas 232 [ K ) ° [ [ ] [ N )
- [ ] ° [ ] CcQ2 240 oo | o [ ] ° [ ] [ ]
Free mount [ ] [ ] cu 250 [ N ) [ ] [ ] [ ]
O: Standard ﬂgg : : : : :
2]
2100 [ K ) ° ° [ ]
0125 [ ]
2140 [ ]
2160 [ ]
P.141|P.155|P. 172 P. 198|P.212|P. 183|P. 225 |P. 233 | P. 251 | P. 265 |P. 285| P. 294 | P. 309

svc 137

O

=
N
o



Smooth/Low Speed Cylinders CQUOY/CQUIX series

Added compact foot brackets.

B Compact foot bracket has the same width as the
cylinder. Overall width reduced by up to 43% (212)

\/‘T‘
Overall width \_Compact foot bracket

shortened

B More compact installation space possible
¢ Short pitch mounting is possible.

¢ Allows installation close against a wall.
Installed state Shortened

installation width
|(— Bore Compact Current | Reduced width for short
size foot type foot type pitch mounting (mm)
(mm) | width A (mm) |width B (mm)[ 3 nit [2 units |3 units
12 25 44 19 38 57
16 29 48 19 38 57
20 36 62 26 52 78
25 40 66 26 52 78
32 45 71 26 52 78
40 52 78 26 52 78
50 64 95 31 62 93
63 77 113 36 72 | 108
80 98 140 42 84 126
100 117 162 45 90 135
+ Short pitch mounting is possible only without auto switch.
Please consult with SMC for mounting with auto switch.

H Height from the bottom of brackets to the center of
a cylinder is the same as the current model.

Compact foot bracket Current foot bracket

LH2 | J [gl LH1' LH HJ

Applicable Cylinders: CQSY (P. 225), CQ2Y (P. 233) (Smooth Cylinders), CQSX (P. 285), CQ2X (P. 294) (Low Speed Cylinders)

138



Smooth Cylinders CO1Y series

Part numbers with rod end bracket and/or pivot bracket available
Not necessary to order a bracket for the applicable cylinder separately REA
Note) Mounting bracket is shipped together with the product, but not assembled.
REB
For CM2Y
REC
Example) CDM2Y [C]20-50Z- N W -m9BW oo
Mounting Low
Speed
Pivot bracket Rod end bracket MaQ
Nil |None Nil |None
N | Pivot bracket is shipped together with the product, but not assembled. V | Single knuckle joint RHC
= Applicable to only mounting C, T, U, E, V, and UZ. W | Double knuckle joint
RzQ
Kit of pivot bracket | Kit of pivot bracket With rod end bracket
and single clevis i and trunnion V: Single knuckle joint  W: Double knuckle joint
| _ — —
A=
‘ = SN
i -
For CA2Y
Example) CDA2Y [D]40-100Z- N W -m9BW
Mounting T T
Pivot bracket Rod end bracket
Nil |None Nil |None
N Pivot bracket is shipped together with the product, but not assembled. \" Single knuckle joint
# Applicable to only mounting D (Double clevis) and T (Center trunnion). w Double knuckle joint
Kit of pivot bracket | Kit of pivot bracket With rod end bracket
and double clevis | and trunnion V: Single knuckle joint  W: Double knuckle
— | joint
‘ Applicable Cylinders: CJ2Y (P. 141), CM2Y (P. 155), CG1Y (P. 172), CA2Y (P. 198), MBY (P. 183) (Smooth Cylinders) ‘
D-O
-XOJ



CcJ2Y/CMm2y/CG1Y/MBY/
CA2Y/CS2Y/CQSY/CQ2Y series

. Minimum operatin

cJ2y
AR
cm2y Qg/

CG1Y
mBY

Double
CA2Y acting
cs2y

casy \ %

cQzy : =

140

O

10, 16

20, 25, 32, 40

20, 25, 32, 40

50, 63, 80, 100

32,40

50, 63, 80, 100

40

50, 63, 80, 100

125, 140, 160

12,16

20, 25

32,40

50, 63, 80, 100

0.03

0.02

0.02

0.005

0.03

141

155

172

183

198

212

225

233



Smooth Cylinder
Double Acting, Single Rod

J2Y Series

210, 316

How to Order

] cJ2y[Bli6 -L ]
R i

Smooth cyllnder

X || =
m|m
™ || =

)
m
(]

= |5
o|8=

0 Mounting 9 Bore size 0 Head cover port location 6 Pivot bracket
B Basic [10] 10 mm | Nil None
E Double-side bossed \ 16 \ 16 mm \ Nil | Perpendicular to axis § + Pivot bracket is shipped RHC
- N
D Double clevis - together with the product.
L Single foot : + Only for CJ2D (double clevis)
M Double foot 9 Cyllnder standard stroke (mm) R Axial \ + Pivot bracket is shipped together with ZQ
Refer to “Standard Strokes” on page Ny the product, but not assembled.
F Rod flange 142. -
G Head flange * For double clevis, the product is

perpendicular to the cylinder axis.

= Foot/Flange brackets are shipped together with the product, but not assembled. ! .
+ For double-side bossed, the product is

6 Rod end bracket 0 Auto switch perpendicularto the cylinder axs. e Number of auto switches
Nil None [ Nil_|  Wwithoutauto switch | Nil 2 pes.
) Single knuckle joint + For applicable auto switches, refer to the table below. S 1pec.
Wi Double knuckle joint n “n” pcs.
T Rod end cap (Flat type) 9 Auto switch mounting type
V) Rod end cap (Round type) [A] Rail mounting | @ Made to Order
* Rod end bracket is shipped together with the product, but ‘ B ‘ Band mounting ‘ Refer to page 142 for details.

not assembled.
= A knuckle joint pin is not provided with the single knuckle joint.
=+ Refer to page 148 for the double knuckle joint (with one-
touch connecting pin).

# For rail mounting, screws and nuts for 2 auto switches come
with the rail.
+ Refer to page 153 for auto switch mounting brackets.

= Refer to “Ordering Example of Cylinder Assembly” on page 142.
Applicable Auto Switches/Refer to pages 941 to 1067 for further information on auto switches.

Blectica =3 Wiri Load voltage Auto switch model Lead wire length (m) P d | Applicabl
0 9 lectrical | 5 iring re-wire pplicable
Type| Special function o £ | (Outout Band mounting Rall mounting 05| 1| 3| 5 [None connector load
Y ||| ce AC TS iniine_ |} Indine | (Ni) | )| ©)| @) |
3-wire (NPN) SV12V MINV M9N M9INV M9N ® | ® @ O|—| O (et
< Grommet 3wire (PNP) ! M9OPV M9P M9PV M9P ® | @0 0| — o
= . M9BV M9B M9BV M9B ® | ® ® O|—| O
H 2-wire 12V —
] Connector = H7C J79C = o | — o0 0 —
-g bi i indicat 3-wire (NPN) 5V12V MONWV | MONW | MONWV | MONW | @ (@ | @ O —| O C dircut| Rel
B oot meicaton Yes|Gie PNP) [24 V| ™ — [ M9PWV | M9PW | M9PWV | M9PW | @ [@ [@[O[—| O oy
s 2-wire 12V M9BWV | MOBW |M9BWV | MOBW | @ (@ |/ @ O|—| O —
g . Grommet 3-wire (NPN) SV12V MONAV*!| MONA*' | MONAV*' | MONA*' | O |O |@ | O|—| O (et
= (g"’;:fofr"iﬂfc‘;g‘” 3ire (PNP) ’ M9PAV* | MOPA*' [MOPAV* | MOPA*' | O |O |@|O|—| ©
@ 2-wire 12V M9BAV*'| MOBA*' |M9BAV*'| M9BA*' | O |O |@ | O|—]| O —
Withdiagnosic ovput (20lr indl) 4-wire (NPN) 5V,12V = H7NF — F79F ® | —|®|O0|— O |ICcircuit
3-wire
§ (PNegaln) | — 5V — A%V A9 A9V A9 ® |—|®| —|—| — |Cocicut| —
B ' — | 200v — — A72 A72H (@ [—@|—|—| —
» Grommet Z —
° —_— L 100V | A93V*2 A93 A93V*2 A93 [ K 2K ) - —
H INo| _ire 1oy 1100Vorless A0V A90 A0V A0 ® |—|®|—|—| — |[Ccicut| Relay,
] Yes 24V — — C73C | A73C — o —ejej®| — | — |PC
2 Connector |No 24V or less — Cc80C A80C = ® | —|® /@ ® — Coiui
Diagnescndcaon (oo indialo) | Grommet | Yes — — — — A79W = e —\ e —|—| — —
=1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.
«2 1 m type lead wire is only applicable to D-A93.
= Lead wire length symbols: 0.5 m Nil (Example) MONW 5m - Z (Example) MONWZ
im M (Example) MONWM None - N (Example) H7CN
3m L (Example) MONWL D'I:l

= Since there are other applicable auto switches than listed above, refer to page 154 for details.
= Solid state auto switches marked with “O” are produced upon receipt of order.
= The D-A90J/M9ILI/A71/A801/F70/J700 auto switches are shipped together, but not assembled. (For band mounting, only the auto switch mounting brackets are assembled before shipment.) .xl:l

141 ®



CJ2Y series

Specifications
————
Bore size (mm) 10 \ 16
Action Double acting, Single rod
Fluid Air
Proof pressure 1.05 MPa
Maximum ing pressure 0.7 MPa

Ambient and fluid temperature

Without auto switch: ~10°C to 70°C

With auto switch: —10°C to 60°C (No freezing)

Symbol Cush'ion' Rubber bumper.(Standard equipment)
Lubrication Not required (Non-lube)
Rubber bumper Stroke length tolerance 10
Piston speed 5 to 500 mm/s
P 210 0.035J
Allowable kinetic energy ‘ 216 0.090J
Minimum Operating Pressure
—
10| Unit: MPa
Mgg‘ee' Made to Order I Bore size (mm) I 10 I 16 |
Click here for details | Minimum operating pressure | 0.03 |
Symbol Specifications
-XAL | Change of rod end shape
-XC3 | Special port location Standard Strokes
-XC9 | Adjustable stroke cylinder/Adjustable retraction type
Bore size (mm) Standard stroke (mm) Maximum stroke (mm)
10 15, 30, 45, 60, 75, 100, 125, 150 400
16 15, 30, 45, 60, 75, 100, 125, 150, 175, 200 400

Mounting Brackets/Part No.

Mounting Bore size (mm)
bracket 10 16
Foot CJ-Lo10C CJ-Lo16C
Flange CJ-Fo10C CJ-Fo16C
T-bracket® CJ-T010C CJ-To16C

+ A T-bracket is used with double clevis (D).

© 142

Note 1) Manufacture of intermediate strokes at 1 mm intervals is possible. (Spacers are not used.)
Note 2) Applicable strokes should be confirmed according to the usage. For details, refer to “Air
Cylinders Model Selection” on front matter pages of the Best Pneumatics No. 2-1. In
addition, the products that exceed the standard stroke might not be able to fulfill the

specifications due to the deflection etc.

Mounting and Accessories/ror details about accessories, refer to page 148.

@---Mounted on the product. O---Please order these separately. A---Order separately.

Mounting Basic

Double*!

et clevis

Flange

Mounting nut

Rod end nut

Standard

Clevis pin

Single knuckle joint

Double knuckle joint*!

Double knuckle joint (With one-touch connecting pin)

Option

Rod end cap (Flat/Round type)

[ [Oo|>|0[0]] @@

T-bracket

[ |lOo|>|0[0]] @@
[ |lo|>|0[0]] @@
O|o>[0[0|e|e]|

+1 A pin and retaining rings are included with double clevis and/or double knuckle joint.
+2 Stainless steel mounting brackets and accessories are also available.

Refer to page 148-1 for details.

Ordering Example of Cylinder Assembly

Cylinder model: CDJ2YD16-60Z-NW-M9BW-B

Mounting D: Double clevis

Pivot bracket N: Yes

Rod end bracket W: Double knuckle joint
Auto switch D-M9BW: 2 pcs.

Auto switch mounting B: Band mounting

# Pivot bracket, double knuckle joint and auto switch are
shipped together with the product, but not assembled.

Double clevis

Pivot bracket

Auto switch
Band mounting


http://www.smcworld.com/products/en/custom.do

Smooth Cylinder
Double Acting, Single Rod

APrecautions

T Ty ey Ty

1 Be sure to read this before handling the products. 1

I Refer to back page 50 for Safety Instructions and pages 3 to 12 for Actua- !

. tor and Auto Switch Precautions. '
i |

\ Mounting

A\Caution

1. During installation, secure the rod cover and tighten by applying an appropriate tightening
force to the retaining nut or to the rod cover body.
If the head cover is secured or the head cover is tightened, the cover could rotate, leading
to the deviation.

2. Tighten the retaining screws to an appropriate tightening torque within the range given be-
low. Apply a Loctite® (no. 242 Blue) for mounting thread.

Bore size | Proper tightening torque for mounting thread (N-m)
(mm) (Tightening torque for mounting nut)
10 3.0t03.2
16 54105.9

3. To remove and install the retaining ring for the knuckle pin or the clevis pin, use an appro-
priate pair of pliers (tool for installing a type C retaining ring).
Especially with 210, use ultra thin pliers.

4. In the case of auto switch rail mounting type, do not remove the rail that is mounted. Be-
cause retaining screws extend into the cylinder, this could lead to an air leak.

Wel ghts

©

Bore size (mm) 10 16
Basic 22 46
Basic weight Axial piping 22 46
(When the stroke is zero) | Double clevis (including clevis pin) 24 54
Head-side bossed 23 48
Additional weight per 15 mm of stroke 4 7
Single foot 8 25
Mounting bracket | Double foot 16 50
weight Rod flange 5 13
Head flange 5 13
Single knuckle joint 17 23
Double knuckle joint (including knuckle pin) 25 21
Accessories Double knuckle joint (With one-touch connecting pin) 26 22
Rod end cap (Flat type) 1 2
Rod end cap (Round type) 1 2
T-bracket 32 50

+ Mounting nut and rod end nut Calculation: Example) CJ2YL10-45Z

are included in the basic weight.  Basic weight----- .22 (010)

Note) Mounting nut is not included « Additional weigh
in the basic weight for the o Cylinder stroke
double clevis. * Mounting bracket weight

22 +4/15x45+8=42¢

- 4/15 stroke
- 45 stroke
- 8 (Axial foot)

CJ2Y series

X || =
m|m
™ || =

)
m
En

o
@® =

)=
@®
o

T |[=|[=
N || X
olla|e



CJ2Y series

Dimensions

Basic (B)

CJ2YB ‘Bore size‘ - ‘Stroke‘ ‘ Head cover port location | Z

Section Y detail

Rod end nut

B.s
%
\&

¢ Mounting nut
NN\ Y GA Piping port 2 x M5 x 0.8

m (

NA

S + Stroke

g

Z + Stroke

Piping port M5 x 0.8

Head cover port location
Axial location (R)
* The overall cylinder length does not change.

¢ Refer to page 148 for details of the mounting nut.
(mm)
Bore size A B [ GB H MM NA NB NDh8 NN S Y4
10 15 | 12 | 14 8 5 28 M4x07 | 125 95 8302 M8 x 1.0 46 | 74
16 15 | 183 | 20 5 28 M5 x 0.8 125 | 95 10 M10 x 1.0 47 75

Single foot (L)

CJ2yL ‘Bore size‘— ‘Stroke‘ ‘ Head cover port location | Z

Y¢ Mounting nut

GA  Piping port 2 x M5 x 0.8

Cover surface
- o
\/ 5[ v
} } 0
B-os
o] 5
LZ A Piping port M5 x 0.8
2xoLC NA, INB |
Mounting hole S + Stroke
Z + Stroke
Head cover port location
. _ Axial location (R)
Y¢ Refer to page 148 for details of the mounting nut. « The overall cylinder length does not change.
(mm)
Bore size A|/B|C|D LB|LC|LH|LT |LX|LY |LZ MM NA | NB NN S| X|Yy |z
10 1512 | 14| 4 8 15 45| 9 | 16|24 |165| 32 | M4x0.7 [125/ 95| M8x1.0 | 46 | 5 7 |74
16 15 (18.3| 20 | 5 23 |55 |14 | 23|33 |25 | 42 | M5x0.8 [125| 9.5 | M10x1.0 | 47 | 6 9 |75

144



Smooth Cylinder .
Double Acting, Single Rod CJ2Y Series

Dimensions
—
Double foot (M)
CJ2YM |Bore si Y4
H Y Mounting nut ¢ Mounting nut REA
F |GA RafLLLEL AL REB
. . Rod end nut Piping port 2 x M5 x 0.8 GB_ _F /NN
over surface REc
| | | ] s Ve e
N\ 51 - H 5 Low
i ; Speed
LX ‘
M
Lz 0
4xoLC
Mounting hole NA NB| Y |X RHC
S + Stroke
LS + Stroke RZQ
Z + Stroke
Y¢ Refer to page 148 for details of the mounting nut.
(mm)
Bore size A D F |GA|GB| H [LB|LC|LH|LS |LT |LX|LY]|LZ MM NA | NB NN S X Y z
10 15 | 4 8 8 5 | 28|15 |45| 9 | 60 | 16| 24 |[16.5| 32 | M4x0.7 |125| 95 | M8x1.0 | 46 | 5 7 | 86
16 15 | 5 8 8 5 | 28|23 |55|14 |65 |23|33 | 25| 42 | M5x0.8 |[125| 9.5 | M10x1.0| 47 | 6 9 | 90
Rod flange (F)
CJ2YF ‘Bore size‘— ‘Stroke‘ ‘ Head cover port location | Z
Y¢ Mounting nut
Cover surface Rod end nut NN g_e Piping port 2 x M5 x 0.8 GB .
MM al %
B i HITH
N5 m| > ) N
& e Sikie 4 M
FX FT B-0s
Fz 2xoFC A F | NA NB
Mounting hole H S + Stroke
Z + Stroke
Piping port M5 x 0.8
‘
;
‘VA
Head cover port location
Axial location (R)
¢ Refer to page 148 for details of the mounting nut. * The overall cylinder length does not change.
(mm)
Bore size A B [ D 7 FB | FC | FT | FX | FY | FZ |GA |GB | H MM NA | NB NN S z
10 15 | 12 | 14 4 8 13 |45 |16 | 24 | 14 | 32 8 5 28 | M4x0.7 |[125] 9.5 | M8x1.0 | 46 | 74
16 15 |18.3| 20 5 8 19 | 55| 23| 33 | 20 | 42 8 5 28 | M5x0.8 |125| 9.5 | MI0Ox1.0 | 47 | 75 D-D
-Xd



CJ2Y series

Dimensions

Head flange (G)
CJ2YG |Bore si

~[stroke] Z

Rod end nut GA  Piping port 2 x M5 x 0.8 GB_ ¢ Mounting nut Cover surface
NN NN
)
© MM ?# ¥ &
o3 7 s WV ) @ >
5 ) Siis: R EE
B A F|NA NB|| |FT FX 2xoFC
H S + Stroke F Fz Mounting hole
Z + Stroke
¢ Refer to page 148 for details of the mounting nut.
(mm)
Bore size A B [ D F FB | FC | FT | FX | FY | FZ |GA |GB | H MM NA | NB NN S z
10 15 | 12 | 14 4 8 13 |45 |16 | 24 | 14 | 32 8 5 28 | M4x0.7 |[125] 9.5 | M8x1.0 | 46 | 82
16 15 |18.3| 20 5 8 19 | 55 | 23| 33 | 20 | 42 8 5 28 | M5x0.8 |125| 9.5 | M10x1.0 | 47 | 83

Double clevis (D)
CJ2YD

[Stroke| 2

oCDH9"5*°
GA Piping port 2 x M5 x 0.8 NB Clevis pin (2cdd973 5%
Rod end nut GB
(Y] MM (¢
/ S Q 3 r i S
3 {€ SSEE =
= ) | 3
BSs A LNA |
H S + Stroke )
Z + Stroke R
ZZ + Stroke
# A clevis pin and retaining rings are included.
(mm)

Bore size A B C |CD(cd)] CX cz D GA | GB H MM NA | NB R S u 4 zz
10 15 12 14 3.3 3.2 12 4 8 18 28 M4x0.7 | 125|225 5 46 8 82 87
16 15 183 | 20 5 6.5 | 18.3 5 8 23 28 M5x0.8 | 125 | 27.5 8 47 10 85 93

146



Dimensions

Double-side bossed (E)

Cu2VE Bore siel— Sroke] 2

Section Y detail

Y& Mounting nut

Smooth Cylinder
Double Acting, Single Rod

CJ2Y series

Rodendnut NN \ Y 9_5 Piping port 2 x M5 x 0.8
MM
& -
e (%y !
BYs A . F | NA
° Section YY detail
H S + Stroke
Z + Stroke
Y¢ Refer to page 148 for details of the mounting nut.
(mm)

Bore size A B Cc D F GA GB H MM NA NB NDh8 NN S 4

10 15 12 14 4 8 8 5 28 M4x07 | 125 | 95 8.0 02 M8 x 1.0 46 82

16 15 | 183 | 20 5 8 8 5 28 M5x08 | 125 | 95 10z M10x1.0 | 47 | 83

X || =
m|m
™ || =

)
m
@

o
Q=

)=
o

T |[=|[=
N || X
olla|e



CJ2Y series
Dimensions of Accessories (options)

Single Knuckle Joint e roted el

Double Knuckle Joint s roteq siee

Knuckle Pin

Material: Stainless steel

BONDrio MM L oND hole Hio MM
- —\
Axis dg \ L
| RR,
[ BR \‘@; )
® X i s
! S [ s
NX=8% Ui 8% A Ui's? (A
12 7 Li 7 Lt
(mm) (mm) (mm)
‘Applicable
Appcabe Partno. |‘deSee| At | L | Li | MM Aoplcebl Incuded
Part no. 5 Av| Ls | MM {NDuso|NX| Rs | Us voaor0e 10T s Tia2 21 Twaxor Partno.((ftor| DAY | d L |Lajm | t | e
1-J010C| 10 | 8 |21 |M4x07|3.3%**|3.1]| 8 | 9 Y-JO16C | 16 11 |16.6| 21 | M5x0.8 CD-J010| 10 [3.33%9| 3 |152122|1.2]0.3|TypeC32
1-J016C| 16 | 8 |25|M5x08) 5% |6.4|12|14 Partno. | NDw | NDwo | NX | R: | U, 1Y-J015| 16 | 5050 |4.8|166|122|15]0.7| TypeC5
Y-J010C [3.333%(3.39%| 32 | 8 10 = For 10, a clevis pin is diverted.
Y-J016C | 5302 | 59% | 65 | 12 10 = Retaining rings are included with a knuckle pin.

= A knuckle pin and retaining rings are included.

Double Knuckle Joint (With One-touch Connecting Pin)

One-touch Connecting Pin for Double Knuckle Joint materia: staintess steel

e -+ =N
x
ey m. ©
2Slg MM o B
[=]E] R, -
o % é 7 ﬁ{
© 4 bty oDd9 10
\,-\"79/ 3 15 20.5 \\/
+0.2 24 é
NX'o A ;
14.6 Ui'e? NI
7 L A o
@ |\| :
(mm) (mm)
Applicable Applicable
Partno.|\ e | A1| L1 | MM | NDd9 | NDH10 | NX| R1 | Ut Partno. | o ze | Dd9
Y-J10 10 8|21 | M4x07 | 3.336% | 3.39™ |32| 8|10 1Y-J10 10 3.33000
Y-J16 16 11|21 | M5x08 | 53550 5% |65]12] 10 1Y-J16 16 G

Mounting Nut

Material: Carbon steel

Rod End Nut

Material: Carbon steel

7
Hz
(mm) (mm)
Applicable Applicable
Partno. |\/rce| B1 | C1 d H1 Partno. |\/e| B2 | C2 d Hz
SNJ-010C 10 11 |12.7| M8x1.0 | 4 NTJ-010C 10 7 | 81| M4x0.7 | 3.2
SNJ-016C | 16 14 |16.2| M10x10 | 4 NTJ-015C | 16 8 | 92| M5x08 | 4

® 148



Dimensions of Accessories (Options) CJ2 Y Series

Pivot Bracket (T'bracket) Clevis Pin Material: Stainless steel
—
(S + Stroke) _ (U TDx1o L
T mt Li tm
R A g
Ir - ] o
N f 2
12 4x0TC CJ 4&-8
E
TY (mm)
™
Appicable: Included
PR T bore size Dd9 | d L Lim|t refaining ing
(mm) CD-J010| 10 3.325%9 3 |152(122[1.2]0.3|TypeC32
Partno. | AP0\ 7G| TDwo [TH|TK|TN|TT TU[TV[TW|TX|TY|TZ CD-Z015] 16 | 5355 |4.8]227183|1.5|0.7] TieC5
0.048 = Retaining rings are included with a clevis pin.
cJ-Totoc| 10 [45[3.39 [29]18[3.1] 2| 9 [40[22]32[12] 8
cJ-To16c| 16 [55| 59 |35]|20]6.4|23]14]48]28]38]16]10

* A T-bracket includes a T-bracket base, single knuckle joint, hexagon socket head bolt and spring
washer.
+ For dimensions of (U) and (S + Stroke), refer to the double clevis drawing on page 146.

One-touch Connecting Pin for Double Clevis  waterit: Stainiess steel Rod End Cap Material: Polyacetal
—
‘W E Flat type/CJ-CFOOO Round type/CJ-CROOO
- ;
L | —A MM
|
oDd9 Wi
H W2
Part no. Applicable
Flat type |Round type | bore size AR E 515 09 & |
CJ-CF010 | CJ-CRO10 10 8 |10| 13| M4x0.7 | 6 |10 8
B %%prgcgglee Dd9 H L w CJ-CF016 | CJ-CR016 16 10 (12| 15| M5x0.8 | 7 |12 |10
CD-J10 10 33000 | 134 13.2 4
CD-J16 16 BEoean 18.2 19.5 5
Partno. | W1 | W2 Note
CD-J10 | 12 15 | Cannot be mounted on cylinders with air cushion,
CD-J16 | 15 18 | orrail mounting type auto switches.

# Please pay attention to the applicable cylinder.

Mounting Brackets, Rod End Brackets, and Nut Material: Stainless Steel

Part No. (Dimensions: Same as standard type)

Bore size Single Double Mounting Rod
(mm) Foot Flange knuckle joint | knuckle joint* nut end nut
10 — — 1-J010SUS | Y-JO10SUS —_ NTJ-010SUS
16 CJ-L016SUS | CJ-FO16SUS| 1-J016SUS | Y-JO16SUS |SNJ-016SUS NTJ-015SUS

# A knuckle pin and retaining rings are shipped together.

AHEE =« EIHE
SRS o|wm| =

=)
N
o



CJ2Y series

Precautions

Assembly Procedures

1. Double Clevis (With One-touch Connecting Pin) (CD-J[J)

Insert connecting pin through

the cylinder and pivot bracket.
.

A gl

CJ2 Air cylinder (Clevis type) =
»
[
Pivot bracket (T-bracket) A
e Rotate the connecting pin. o

e Assembly completed without tools. &>
'\\ ?
a <
g
:\:‘
# The above mounting instructions are for downward-facing
ports. Refer to the following for upward-facing ports.

One-touch connecting pin

1
N

-

9 Rotate the connecting pin.

2. Double Knuckle Joint (With One-touch Connecting Pin) (IY-JO)

Insert the connecting pin
into the joint.

-

\ CJ2 Air cylinder

Double knuckle joint f(/ :
EN

One-touch connecting pin 4
e o,

'y

9 Assembly completed without tools. o

Ve s O

How to Mount the Double Clevis (With One-touch Connecting Pin)

When connecting a double clevis cylinder to a pivot bracket (T-bracket), it is recommended that the pivot bracket (T-bracket) and the cylinder
be connected with the one-touch connecting pin first, before fastening the pivot bracket.
When connecting the cylinder after the pivot bracket (T-bracket) has been fastened, mount the cylinder according to the following procedure.

A\Warning

For assembling the clevis type to the pivot bracket,

refer to the figure below.

1. Insert the double clevis (One-touch connecting pin)

from the direction in the figure.

When port is facing upward ‘

Pivot bracket (T-bracket)

Double clevis
(With one-touch
connecting pin)

A\Warning

+ Perform the mounting within the following range.

2. Push the one-touch connecting pin into the cylinder body
(Double clevis) until it clicks and is firmly fastened.

= Attach the double knuckle joint within 180° (+90° from center). Other mounting methods are the same as the above.

® 148-2



CJ2Y sSeries

Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

Solid state auto switch
<Band mounting>

D-M9O
D-M9CW
D-M9CIA

Auto switch

gl e

[ d=— —=0d

alal s

(24)

(): Dimension of the D-M9LJA
A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.

D-M9CIV
D-M9CIMV
D-M9CJAV
Auto switch
ol S
e
A.JA.‘ *LE

(22)
( ): Dimension of the D-M9CIAV
A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.

D-H701
D-H7OW
D-H7BA
D-H7NF
D-H7C
Auto switch
| !
i ==
i L
Al LB

Reed auto switch
<Band mounting>

)
m
>

D-A90

)
m
W

Auto switch

)
m
En

! . pon !

=

= - T
Al | 245 ’L

2)

,_
o
=

m
[
@
@®
o

HE

(): Dimension of the D-A96 RHC
A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.

RZ
D-A9CIV 0
Auto switch
L i o |
R
A.LZZ ‘ *LE
A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.
D-C701/C80
D-C73CLI/C80C
Auto switch
| !
[ p— ]
I el g
[ T
AllL LB
D-OJ
-Xd



CJ2Y series

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

<Rail mounting>

D-M9CI
D-M9CIW
D-MSTIA Auto switch
=
235 || B
(25.5)

(): Dimension of the D-M9JA

D-M9CIV
D-M9CIWV
D-M9CJAV Auto switch
iy
\U_l
215|| B
(23.5)

(): Dimension of the D-M9CIAV

D-F70J79
D-F70O0W/J79W
D-F79F/F7BA

Auto switch

all .B

D-F7OV/IF7TOWV
D-F7BAV
D-J79C

Auto switch

& =T
A' B

150

<Rail mounting>

D-A90]
Auto switch
(23.5)
( ): Dimension of the D-A96
D-A9CIV
Auto switch
7} S
% ‘ N =
125] |, [125 A.E 235 || B
D-A7C1/A80
D-A73C/A80C
D-A79W

Auto switch

i B

D-A7CH/A80H

Auto switch

B i =i




Auto Switch Mounting CJ2 Y Series

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

Auto Switch Proper Mounting Position (mm)
Auto switch Band mounting
model
D-M9C]
D-M9OIV D-c70] DSH7
D-M9CIW D-A9[] D-C80 D-H7NF
D-M9CIWV D-A9CIV D-C73C D-H7OW
D-M9CIA D-C80C D-H7BA
D-M9CIAV
Bore size A B A B A B A B
10 (5)6 (5)6 (1)2 (1)2 25 25 15 1.5
16 (5.5)6.5 | (5.5)6.5 | (1.5)2.5 | (1.5)25 3 3 2 2
= The values in ( ) are measured from the end of the auto switch mounting bracket.
(mm)
Auto switch Rail mounting
model D-A70H/ABOH
D-A73C/A80C
R D-F701/J79
DM e DeAdel P D-FrONTETOWY D-F7NT D-A7OW
D-M9CIWV D-A9C1V D-A80
D-F79F
D-M9CIA
D-M9LCIAV Bel7aC,
D-F7BA
D-F7BAV
Bore size A B A B A B A B A B A B
10 4.5 4.5 0.5 0.5 3 3 3.5 3.5 8.5 8.5 0.5 0.5
16 5 5 1 1 3.5 3.5 4 4 9 9 1 1
« Adjust the auto switch after confirming the operating condition in the actual setting.
Auto Switch Mounting Height (mm)
Auto switch Band mounting
model
D-M9C] D-MoCIV D-C7C1/C80
D-M9CIW D-M9oCIWV D-H7C/H7O0W D-C73C D-H7C D-A70]
D-M9CJA D-M9CJAV D-H7NF D-C80C D-A80
D-A9C] D-A9C1V D-H7BA
Bore size Hs Hs Hs Hs Hs Hs
10 17 18 17 19.5 20 16.5
16 20.5 21 20.5 23 23.5 19.5
(mm)
Auto switch Rail mounting
model
D-m9oC]
Kikar D-A7CIH/ABOH
D-MOCIWV. D-F701/J79 D-A73C D-F700V
D-M9LIA D-F70O0W/J79W D-A80C D-F700WV D-J79C D-A79W
D-F7BA/F79F D-F7BAV
D-M9LJAV D-F7NT
D-A9C]
D-A9L1V
Bore size Hs Hs Hs Hs Hs Hs
10 17.5 17.5 23.5 20 23 19
16 21 20.5 26.5 23 26 22

=)
N
o



CJ2Y series

Minimum Stroke for Auto Switch Mounting

(mm)
A itch Number of auto switches
Wit &Y Auto switch model ) With 2 pcs. With n pes. (n: Number of auto switches)
mounting With 1 pc. - 5
Different surfaces| Same surface Different surfaces Same surface
D-MoC] -
D-MOCIW 10 15 Note 1) 450 1) 15 +35022) 45415 (n—2)
B:'\A’IQQEA (N=2, 4, 6...) Note 3) (n=2,3,4,5)
n-2
D-M9CIV 5 15Note 1) 35 15+ 35(7) 35+25(n-2)
(N=2, 4, 6. Note ) (n=2,3,4,5-)
(n-2)
D-M9CIWV 15+35 35+25(n-2)
10 15 Note 1) 35 2
D-M9L]IAV (=2, 4, 6. Note3) (n=2,3,4,5.)
n-2
Band mounting | p-A9CV 5 10 35 10+ 35(7) 35+25(n-2)
(N=2,4,6.)Note3) (n=2,3,4,5+)
D-C70 10 15 50 15+40("2;2) 50 +20 (n-2)
D-C80 (N=2, 4, 6..)Noted) (n=2,8,4,5-)
D-H7CI/H70OW (n-2) -
D-H7BA 10 15 60 154457 601—;2:.35 ‘(tns 2)
D-H7NF (N=2, 4, 6. Note ) (n=2,3,4,5+)
D-C73C (n-2) -
D-G80C 10 15 65 154507 50 +27.5(n-2)
D-H7C (nN=2,4,6.)Noted) (n=2,3,4,5-)
10+10(n-2
SRLEDN 5 - 5 - (n :t;y 6..(.31No(e)4)
10+15(n-2
D-ASLIV 5 - 10 - (n =1 64.(.;]Note)4)
D-M9(] 10 o 10 _ 15+ 15 (n—2)
D-A9(] (n =4, 6...) Note 4)
D-M9CIWV 10 _ 15 _ 15+15(n-2)
D-M9CJAV (n =4, 6...) Note 4)
oW s - ° - )
20+15(n—-2
D-M9CIA 15 — 20 - (n =t1, 64-(-) Nots)A)
D-A7[1/A80
Rail mounting | D-A7CJH/A80H 5 - 10 — 15_-;12 (I;I\L(E)A)
D-A73C/A80C (n=4,6-
D-A70H 5 _ 10 _ 15+ 15 (n—2)
D-A80H (n =4, 6...) Note d)
10+15(n-2)
D 10 - 15 - (n = 4, 6...) Note 4)
D-F70] 5 _ s _ 15+ 15 (n—2)
D-J79 (n =4, 6...) Note'd)
D-F70IV 5 _ 5 _ 10+10(n-2)
D-J79C (n=4, 6-:) Note 4)
D-F700W/J79W 10 _ 15 _ 15+20 (n—2)
D-F7BA/F79F/F7TNT (n =4, 6..) Note d)
D-F700WV 10 _ 15 _ 10+15(n-2)
D-F7BAV (n =4, 6..)Note 4)

Note 1) Auto switch mounting

Note 3) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
Note 4) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.

However, the minimum even number is 4. So, 4 is used for the calculation when “n”is 1 to 3.

Auto switch model

With 2 auto switches

Different surfaces Note 1)

Same surface Note 1)

Auto switch

The proper auto switch mounting position is 5.5 mm inward
from the switch holder edge. The above A and B indicate values
for band mounting in the table of page 151.

The auto switch is mounted by slightly displacing it in a direction
(cylinder tube circumferential exterior) so that the auto switch
and lead wire do not interfere with each other.

D-M9L/M/9CIW/M9ILIA

Less than 20 stroke Note 2)

Less than 55 stroke Note 2)

D-A90/A93

Less than 50 stroke Note 2)

Note 2) Minimum stroke for auto switch mounting in types other than those mentioned in Note 1.

152



Operating Range

Auto Switch Mounting CJ2 Y Series

Auto Switch Mounting Brackets/Part No.

(mm)
Auto switch model porelsfz9 RUBELIE] Auto switch model Boreislzelimm)
10 16 mounting 10 16
D-MQEIMQDE D-Mo[]
D-M9CIW/MOCIWV 25 3 D-MOCIV
[
S PREDLEDRY D-MOCIW BJ6-010 BJ6-016
3|D-A90] 6 7 D-M9CIWV (Asetofa,b,c,d) (Asetofa,b,c,d)
E|p-c7tucsoic7acicsoc | 7 7 AV
| D-H7C/H7OW 4 4
2 D-H7BA/H7NF D-MO[JA Note2) BJ6-010S BJ6-016S
D-H7C 8 9 D-M9LJAV Note 2) (Asetofa,b,d,e) (Asetofa, b, d,e)
D-M9CI/MOCIV - -
D-MOCIW/MOLIWV 3 | as Band o [T 5 /
D-M9CIA/MSLCIAV i
mounting| ¢ [ White (PBT) 2
o|D-A9LVAILIV 6 6.5 2
S |D-A7C/A80/ATH/A80H 8 9 d
o |D-A73C/A80C i
E Switch holder b
F|D-ATOW LU R E (tne die-casted)
D-F7C1/J79/F7CIW/J79W \,(.
D-F70VIF7TCOWV/F79F 5 5
D-J79C/F7BA/F7BAV
D-F7NT
Auto switch mounting band
« Values which include hysteresis are for guideline
purposes only, they are not a guarantee D-C701/C80
(assuming approximately +30% dispersion) and g g
may change substantially depending on the Bam_i D-C73C/C80C BJ2-010 BJ2-016
ambient environment. mounting | D-H7C/H7COOW (A set of band and screw) (A set of band and screw)
D-H7BA/H7NF
BQ2-012(S) BQ2-012(S)
(A set of a and b) (A set of a and b)
D-M9C] Set screw
D-M9CIV (Accessory)
w00 D-M9CIW
Rail | D-MoCIWV BQ2-012
mounting | D-MOCIA ote®) BQ2-0128 ™ o
D-M9LIAV Note 5)
D-A9C]
D-A9CIV
Nut (Cylinder accessory)

Note 1) Since the switch bracket (made from nylon) are affected in an environment where alcohol,
chloroform, methylamines, hydrochloric acid or sulfuric acid is splashed over, so it cannot
be used. Please contact SMC regarding other chemicals.

Note 2) Avoid the indicator LED for mounting the switch bracket. As the indicator LED is projected
from the switch unit, indicator LED may be damaged if the switch bracket is fixed on the
indicator LED.

Note 3) When the cylinder is shipped, the auto switch mounting bracket and the auto switch will
be included.

Note 4) For the D-M9LIA(V), order the BQ2-012S, which uses stainless steel mounting screws.

Band Mounting Brackets Set Part No.

Set part no. Contents
* Auto switch mounting band (a)
BJ2-000 * Auto switch mounting screw (b)
* Switch bracket (White/PBT) (e)
BJ4-1 « Switch holder (d)
BJ5-1 * Switch bracket (Transparent/Nylon) (c)
* Switch holder (d)

[Stainless Steel Mounting Screw]
The following stainless steel mounting screw kit is available. Use it in accordance with the operating
environment. (Since the auto switch mounting bracket is not included, order it separately.)

BBA4: For D-C7/C8/H7 types

Note 5) Refer to page 1048 for details on the BBA4.

When the D-H7BA type auto switch is shipped independently, the BBA4 is attached.

X || =
m|m
W || =

)
m
En

)
@ =

)=
@®
=%

T |[=|[=
N || X
olla|e



CJ2Y series

o= mmm s e e mmmmmm— -

Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable.

Refer to pages 941 to 1067 for the detailed specifications.

+ With pre-wired connector is also available for solid state auto switches. For details, refer to pages 1014 and 1015.

1 1
1 1
1 Type Model Electrical entry Features 1
: Band g D-H7A1/H7A2/H7B — :
1 D-H7NW/H7PW/H7BW a i Diagnostic indication (2-color indicator) 1
rommet (In-line)
1 Sold state D-F79/F7PIJ79 — 1
1 Rail D-F79W/F7PW/J79W Diagnostic indication (2-color indicator) 1
1 D-F7NV/F7PV/F7BV Grommet (Perpendicular) — 1
1 D-F7NWV/F7BWV Diagnostic indication (2-color indicator) 1
1 Band g D-C75/C76 - — - 1
1 D-C80 Grommet (In-line) Without indicator light I
1 Reed D-A73H/A76H — 1
" D-A80H Without indicator light
1 Rail 1
1 D-A73 Grommet (Perpendicular) — 1
I D-A80 Without indicator light I
1 1

= Normally closed (NC = b contact) solid state auto switches (D-M9LIE(V)) are also available. For details, refer to page 1592-1.

e

® 154



Smooth Cylinder

CM2Y series

020, 325, 932, 340

BN cv2v(Bl
[ with auto switch [o1 0] 1 PA'Y[ )

With auto switch
(Built-in magnet)

How to Order

Mounting &———
B Basic (Double-side bossed) Bore size
L Axial foot 20 |20 mm
F Rod flange 25 [ 25 mm
G Head flange 32 [32mm
C Single clevis 20 | 40 mm
D Double clevis
V] Rod trunnion Port thread type
T Head trunnion Nil Rc
E Integrated clevis N NPT
\' Integrated clevis (90°) TF G
BZ Boss-cut/Basic
FZ Boss-cut/Rod flange Cylinder stroke (mm)
Uz Boss-cut/Rod trunnion Refer to “Standard Strokes” on

page 156.

+ Refer to “Ordering Example of Cylinder
Assembly” on page 157.

o

Rod end thread
m Male rod end
| _F_| Femalerodend

Pivot bracket

Nil None
N Pivot bracket is shipped
together with the product.

= Only for C, T, U, E, V, UZ mounting types
= Pivot bracket is shipped together with
the product, but not assembled.

Rod end bracket

Nil None
)\ Single knuckle joint
w Double knuckle joint

+ No bracket is provided for the female
rod end type.

# A knuckle joint pin is not provided with
the single knuckle joint.

# Rod end bracket is shipped together
with the product, but not assembled.

Applicable Auto Switches/Refer to pages 941 to 1067 for further information on auto switches.

Made to Orderl

Refer to page 156 for details.

Number of auto switches

Nil 2 pes.
S 1 pc.
n “n” pcs.

Auto switch
[ Nil_] without auto switch |

= For applicable auto switches,
refer to the table below.

Built-in Magnet Cylinder Model
If a built-in magnet cylinder without an
auto switch is required, there is no need
to enter the symbol for the auto switch.
(Example) CDM2YB20-100Z

i S N Load voltage . Lead wire length (m) . .
; : Electrical |TE Wirin Auto switch model Pre-wired Applicable
Type| Special function entry Em (Outpl?t) DC AC ; Iniine (?\i% (JA) (E) (g) N(?\T)e connector load
3-wire (NPN) M9INV M9N ® | —|@® O|— o .
Grommet 3-wire (PNP) 5V.12v MOPV M9P ® — e|0 — 6 IC circuit
= o o-wire 12V M9BV M9B ® | —|®|O0|— O _
S Connector — H7C o —|o 00 —
o Terminal 3-wire (NPN) 5V,12V = G39A [— [—|—[—]e® — 1 cirouit
2 conduit ” 2-wire 12V — K39A | — |—|—|—|@® — —— Relay,
& N O | 3-wire (NPN) | 24 V — MONWV | MONW | @ (@ | @ O |— O : ’
8 | Dorostc caton ™ [uire (PNP) sv.azv MOPWV | M9PW | @ [@ e [o[—| o |0 P°
_g 2-wire 12V MQBWV1 MQBW1 ® ®e|/0® O O —
= . Grommet 3-wire (NPN) M9ONAV*'| MONA* O|0|@|O|— (6] .
8 | g, Sire (PNP) sv.12v MOPAV | MOPA™ | O [0 ]@]o[—| o |°™
2-wire 12V M9BAV*! | M9BA*' | O |O|@|O O —
it dagrosti vt ook indaio) 4-wire (NPN) 5V, 12V = H7NF ® —|@® O|— o IC cireuit
@ | Suire (NPNequivaent) | — 5V — A96V A96 e — e — | — — IC circuit —
> 100 V A93V*2 A93 oo 0 0 — — —
5 Grommet |2 | 12v 100 Vorless| A90V A90 o — e — | — — IC circuit
z [2] 100 V, 200 V — B54 [ o o — — Relay,
g _ 3 200 V or less — B64 o —|o|—|— — — PLC
= $ ) — = C73C [ BEK I B ) —
E Connector 2] 2-wire v 24V orless = C80C [ MK K BK ] — IC circuit
o Terminal 12V — — A33A | — [—|—[—|@® — PLC
& conduit | ¢ 100V, = A4A | — |[—|—|—|@® — — | Rela
DIN terminal | > 200 V = AddA | — [—[—=—|e@ — PLgY
ndan)| Grommet — — = B59W | e |— @ |—|— —

=1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.

%2 1 m type lead wire is only applicable to D-A93.
+ Lead wire length symbols: 0.5 m
im

M

3m
5m
None

z
N

Nil (Example) MONW

(Example)

L (Example) MONWL
(Example) MONWZ

(Example) H7CN

MONWM

+ Solid state auto switches marked with “O” are produced upon receipt of order.
* Do not indicate suffix “N” for no lead wire on the D-A3LIA/A44A/G39A/K39A models.

= Since there are other applicable auto switches than listed above, refer to page 171 for details.
= For details about auto switches with pre-wired connector, refer to pages 1014 and 1015.

= The D-A90J0)/M90IOIO] auto switches are shipped together, (but not assembled). (However, only the auto switch mounting brackets are assembled before shipment.)
* The D-C700/C800/H70 auto switches are assembled before shipment.

T GEH

o
-



CM2Y series

Symbol

Integrated clevis

Double acting, Single rod, Rubber bumper

Specifications
————
Bore size (mm) 20 \ 25 \ 32 \ 40
Action Double acting, Single rod
Piston speed 5 to 500 mm/s
Fluid Air
Proof pressure 1.05 MPa
operating pressure 0.7 MPa

Without auto switch: ~10°C to 70°C

Ambient and fluid temperature With auto switch: —10°C to 60°C (No freezing)

Lubrication Not required (Non-lube)
Stroke length tolerance *34mm

Cushion Rubber bumper

A rate 0.5 L/min (ANR) or less

Minimum Operating Pressure

Unit: MPa
I Bore size (mm) I 20 I 25 32 40
‘ Minimum operating pressure ‘ 0.02
de 10 .
Made to Order Mounting Brackets/Part No.
Click here for details -
Symbol Specifications Mounting bracket oré\girn.‘1 5 BD':ES'Z‘eéfznm) - Sl%r:fnbsagﬁlr r)ninimum
-XAO | Change of rod end shape - = ay 9 Y .
XC3 | Special port location Axial foot 2 CM-L020B | CM-L032B | CM-L040B | 2 foots, 1 mounting nut
XC6 | Made of stainless steel Flange 1 CM-F020B | CM-F032B | CM-F040B | 1 flange
- - - Single clevis™* 1 |CM-C020B | CM-C032B | CM-C040B | 1 single clevis, 3 liners
-XC9 A?Jusg_ablet stroke cylinder/Adjustable Double clevis 1 double clevis, 3 liners,
retraction ype. (with pin)2%, 1 CM-D020B | CM-D032B | CM-D040B 1 clevis pin, 2 retaining rings
~XC10 | Dual stroke cylinder/Double rod type Trunnion (with nut) 1 | CM-T020B | CM-T032B | CM-T040B | 1 trunnion, 1 trunnion nut
-XC13 | Auto switch rail mounting + Order 2 foots per cylinder
-XC20 | Head cover axial port 3 liners are included with a clevis bracket for adjusting the mounting angle.
-XC25 | No fixed throttle of connection port ##x A clevis pin and retaining rings (split pins for 240) are included.
-XC27 Double clevis and double knuckle joint . -
pins made of stainless steel Mountlng and AcCcesSOriesiFor details about accessories, refer to pages 165 to 167.
—
-XC29 | Double knuckle joint with spring pin -
-XC52 | Mounting nut with set screw Accessories Standard Option
. " - X - | single Noted) | Noted) [ poteg) | Note?)
-X1854 | Low friction cylinder mounting Mounting |Rod end| Clevis |, ~"S " | Double | Clevis | piyot | Pivot
+ Refor for "-X1854" ! nut nut pin  [<NUCKI®|knuckle| pivot bracket
* page 157 for "-X1854". Mounting joint | “joint | bracket | bracket| ™ pin
Basic (Double-side bossed) | @ (1 pc.) [ ] — [ ] [ ] —
Axial foot ®(2 [ ] — (] [ ] —
Replacement Parts/Rod Seal Rod flange o1 [ o | — | o [ ® | — | — | —
Head flange o (1) [ — [ J [ ) —
Bore size (mm) Part no. ISn.teglrat(Ied .clevis = :u:e :; : = : : ° ° °
. ingle clevis — Note — —
;g gngi g: Double clevis Note 3) — Note 1) [ ) @ Note 5) [ ] [ ) — f— p—
2 CM322-PS Rod trunnion @ (1)Noe2)| @ — [ ] [ ] — °
. Head trunnion @ (1) Noe2)) @ — [ [J —
40 CM40Z-PS Boss-cut/Basic o (1) [ — [ [ ] —
. Boss-cut/Flange ®(1) [ — (] [ ] — — —
Grease Pack for Maintenance BosscutTrunnion (@ (1)o7 @ | — | o | & | —

When maintenance requires only grease, use the

following

part numbers to order.

Grease pack part number: GR-L-005 (5 g)

® 156

GR-L-010 (10 g)
GR-L-150 (150 g)

Note 1) Mounting nuts are not attached to the integrated clevis, single clevis and double clevis types.

Note 2) Trunnion nuts are mounted on the rod trunnion and head trunnion types.

Note 3) A pin and retaining rings (split pins for 040) are included with the double clevis and double knuckle joint types.

Note 4) A pin and retaining rings are included with the clevis pivot bracket.

Note 5) Retaining rings (split pins for 940) are included with the clevis pin.

Note 6) A pin and retaining rings are included with the pivot bracket.

Note 7) Retaining rings are included with the pivot bracket pin.

+ Stainless steel mounting and ac ies are also
Refer to page 166 for details.

Standard Strokes

\ Bore size (mm) \ Standard stroke (mm) \

\ 20, 25, 32, 40 | 25, 50, 75, 100, 125, 150, 200, 250, 300 |

Note 1) Manufacture of intermediate strokes in 1 mm increments is possible. (Spacers are not used.)

Note 2) Applicable strokes should be confirmed according to the usage. For details, refer to “Air Cylinders Model
Selection” on front matter pages of the Best Pneumatics No. 2-1. In addition, the products that exceed the
standard stroke might not be able to fulfill the specifications due to the deflection etc.



http://www.smcworld.com/products/en/custom.do

Smooth Cylinder CM2Y Series

Option: Ordering Example of Cylinder Assembly

Cylinder model: CDM2YC40-150Z-NV-M9BW

Single clevis

Auto switch

Mounting C: Single clevis

Pivot bracket  N: Yes

Rod end bracket V: Single knuckle joint
Auto switch D-M9BW: 2 pcs.

* Pivot bracket, single knuckle joint and auto
switch are shipped together with the product,
but not assembled.

= Pivot bracket is only applicable to mounting
C,T,U,E, Vand UZ

* No rod end bracket is provided for the female
rod end type.

Weights
——
(kg)
Bore size (mm) 20 25 32 40
Basic (Double-side bossed) 0.14 0.21 0.28 0.56
Axial foot 0.29 0.37 0.44 0.83
Flange 0.20 0.30 0.37 0.68
Integrated clevis 0.12 0.19 0.27 0.52
. . Single clevis 0.18 0.25 0.32 0.65
Basic weight -
Double clevis 0.19 0.27 0.33 0.69
Trunnion 0.18 0.28 0.34 0.66
Boss-cut/Basic 0.13 0.19 0.26 0.53
Boss-cut/Flange 0.19 0.28 0.35 0.65
Boss-cut/Trunnion 0.17 0.26 0.32 0.63
Additional weight per 50 mm of stroke 0.04 0.06 0.08 0.13
Clevis bracket (with pin) 0.07 0.07 0.14 0.14
. Single knuckle joint 0.06 0.06 0.06 0.23
gg::'s; Double knuckle joint (with pin) 007 | 007 | 007 | 020
Pivot bracket 0.06 0.06 0.06 0.06
Pivot bracket pin 0.02 0.02 0.02 0.03
Calculation: Example) CM2YL32-100Z
* Basic weight--- .44 (Foot, ©32)
* Additional weight- .08/50 stroke
* Cylinder stroke: 00 stroke
0.44 + 0.08 x 100/50 = 0.60 kg
Same Mounting Dimensions as the Low Friction Cylinder
—
CM2Y [Mounting|[Bore size||Stroke| Z —X1854 Dimensions

APrecautions

Fem_-_—_—_—_—_——_——_——_—_————————
1 Be sure to read this before handling 1
I'the products. !

Refer to back page 50 for Safety In- :
| structions and pages 3 to 12 for Actu-
1 ator and Auto Switch Precautions. 1

| R e |

\ Operating Precautions |
AWarning

. Do not rotate the cover.
If a cover is rotated when installing a cylinder or
screwing a fitting into the port, it is likely to
damage the junction part with cover.

ACaution

1. Not able to disassemble.

Cover and cylinder tube are connected to each
other by caulking method, thus making it
impossible to disassemble. Therefore, internal
parts of a cylinder other than rod seal are not
replaceable.

Use caution to the popping of a retaining
ring.

When replacing rod seals and removing and
mounting a retaining ring, use a proper tool
(retaining ring plier: tool for installing a type C
retaining ring). Even if a proper tool is used, it is
likely to inflict damage to a human body or
peripheral equipment, as a retaining ring may be
flown out of the tip of a plier. Be much careful
with the popping of a retaining ring. Besides, be
certain that a retaining ring is placed firmly into
the groove of rod cover before supplying air at
the time of installment.

Do not use an air cylinder as an air-
hydro cylinder.

If it uses turbine oil in place of fluids for cylinder,
it may result in oil leakage.

The oil stuck to the cylinder is grease.
The base oil of grease may seep out.
The base oil of grease in the cylinder may seep
out of the tube, cover, crimped part or rod
bushing depending on the operating conditions
(ambient temperature 40°C or more, pressurized
condition, low frequency operation).

-

[

[

o s

Same mounting dimensions as the CM2Q

In order to adjust the mounting dimensions of the low
friction cylinder (CM2Q), extend the longitudinal dimension

(S, ZZ) by 3 mm.

S + Stroke
Specifications ‘ 2Z + Stroke |
Cylinder bore size (mm) 20 [ 25 | 32 | a0

Action Double acting, Single rod Bore size (mm) s 7z
Direction of low friction Bi-directional 20 65 119
Fluid Air 25 65 123
Proof pressure 1.05 MPa 32 67 125

operating pressure 0.7 MPa 20 91 157

= Low friction operates bi-directionally.

# Add 3 mm to S and ZZ dimensions of the double acting, single rod type on pages
158 to 164 for the dimensions for each mounting bracket other than the basic type.

157

REA
RE

)
m
o=

)
@ =

)=
@®
=%

T |[=|[=
N || X
olla|e

D-0J
o



CM2Y series

Basic (Double-side Bossed) (B)

CM2YB Bore size] - stroke] [ |2

G
Width across flats B2 Hz G =~ 2xP 2x NN
Width across flats B1 Hu /(Re, NPT, G) |/ >
H [ =
a = { u )
o s NS/
MM /| s . 5 Effective thread length NA =
Width across flats KA /"~ A ‘K Fr ’ | 2xFL -
H | S + Stroke F |
1 2ZZ + Stroke |
Boss-cut
Female rod end
Female thread MM
T
i
ZZ + Stroke
ZZ + Stroke
(mm)
Bore size A |AL | B1 | B2 | D E F |FL| G| H |Hi |H| | K | KA MM NA NN P | S |ZZ
20 18 [15.5| 13 | 26 | 8 | 2033 | 13 |105| 8 | 41 | 5 8 |28 | 5 6 M8x1.25 | 24| M20x15 |1/8| 62 |116
25 22 [19.5] 17 [ 32 | 10 | 2605 | 13 |[105] 8 [ 45| 6 | 8 [335/55] 8 | Miox1.25 [ 30 | M26x1.5 [1/8] 62 [120
32 22 |19.5| 17 | 32 | 12 | 265053 | 13 |10.5| 8 | 45 | 6 8 |37.5/55| 10 | M10x1.25 |345| M26x1.5 | 1/8| 64 |122
40 24 |21 | 22 | 41 | 14 | 32503 | 16 [135| 11 | 50 | 8 | 10 (46.5| 7 | 12 | M14x 1.5 |425 M32x2 1/4 | 88 | 154
Boss-cut (mm) Female Rod End (mm)
Bore size zz Bore size A1 H MM zz
20 103 20 8 20 M4 x 0.7 95
25 107 25 8 20 M5 x 0.8 95
32 109 32 12 20 M6 x 1 97
40 138 40 13 21 M8x1.25 | 125

* When female thread is used, use a thin wrench
when tightening the piston rod.
* When female thread is used, use a washer etc. to
prevent the contact part at the rod end from being
deformed depending on the material of the

workpiece.

158



Smooth Cylinder CM2Y Series

Axial Foot (L)
CM2YL

A K F|G 2xP
Width across flats B1 |_ AL H> (Re, NPT, G) rg..f. 2xNN
H

Width across flats KA ! T T L (Effective thread length 2 x FL) -
iz g s
o .
> 2xolC (il
Width across flats B2 i H 4x0LD %% b R
MM

IREA
REB_
- Width across flats ONA Ne— é‘ = =
RE
:{Z‘Y X S + Stroke XY, Lx C

ol

LS + Stroke
ZZ + Stroke
Female rod end ZZ + Stroke Female Rod End (mm) Low

H Bore size A | H MM 2z Speed
35 | 20 8 | 20 | M4x07 | 110 mQ

Female thread MM 25 8 20 M5 x 0.8 110
Thread depth A1 32 12 20 M6 x 1 112 RHC

40 13 21 M8 x 1.25 142
= When female thread is used, use a thin wrench when RZQ

tightening the piston rod.
= When female thread is used, use a washer etc. to prevent
the contact part at the rod end from being deformed

depending on the material of the workpiece.
+ Mounting bracket is shipped together with the product. (mm)

Boresize | A|AL| B [B1|B2|D | F |[FL| G |H |[Hi|H2| | | K |[KA|LC|LD|LH|LS|LT|LX|LZ MM NA NN P|S|X|Y|Z|ZZ
20 18(155|40 (13|26 | 8 |13|105/ 8 |41 |5 |8 (28| 5 | 6 | 4 [68]25|102{32|40|55| M8x1.25 |24 | M20x 1.5|1/8/62|20| 8 |21 |131
25 22195/47|17|32|10|13|105| 8 |45| 6 | 8 |335/55| 8 | 4 |6.8|28(102]3.2|40|55| M10x1.25 |30 | M26 x 1.5|1/8/62|20| 8 |25|135
32 22(195|47|17|32|12|13|105| 8 |45| 6 375|55|10| 4 |6.8|28|104|3.2|40|55| M10x1.25 |345| M26 x 1.5|1/8| 64| 20| 8 | 25|137
40 24|21 |54 (22|41 (14|16 (13511 (50| 8 (10 (465| 7 (12| 4 | 7 | 30| 134|32|55|75| M14x15 |425| M32x2 |1/4|88|23|10|27 171

Rod Flange (F)
———
CM2YF - [stroke][ ]z
Width fats B Width across flats B2
4szP idth across flats B1 He G 2xP e
Mounting hole 2xNN
(Rc, NPT, G) Mo
] B =
5 | 2=
I
IS}
] Effective
i thread length
240 Mounting £z AL Width across flats ONA 15 L’ﬁ
hole — ™ A K J+H
220 to 032 ez S.s E
troke
Width across flats KA H ‘ ZZ+Str;ker
Female rod end
Female thread MM
LR Thread depth A
feac ceph A1 Female Rod End (mm)
T j Boresize | A1 | H MM zz
} 20 8 | 20 | M4x0.7 95
25 8 | 20 | M5x0.8 95
2ZZ + Stroke { 32 12 | 20 M6 x 1 97
Boss-cut (mm) 35 40 13 | 21 | M8x1.25 | 125
" Boresize | 2z = H * When female thread lis used, use a thin
2 | 103 wrench when tightening the piston rod.
- = 1 2 ZZ + Stroke * When female thread is used, use a washer
_ 2 | 107 etc. to prevent the contact part at the rod
32 109 end from being deformed depending on
40 138 the material of the workpiece.
+ Mounting bracket is shipped together with the product. (mm)

Boresize | A |AL| B |[B1|B2|C2| D E F |FL|FD|FT|FX|FY|FZ| G | H |H1|H2| | | K [KA MM NA NN P|S|Z|ZZ
20 18 {155/ 3413|2630 | 8 | 20505 |13 [105] 7 | 4 |60|— (75| 8 |41| 5| 8 |28| 5 | 6 | M8x1.25|24| M20x 1.5 |1/8| 62|37 [116
25 22[19.5/40(17 | 32|37 | 10| 2600 | 13]105] 7 | 4 |60 | — 75| 8 |45| 6 | 8 [335(5.5| 8 [M10x1.25{30 | M26x 1.5 |1/8| 62 | 41 |120 D'D
32 2219540 (17 |32 |37 |12 | 2600 |13|10.5| 7 | 4 (60| — |75| 8 |45| 6 | 8 [37.5/5.5| 10 |[M10x 1.25|34.5| M26 x 1.5 | 1/8| 64 | 41 | 122
40 2412152 |22 |41 (47.3] 14 | 3284 |16(135| 7 | 5 (66|36 |82|11|50| 8 |10 (465 7 |12 | M14x 1.5 |425| M32x 2 |1/4| 88|45 |154 'XD




CM2Y series

Head FIange (G)
CM2YG —[stroke][ |z

Effective thread length 2 x FL

Hz  Width across flats B2 2xoFD 4xoFD
i G 2xP S =5 i
Width across flats B1 -~ H12x NN R)::, ] ru 1< Mounting hole  Mounting hole,
T T
=t | 7 T %% | 7\ €7
'é %I b s a %{ o by
’ . % EM
MM AL 1115 \Width across flats ONA FX
Width across flats KA A HK F S Stok -
+ Stroke
Z + Stroke 020 to 032
ZZ + Stroke
Female rod end
Female thread MM
Thread depth A1
35
ZZ + Stroke
* Mounting bracket is shipped together with the product. (mm)
Bore size A | AL B B1 B2 | C2 D E F FL | FD | FT | FX | FY | FZ G H H1 H2 1
20 18 | 155 | 34 | 13 | 26 | 30 8 | 20003 | 183 |105] 7 4 60 | — | 75 8 41 5 8 28
25 22 |195| 40 | 17 | 382 | 37 | 10 | 265033 | 13 | 105 | 7 4 60 | — | 75 8 45 6 8 |335
32 22 |195| 40 | 17 | 32 | 37 | 12 | 26033 | 13 |105| 7 4 60 | — | 75 8 45 6 37.5
40 24 | 21 52 | 22 | 41 |473| 14 | 3244 | 16 | 185 | 7 5 66 | 36 | 82 | 11 50 8 10 | 465
(mm) Female Rod End (mm)
Bore size K KA MM NA NN P S z zz Bore size A1 H MM zz
20 5 6 | M8x125 | 24 |M20x15]| 1/8 | 62 | 107 | 116 20 8 | 20 M4 x0.7 95
25 5.5 8 |Mi10x125| 30 |M26x15]| 1/8 | 62 | 111 | 120 25 8 | 20 M5 x 0.8 95
32 5.5 10 |M10x1.25| 345 |[M26x1.5| 1/8 64 | 113 | 122 32 12 20 M6 x 1 97
40 7 12 | M14x15 | 425 | M32x2 | 1/4 | 88 | 143 | 154 40 18 | 21 | M8x1.25 | 125

# When female thread is used, use a thin wrench
when tightening the piston rod.

+ When female thread is used, use a washer efc. to
prevent the contact part at the rod end from being
deformed depending on the material of the
workpiece.

160



Smooth Cylinder CM2Y Series

Single Clevis (C)
cm2yc —[stroke][ |z

Effective thread length FL

Width across flats Bt~ H1 NN G 2xP G
(Rc, NPT, G) >
==l | I i [T REA
® <
WSy T i *
AN REB
MM/ /AL s |lexg3
Width across flats KA ATK | F[T NA REC
H S + Stroke | |
'3 + Stroke
ZZ'3* + Stroke .
Low
Female rod end Female Rod End (mm) Speed
Female thread MM Bore size A1 H MM (Z2Z) MQ
Thread depth A} | é 20 8 20 mél x0.7 121
25 8 20 5x 0.8 121
& 32 12 20 M6 x 1 123 RHC
40 13 21 M8x 1.25 | 159
3.5 * When female thread is used, use a thin wrench when RZQ

H tightening the piston rod.

+ When female thread is used, use a washer etc. to prevent
the contact part at the rod end from being deformed
depending on the material of the workpiece.

ZZ'§* + Stroke

mm)
Boresize | A |[AL|B1| CI |[CD|CX| D E FIFL|G|H|H1| | | K|KA|L MM NA NN P |RR| S | U | (2 /(Z2)
20 18 155/ 13|24 | 9 (10| 8 | 2000, | 13105 8 |41 | 5 |28 | 5 | 6 [30| MBx1.25 |24 | M20x 1.5 [1/8| 9 | 62 | 14 | 133|142
25 221195/ 17 | 30| 9 | 10 | 10 | 26.80s | 13 [10.5| 8 |45 | 6 [33.5/55| 8 |30 | M10x1.25 |30 | M26x 1.5 |1/8| 9 |62 | 14 |137 | 146
32 221195/ 17 | 30| 9 | 10 | 12 | 26805 | 13 [10.5| 8 | 45| 6 [37.5/5.5| 10 | 30 | M10x 1.25 [34.5| M26 x 1.5 |1/8| 9 | 64 | 14 | 139 148
40 24 21|22 |38|10| 15|14 | 3280 | 16 (13511 |50 | 8 (465 7 |12 |39 | M14x15 (425 M32x2 |1/4| 11|88 |18 (177|188
Double Clevis (D)
—————————
~[stroke][ |z
Effective thread length FL oCD hole H103**
Width across flats B H1 NN G 2xP G Axisd9§oR CL
i"] —\ (Rc, NPT, G) >
== | T LR ¥ ‘\ ﬁ
2 B “ L ol {1 nl <
i 2 : €§ 3 e 2
MM,/ AL s Y cx:gt
Width across flats KA A K _F | cz | 1
H S + Stroke . L NA
'5” + Stroke ' RR
ZZ';” + Stroke |
Female rod end Female Rod End (mm)
Female thread MM Bore size A1 H MM (Z2)
Thread depth At 20 8 20 M4 x 0.7 121
25 8 20 M5 x 0.8 121
32 12 20 M6 x 1 123
40 13 21 M8x1.25 | 159
3.5 * When female thread is used, use a thin wrench when
H tightening the piston rod.
o o * When female thread is used, use a washer etc. to prevent
. ZZ'%+ Stroke. the contact part at the rod end from being deformed

depending on the material of the workpiece.
(mm)

Boresize | A |AL|B1|CD|CI |CL|CX|CZ| D E F |FL H|H1| | |[K|KA| L MM NA NN P |RR| S | U |(2)|(Z2)

25 22195/17| 9 [30|25| 10| 19|10 | 265e |13[10.5 45 335/5.5| 8 |30 |M10x 1.25|30 | M26 x 1.5 |1/8| 9 |62 | 14 |137(146
32 22(195/17| 9 |30|25|10|19|12| 26356 |13[10.5 45 375/5.5|10 |30 |M10 x 1.25|34.5| M26 x 1.5 |1/8]| 9 |64 | 14 139|148

G

20 18 [155/ 13| 9 [24|25|10|19| 8 | 2040 |13]105) 8 |41 28| 5|6 |30 M8x1.25|24| M20x 1.5 [1/8] 9 |62 |14 |133]142
8
8

©|lo|lo|o

40 2421|2210 |38 [41.2|15|30| 14| 3250 |16(135/ 11|50 46.5| 7 [12|39| M14x 1.5 |[425| M32x2 |1/4(11|88|18 177|188
= A clevis pin and retaining rings (split pins for @40) are shipped together.

161



CM2Y series

Rod Trunnion (U)

CM2YU

- [stroke][_]

)

~0.025

0TDes 0,061

S

Y4

7

Width across flats B2 G NN
Width across G 2xP 2x
flats B1 H1 — (Rc, NPT, G) /
u:‘\i:“ i |
o
=T ras
| b d
id

L__ Effective thread length

T. AL Width across flats CINA
1z A__K |TT 15 2xFL
Width flats KA ’—Zj.
Thacioss T H S + Stroke F
ZZ + Stroke
Boss-cut
__1# 1] H
1
4@@ : Zax
-
ZZ + Stroke
Female rod end
Female thread MM
Thread depth A1 | }
3.5
H
ZZ + Stroke
+ Mounting bracket is shipped together with the product. (mm)
Bore size A | AL | B1 | B2 D E F FL | G H H1 I K | KA MM NA NN P

20 18 | 155 | 13 26 8 20005 183 | 105 8 41 5 28 5 6 M8 x 1.25 24 M20 x 1.5 1/8

25 22 |195| 17 | 82 | 10 | 2680 | 13 |105| 8 45 6 |335]| 55 8 | M10x1.25 | 30 | M26x1.5 | 1/8

32 22 |195| 17 | 32 | 12 | 268 | 13 |105| 8 45 6 |375| 55| 10 | M10x1.25 | 345| M26x15 | 1/8

40 24 | 21 22 | 4 14 | 3200 | 16 | 135 11 50 8 |465 ]| 7 12 | M14x15 |425| M32x2 1/4

(mm) Boss-cut (mm) Female Rod End (mm)
Bore size S TD | TT | TX | TY | TZ z zz Bore size zz Bore size A1 H MM zz

20 62 8 10 | 82 | 382 | 52 | 36 | 116 20 103 20 8 | 20 M4 x 0.7 95

25 62 9 10 | 40 | 40 | 60 | 40 | 120 25 107 25 8 | 20 M5 x 0.8 95

32 64 9 10 | 40 | 40 | 60 | 40 | 122 32 109 32 12 | 20 M6 x 1 97

40 88 | 10 | 11 53 | 53 | 77 | 445 | 154 40 138 40 183 | 21 | M8x1.25 | 125

162

# When female thread is used, use a thin wrench
when tightening the piston rod.

# When female thread is used, use a washer etc.
to prevent the contact part at the rod end from
being deformed depending on the material of the
workpiece.



Head Trunnion (T)

CM2YT

Width across flats B1

- [strokel[ ]z

Effective thread length 2 x FL

Smooth Cylinder CM2Y Series

G Width across flats B2

¥

2xNN G 2xP
HiZ N (Rc, NPT, G)
P i

i

S

.02
oTDeo 5087

# When female thread is used, use a thin wrench when

tightening the piston rod.

# When female thread is used, use a washer etc. to
prevent the contact part at the rod end from being
deformed depending on the material of the workpiece.

MM AL 15 \ width across flats INA
Width across flats KA/ A F TZ
H S + Stroke T f—=
|- !
Z + Stroke
ZZ + Stroke
Female rod end
Female thread MM
Thread depth A1
3.5
ZZ + Stroke
= Mounting bracket is shipped together with the product. (mm)

Bore size A AL | B1 B2 D E F FL G H H1 I K KA MM NA NN P

20 18 | 155| 13 26 8 20303 13 |105| 8 M 5 28 5 6 M8 x 1.25 24 M20 x 1.5 1/8

25 22 | 195| 17 32 10 26303 13 |105| 8 45 6 |335| 55 8 M10x 1.25 | 30 M26 x 1.5 1/8

32 22 |195]| 17 32 12 26.00m 13 |105| 8 45 6 |375| 55 10 | M10x1.25 | 345 | M26x1.5 1/8

40 24 21 22 41 14 32303 16 | 185 | 11 50 8 |465| 7 12 M14x15 | 425 M32 x 2 1/4

(mm) Female Rod End (mm)

Bore size S TD | TT | TX | TY | TZ Y4 zz Bore size A1 H MM zz

20 62 8 10 32 32 52 | 108 | 118 20 8 20 M4 x 0.7 97

25 62 9 10 40 40 60 | 112 | 122 25 8 20 M5 x 0.8 97

32 64 9 10 40 40 60 | 114 | 124 32 12 20 M6 x 1 99

40 88 10 11 53 53 77 | 1435 | 154 40 13 21 M8x1.25 | 125

(0| R
m|im|m
Q|| =

)
@ =

)=
@®
=%

T |[=|[=
N || X
olla|e



CM2Y series

Integrated Clevis (E)

CM2YE ~[stroke][ |z
LZ + Stroke .
L ZZ + Stroke
Z + Stroke | LP
‘F S + Stroke lI]ALRB{
)—AAL—T 2xP_ [ 0CDH10'5™
MR, 1 (Rc, NPT, G) 7
| H
| : ﬁ\w A
d2 & - — P =
Va2 | !
MM ;

Width across flats B1 NN /|
Width across flats KA

Effective thread length FL

Female rod end

35
Female thread MM
Thread depth A1

ZZ + Stroke

Integrated clevis (90°) (V)

Port

Refer to page 166 for details
of clevis pivot bracket.

* The outer dimensions are the same as those for the integrated clevis (E).

(mm)
Bore size A |AL | B1 |CD|CI |CX| D E F |[FL| G H | Hi I K |[KA| L MM NA NN
20 18 |1565]| 13 | 8 | 20 | 12 8 | 2080 | 13 |10.5] 8 | 41 5 | 28 5 6 12 M8 x 1.25 24 M20 x 1.5
25 22 |195| 17 | 8 | 22 | 12 | 10 | 2680 | 13 |105| 8 | 45 | 6 [335|55| 8 12 | M10x1.25 | 30 M26 x 1.5
32 22 [19.5| 17 | 10 | 27 | 20 | 12 | 268es | 13 |10.5]| 8 45 6 |375|55| 10 | 15 M10x1.25 [345| M26x15
40 24 | 21 | 22 | 10 | 33 | 20 | 14 | 328 | 16 |13.5| 11 | 50 | 8 |465| 7 12 | 15 M14x1.5 |425 M32 x 2
(mm) Female Rod End (mm)
Bore size P |[RR| S u zZ | zz Bore size A1 H MM zz
20 1/8 9 62 |11.5| 115|124 20 8 20 M4 x 0.7 103
25 1/8 | 9 62 [11.5| 119 | 128 25 8 20 M5 x 0.8 103
32 1/8 | 12 | 64 |14.5| 124 | 136 32 12 20 M6 x 1 111
40 1/4 | 12 | 88 (14.5| 153 | 165 40 13 21 M8x1.25 | 136

+ When female thread is used, use a thin wrench
when tightening the piston rod.

# When female thread is used, use a washer etc. to
prevent the contact part at the rod end from being

deformed depending on the material of the

workpiece.

164



CM2Y series

Dimensions of Accessories

With Single Knuckle Joint

Single Knuckle Joint
1-020B, 032B Material: Carbon steel

1-040B Material: Free-cutting steel

Y(MAX
| 5
oNDH10 MM ¥ oND+10
i MM N,
0 i e
\ - At // MM Lﬁ‘[’ iy ‘f\l
NX A / 9 1] =/
Ui H / A | U E
Ro| Z (MIN) LB
A
(mm) mm)
Boresize| A | H MM NDuio | NXi |Ui |[Re| Y | Z Partno. | At | A [ A+ | E1 [LB] MM | NDuio | NX |Ri| Ui
20 18 | 41 |M8x1.25| 99°°| 933 |14 |10 | 11 | 66 1-020B 20 461620 |36 |M8x125] 9¢™°| 94} 10|14
25, 32 22 | 45 |[M10x1.25 97°° 9% | 14 | 10 | 14 | 69 1-032B | 25,32 |48 |18 |20 |38 M10x1.25 9%™*| 93; |10 | 14
40 24 | 50 |M14x1.5| 1273°° | 1653 | 20 | 14 | 13 | 92 1-040B 40 69 | 22 | 24 | 55 |M14x1.5| 120°° | 165} |15.5) 20
With Double Knuckle Joint
oND hole H10 MM Y(MAX)
Axis d9 \ i
— L |
=H /
S 4
A
U2 H
Rz Z (MIN)
(mm)
Boresize| A | H L MM ND | NXa | R2 | U2 | Y z
20 18 | 41 | 25 [M8x125| 9 821 10 | 14 | 11 | 66
25,32 | 22 | 45 | 25 |M10x1.25 9 53| 10 | 14 | 14 | 69
40 24 | 50 |49.7|M14x15) 12 |163%7| 13| 25 | 13 | 92
Double Knuckle Joint
Y-020B, 032B Material: Carbon steel Y-040B Material: Cast iron
oND hole H10
MM oND hole H10 Axis d9
Axis d9 MM £=
i N o <IN <
| = zj] "E,]: I 2|24
LA LUd] A1 Ui
L Ll
A (mm)
Partno. | fepleabe | A | A | Ei | LA | LB MM ND NX | NZ | Ri | Ui | powcecel [Soepin "9size
Y-020B 20 46 | 16 | 20 | 25 | 36 | M8x 1.25 9 03| 18 5 14 CDP-1 Type C 9 for axis
Y-032B 25, 32 48 | 18 | 20 | 25 | 38 | M10x1.25 9 165 | 18 14 CDP-1 Type C 9 for axis
Y-040B 40 68 | 22 | 24 |49.7| 55 | M14x 1.5 12 16163 | 38 | 13 | 25 | CDP-3 | 03x18L
* A knuckle pin and retaining rings (split pins for 40) are included.
Double Clevis Pinmateria: Carbon steel (mm) Double Knuckle Pinmaterial: carbon steel (mm)
Bore size/020, 925, 632 Bore size/040 Bore size/020, 025, 032 Bore size/o40
CDP-1 CDP-2 CDP-1 CDP-3
2x03 2x03
Through hole Through hole 88
T 1% —_JII'e -+ T 1%
A, = i
4 32 || ® 17g][[_192 75 4 a7 || %
4.2 5 A 25 N q1s 49.7

Retaining ring: Type C9 for axis Split pin: 63 x 18 L

* Retaining rings (split pins for 240) are included.

Retaining ring: Type C9 for axis Split pin: 63 x 18 L

* Retaining rings (split pins for 240) are included.

X || =
m|m
W || =

)
m
En

)
@ =

)=
@®
=%

T |[=|[=
N || X
olla|e



CM2Y series

Rod End Nut

gg
iE
_Hl

Material: Carbon steel

(mm)
Partno. | Apleable | g | ¢ | D d H
NT-02 20 |13 [15.0{125|M8x1.25| 5
NT-03 | 25,32 | 17 [19.6/165|M10x1.25| 6
NT-04 40 | 22[254[21.0|M14x15] 8

Clevis Pivot Bracket (For CM2YE(V))

RLR oLC hole:5s2

Material: Carbon steel

(mm)
Mounting Nut Applicable Included
g Part no. a ey L [LC|LD|LE|LF|LG|LH|LR|LT|LX|LY|LV pin part no.
] Material: Carbon steel CM-E020B| 20,25 |245| 8 |6.8|22 | 15|30 | 30 | 10 |3.2| 12 | 59 |18.4] CD-S02
= CM-E032B| 32,40 34 |10| 9 |25 (15|40 |40 |13 | 4 |20 | 75 | 28 | CD-S03
Note 1) A clevis pivot bracket pin and retaining rings are included.
[=) Note 2) It cannot be used for the single clevis (CM2YC) and the double clevis (CM2YD).
°
H mm  Clevis Pivot Bracket Pin (For CM2YE(V))
Partno. | tpleatle | g | ¢ | p d H Material: Carbon steel
SN-020B 20 26 | 30 |25.5|M20x1.5| 8 3
SN-032B| 25,32 | 32 | 37 |31.5|M26x15] 8 B|Q
SN-040B 40 41 |47.3|40.5|M32x2.0| 10 m L2 m
t L N t
. (mm)
JTrunnion Nut Partno. | APPicable | p g d [ L | L | m [ Udec
H Material: Carbon steel poralsize CHEIINE) Gl
30| B CD-S02 20, 25 567 7.6 | 245 | 195 1.6 0.9 | TypeC8foraxis
7 CD-S03 | 32,40 o 96 | 84 29 | 1.35 | 1.15 |TypeC f0foraxis

ol -
5| o

—

b

(mm)

Part no.

Applicable

bore size

D d H

TN-020B

20

28

255|M20x1.5] 10

TN-032B

25,32

34

31.5|M26x1.5] 10

TN-040B

40

45

405/ M32x2| 10

Note) Retaining rings are included.

Mounting Brackets, Rod End Brackets, and Nut Material: Stainless Steel

Part No. (Dimensions: Same as standard type)

Bc()rnb:rzl)ze [Feati AT knu?:ll?lglfoint knu%l?l:bjloeint* Moxtlng erfziogut
20 CM-L020BSUS | CM-F020BSUS | 1-020BSUS | Y-020BSUS | SN-020BSUS | NT-02SUS
25,32 |CM-L032BSUS | CM-F032BSUS | 1-032BSUS | Y-032BSUS | SN-032BSUS | NT-03SUS
40 CM-L040BSUS | CM-F040BSUS | 1-040BSUS | Y-040BSUS | SN-040BSUS| NT-04SUS

# A knuckle pin and retaining rings are shipped together.

Refer to the XC27 for details on stainless

steel double clevis pins and double knuckle pins. The accessories need to be ordered separately
from the cylinder.

® 166



With Single Clevis

Dimensions of Accessories CM2Y Series

Z + Stroke CX
* oCD -
A A
o
G ANy
@
068 17205
75 40 6.8 x3.4
R 57
Rotation Angle (mm)
Bore size A B° A° 4 B° + 90° Mounting Part no. Applicable bore size | CX Z + Stroke CD | LX | LZ
(mm) 20 133
20 25 85 200 CcmMm2yYC CM-B032 25 10 137 9 | 44 60
25,32 21 81 192 (Single clevis) 32 139
40 26 86 202 CM-B040 40 15 177 10 | 49 65

With Rod Trunnion

Note) A pivot bracket pin and retaining rings are not included with the pivot bracket.

With Head Trunnion

Z + Stroke Z + Stroke X
oCD oCD
}Eﬁ WE
N . . q
6.8x3.4 26.8 17|20.5
7 75 40
57
6.8x3.4 (mm)
Rod trunnion Head trunnion
Mounti Part no. Applicable b i X CcD LX Lz
ounting art no pplicable bore size 2+ Stoke 2+ Stoke
CM-B020 20 32 36 108 8 66 82
CM2YU/CM2YT 25 112
M-B032 4 A 74
(Rod/Head trunnion) ¢ 03 32 0 0 114 i %0
CM-B040 40 53 44.5 143.5 10 87 103
Note) A pivot bracket pin and retaining rings are not included with the pivot bracket.
Pivot Bracket Pivot Bracket Pin (For CM2YC)
——
* Pivot brackets consists of a set of two brackets.
75 40 40 7.5
3.4 34 |
) ©
Y &
2 @
24 ‘(r:n:: l
I
3
&Y .
o < M T ° gI
g 3 Q
s S I Kk
oCD%E & &,  oCD®E i L2 m
t] L1 Nt
T T
28 ¥ ¥ 28
57 57 (mm)
(mm) Applicable Included
Ferane ) bore size Part no. Das d Li L2 m t retre;hrgng
CM-B020 Note 2) 8 Note 1) A pivot bracket pin and retaining i 201032 | CDP-1 352 | 86 | 25 [19.2]1.75]1.15 | TpeCoforans
x ote pivot bracket pin and retaining rings -
CM-B032 9 are not included with the pivot bracket. 40 CD-S03 | 10352 | 96 | 34 |29 [1.35]1.15 |TpeCioforans
CM-B040 10 Note 2) Only for the trunnion Note) Retaining rings are included with the pivot bracket pin.

167

X ||}
m|m
@ || =

)
m
En

o
@® =

)=
®
o

Z|[=|[=
N || X
olla|e



CMZ2Y series

Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

Solid state auto switch

D-M9C]
D-M9CIW
D-M9CIA
<Hs
@éﬂ mml e =]
allz| 8]
(24)
( ): Dimension of the D-M9JA
A and B are the dimensions from the end of the head
cover/rod cover to the end of the auto switch.
D-M9oCIV
D-M9CIWV
D-M9CIAV
=~Hs
9: H E@ %ﬂ
Alln] 8]
(22)

( ): Dimension of the D-M9CIAV
A and B are the dimensions from the end of the head
cover/rod cover to the end of the auto switch.

D-H70/H70OW/H7NF/H7BA/H7C
=Hs

© vz I B
@%ﬁ@@@ww
A

B

e
&

D-G5NT

3 Al

D-G39A/K39A

o

Q5 =ik £t

i3
A B

168

Reed auto switch

D-A90]
les| B
(22)
( ): Dimension of the D-A96
A and B are the dimensions from the end of the head
cover/rod cover to the end of the auto switch.
D-A9C1V

-

A and B are the dimensions from the end of the head
cover/rod cover to the end of the auto switch.

l22] B

D-C7/C8/C73C/C80C

iﬂ§
@ =iIE==H
[  ® A
A

D-B5/B6/B59W

jﬂs.
@ ﬁq@@ B \%
3 A B |
D-A33A/A34A
~Hs
ot =sfe 8
O =H 2u
A Bl




Auto Switch Mounting CM2 Y Series

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

Auto Switch Proper Mounting Position (mm)
A_uto
Suteh e D-Cc70) D-ASTA | D-H7O)
D-B50] D-C80 D-G39A D-H7C
B:mgng((vv)) D) D-B64 p-c7ac | DBSW D-k39A | DH7ow | D-GSNT
D-C80C D-A44A D-H7NF
Bore size A B A B A B A B A B A B A B A B
20 11 9.5 7 5.5 1.5 0 7.5 6 4 25 1 0 6.5 5 3 1.5
25 10 10 6 6 0.5 0.5 6.5 6.5 3.5 3.5 0 0 5.5 5.5 2 2
32 115 | 105 75 6.5 2 1 8 7 5 4 1.5 05 7 6 35 25
40 17.5 15.5 13.5 11.5 8 6 14 12 11 9 7.5 5.5 13 1 9.5 7.5
Note) Adjust the auto switch after confirming the operating condition in the actual setting.
Auto Switch Mounting Height (mm)
Auto D-M9L]
switch | D-MOLIV B:gg? B-MabA D-A3CIA
model | D-M9LCIWV D-A9L] D-C73C
D-B59W | D-C70] D-G39A | D-A44A
D-M9JAV D-C80 D-C80C
D-ASCV D-G5NT | p_H7L D-K39A
- D-H7OwW
D-H7C D-H7NF
Bore size Hs Hs Hs Hs Hs Hs
20 23.5 25.5 22.5 25 60 69.5
25 26 28 25 27.5 62.5 72
32 29.5 315 28.5 31 66 75.5
40 33.5 35.5 32,5 35 70 79.5

)
m
=

)
m
(-]

)
m
@

,_
o
=

)
@
®
o

=)
N
o



CM2Y series

Minimum Stroke for Auto Switch Mounting

(mm)
Number of auto switches
Auto switch model With 1 pc With 2 pcs. With n pcs. (n: Number of auto switches)
pe. Different surfaces Same surface Different surfaces Same surface
20 +35(=2) 55+ 35 (n-2)
- Note 1) Note 1)
D-M9CI 5 15 Note 40 Note (=2, 4, 6 LN =23 4,5
20+35(=2 55+ 35 (n—2)
- Note 1) Note 1)
D-MOCIW 10 15 Nete aoree (n=2, 4, 6-)Noted) (n=2,34,5)
254+35(0=2) 60 + 35 (n —2)
-| Note 1)
D-M9CIA 10 25 40 Note (02 4 6 Poted (=2.3.4,5-)
15 +35(0=2) 50 +35 (n—2)
D-A90 5 15 30 (02 4 6 Prote) (=2.3,4 5.
20 +35(N=2) 35+ 35 (n—2)
D-M9CIV 5 20 35 (=2, 4, 6.)Note 3) (n=2,3,4,5-)
15+ 35N =2) 25+35(n-2)
D-A9CIV 5 15 25 (=2 4, 6 LN n=234,5-)
D-MOIWV 10 20 35 20 +35(0>2) 35+35(n-2)
D-M9CIAV (n=2,4,6-)Noted) (n=2,8,4,5)
D-C701 15+450-2) 50 + 45 (n —2)
D-C80 10 1 50 (n =2, 4, 6...) Note 3) (n=2,3,4,5-)
D-H7L] 15+ 45(0-2) 60 +45 (n—2)
D-H7OIwW 10 15 60 2
D-H7NF (n=2, 4, 6.-)Note 3) (n=2,3,4,5-)
D-C73C (n-2) _
D-C80C 10 15 65 15 + 50 65+ 50 (n-2)
D-H7C (n=2, 4, 6...) Note 3) (n=2,8,4,5)
D-B501/B64 10 15 75 15 + 500 =2) 75+ 55 (n—2)
D-G5NT (n=2, 4, 6...) Note 3) (n=2,3,4,5.)
20+50(N=2 75+ 55 (n—2)
D-B59W 15 20 75 (n =2, 4, 6. Note3) (n=2,3,4,5.)
D-A3CJA/G39A 10 a5 100 35+30(n-2) 100 + 100 (n—2)
D-K39A/A44A n=2,3,4,5-) (n=2,3,4,5-)

Note 3) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
Note 1) Auto switch mounting

Auto switch model

With 2 auto switches

Different surfaces

Same surface

A
35
|

15
e

-
=

The proper auto switch mounting position is 3.5 mm inward
from the switch holder edge.

The auto switch is mounted by slightly displacing it in a
direction (cylinder tube circumferential exterior) so that the auto
switch and lead wire do not interfere with each other.

Dgom Note 2

) Note 2)
D-MOCOIW Less than 20 stroke Less than 55 stroke
D-M9CJA Less than 25 stroke Note 2) Less than 60 stroke Note 2)
D-A90] — Less than 50 stroke Note 2)

Note 2) Minimum stroke for auto switch mounting in types other than those in Note 1.

Operating Range

(mm) (mm)
y Bore size y Bore size

Auto switch model 20 | 25 | 32 | 40 Auto switch model 20 [ 25 | 32 | 40
D-M9CI(V) D-B59W 12 |12 [13 | 13
D-M9CIW(V) 35| 3 | 35| 3 D-H7O/H7OW 4l 4 45| 5
D-M9TIA(V) D-G5NT/H7NF ’
D-A9C1(V) 6 6 6 6 D-H7C 71859 10
D-C7C1/C80 7 8 8 8 D-G39A/K39A 8] 9 9 9
D-C73C/C80C
D-B50C1/B64
D-A3CIA/A44A 818"

* Values which include hysteresis are for guideline purposes only, they are not a guarantee (assuming approximately +30% dispersion) and may change substantially depending on the ambient environment.
Note) The D-A90] and D-A91V cannot be mounted on @50.

170



Auto Switch Mounting CM2 Y Series

Auto Switch Mounting Brackets/Part No.

" Bore size (mm)
Auto switch model 220 225 232 240
g:mgg‘v‘vl()v) BM5-020 BM5-025 BM5-032 BM5-040
D-A9CI(V) (Asetofa,b,c,d) | (Asetofa,b,c,d) | (Asetofa,b,c,d) | (Asetofa,b,c,d) REA
BM5-020S BM5-025S8 BM5-032S BM5-040S
D-MoDIA(V) (Asetofb,c,d,e) | (Asetofb,c,d,e) | (Asetofb,c,d e) | (Asetofb,c,d,e) REB
Switch bracket (Resin) Auto switch
a | Transparent (Nylon) Note 1) REC
& [White (PBT) 55 %
P PR m
Switch holder P
(Zino) & Low
Speed
c
D-C701/C80
g:ﬁZECIcsoc BM2-020A BM2-025A BM2-032A BM2-040A
D-H7OW (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw)
D-H7NF
D-H7BA BM2-020AS BM2-025AS BM2-032AS BM2-040AS
(A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw)
B-S:EVIVB64 BA2-020 BA2-025 BA2-032 BA2-040
(A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw)
D-G5NT
D-A30IA/A44A Note 3) BM3-020 BM3-025 BM3-032 BM3-040
D-G39A/K39A (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw)
Note 1) Since the switch bracket (made from nylon) are affected in an environment where alcohol, chloroform,
methylamines, hydrochloric acid or sulfuric acid is splashed over, so it cannot be used. Please contact
SMC regarding other chemicals.
Note 2) Avoid the indicator LED for mounting the switch bracket. As the indicator LED is projected from the
switch unit, indicator LED may be damaged if the switch bracket is fixed on the indicator LED.
Note 3) The D-A3JA/A44A/G39A/K39A cannot be mounted on the CDM2(IP series centralized piping type.
Band Mounting Brackets Set Part No.
Set part no. Contents
BM2-CIOCIA(S) *Auto switch mounting band (c)
+ S: Stainless steel screw | @ Auto switch mounting screw (d)
¥ *Switch bracket (White/PBT) (e)
BJ4-1 *Switch holder (b)
BJ5-1 *Switch bracket (Transparent/Nylon) (a)
*Switch holder (b)
[P e e e e e e e e e e e e e R e R e e e e e e e e e e e e A e e e e e e e ey
I Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable. !
: Refer to pages 941 to 1067 for the detailed specifications. :
1 Type Model Electrical entry Features 1
1 D-H7A1/H7A2/H7B — 1
1 i D-H7NW/H7PW/H7BW Diagnostic indication (2-color indicator) 1
1 Solid state - — 1
D-H7BA . Water resistant (2-color indicator)
1 Grommet (In-line) —— 1
1 D-G5NT With timer 1
I D-B53/C73/C76 — I
Reed - — -
1 D-C80 Without indicator light 1
1 = With pre-wired connector is also available for solid state auto switches. For details, refer to pages 1014 and 1015. 1 D'I:l
1 = Normally closed (NC = b contact) solid state auto switches (D-MSLIE(V)) are also available. For details, refer to page 1592-1. 1
B o e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e o

171 ®



Smooth Cylinder

G1Y

Series

020, 025, 032, 340, 850, 363, 280, 3100

B cGi1Y[B]
Mcgew

How to Order

With auto switch
(Built-in magnet)
Mounting gg ig 22
B Basic 32 | 32mm
Z* |Basic (without trunnion mounting female thread) 20 20 mm
L Axial foot 50 | 50 mm
F Rod flange 63 | 63mm
G Head flange 80 80 mm
uU* Rod trunnion 100 | 100 mm
T Head trunnion
D Clevis Port thread type
+ Not available for @80 or 100. Nil Rc 220 to 100
= Mounting bracket is shipped together with
the product, but not assembled. ™ NPT 020100100
= The cylinder for F, G, L, D mounting types is TE M5 x 0.8 020, 925
Z: Basic (without trunnion mounting female G 232 to 6100
thread).
Cylinder stroke (mm)

+ Refer to “Ordering Example of Cylinder
Assembly” on page 173.

Refer to “Standard Strokes” on
page 173.

25| |-[100]
25| ]-[100

Z_
Z_

.m. Male rod end
“ Female rod end
Pivot bracket
None

| N | Fiotbetstped et

+ Onlyfor D, U, T mounting types
<Pt ke tgpe ogeer ih e rocuc bt ot sl

Rod end bracket

Nil None
Vv Single knuckle joint
w Double knuckle joint

# No bracket is provided for the female
rod end type.

= Rod end bracket is shipped together
with the product, but not assembled.

= A knuckle joint pin is not provided
with the single knuckle joint.

Made to Orderl

Refer to page 173

for details.
Number of auto l
Nil 2 pcs.
S 1 pc.
n “n” pcs.

Auto switch

.m. Without auto switch

* For applicable auto switches,
refer to the table below.

Built-in Magnet Cylinder Model
If a built-in magnet cylinder without an
auto switch is required, there is no need
to enter the symbol for the auto switch.
(Example) CDG1YB32-150Z

Applicable Auto Switches/Refer to pages 941 to 1067 for further information on auto switches.
k= Load voltage Lty SVIHED EEE Lead wire length (m
Tyoe Special Electrical| 5 Wiring voltag Applicable bore size wir gth (m) Pre-wired |  Applicable
P function entry | 8| (Output) DC AC 220 to 963 80,2100 | 0.5 | 1 | 3 | 5 |None|connector load
= Perpendicular In-line In-line (Nil) |(M)[ (L) [(Z) [ (N)
) MINV MON = ® @@ O|—| O
Sruire (NPN) . = = Gs9 e [—|e[o]—[ 0 | ic
M9PV MOP = ® @@ O|—| O |circuit
_ Grommet 3-wire (PNP) — — G5P e — 0O 6}
5 M9BV M9B = ® @@/ O|—| O
= 2-wire 12V = = K59 o |— Oo|l—| O —
5 Connector| — H7C — o — o006 —
] " MINWV MONW = ®|®/®/O|—| O
3 W il R SN = = G59W ®[O[—[ O | IC |Relay,
@ | Diagnostic indication | svire PNP) M9PWV [ M9PW ®/® O O |cireuit| PLC
g (2-color indicator) — = —|@®|O0|—| O
. M9BWV M9BW ® @ O|—| O
T X —
3 Grommet 2-wire 2v — = —|@®|O0|—| O
2] 3-wire (NPN) 5V 12V MONAV*! | MINA*! Ol@|O|—]| O IC
Water resistant 3-wire (PNP) M9OPAV*' | M9PA*! O|l@|O|—| O [circuit
(2-color indicator) o M9BAV*' | M9BA*! — O|l@|O o _
2-wire 2y = = G5BA™ | @ [—[@|0|—| O
4-wire (NPN) 5V,12V — H7NF G59F ® —(® O|—| O |lCcircut
= Ve uite (NN equivalent) | — 5V — A96V A - o —| 0 — — [ICcircuit| —
£ 1 100V_| A93V*2 Al = D e — —
H Grommet [No| 100Vorless| A90V A90 — ® | [®@[—[—| — [Coiut
o — [Ves| 100V, 200V — B54 o —e[e[—
;:3 No|  2-wire 2av | 12V 200V orless — B64 o |— 0| —|— — R:Eg'
s Connector eS| — — C73C — o ee[e[ —
3 No 24V orless — csoC — ®|—|®/®|/®| — [Ccicut
| Digusic ndeson <ol indea] | Grommet [Yes| — — — B59W o —|(0|—|— —

+1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee the water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.

#2 1 m type lead wire is only applicable to D-A93.
= Lead wire length symbols: 0.5 m
1

- N (Example)

) MONW

) MONWM
) MONWL
) MONWZ
) H7CN

+ Since there are other applicable auto switches than listed, refer to page 182 for details.
+ For details about auto switches with pre-wired connector, refer to pages 1014 and 1015.
+ The D-A90I0/M90IOO auto switches are shipped together, (but not assembled). (However, only the auto switch mounting brackets are assembled before shipment.)

® 172

+ Solid state auto switches marked with “O” are produced upon receipt of order.



Symbol

Rubber bumper

-

Smooth Cylinder CG1 Y Series

Specifications

Bore size (mm)

20 [ 25 [ 32 | 40 | 50 | 63 | 80 [ 100

Piston speed

5 to 500 mm/s

Stroke length tolerance

Up to 1000*3* mm, Up to 1500*3° mm

Action Double acting, Single rod
Type Non-lube
Fluid Air
Proof pressure 1.05 MPa REA
operating pressure 0.7 MPa REB
. . Without auto switch: —10°C to 70°C .
A fl No fi
mbient and fluid temperature With auto switch: —10°C to 60°C (No freezing) REc

= Cylinder sizes @80 and @100 do not have rod trunnion and head trunnion types.
Foot, flange and clevis types of cylinder sizes from 20 to 863 do not have trunnion mounting

female thread.

Operate the cylinder within the allowable kinetic energy.

de 10 .. .
Wetler | Made to Order Minimum Operating Pressure
Click here for details - Unit: MPa
Symbol Specifications \ Bore size (mm) [ 20 [ 25 [ 32 [ 40 | 50 [ 63 | 80 [ 100 |
-XA[] | Change of rod end shape ‘ Minimum operating pressure ‘ 0.02 0.01
-XC6 | Made of stainless steel
Standard Strokes
—————————
Replacement Parts/Seal Kit Bore size (mm) Standard stroke (mm) Note 1) | Max. stroke (mm)
20 25, 50, 75, 100, 125, 150, 200 Up to 1500
Bore size N 25, 50, 75, 100, 125,
(mm) Kit no. Contents 25, 32, 40, 50, 63, 80, 100 150, 200, 250, 300 Up to 1500
20 CG1Y20Z-PS | Piston seal 1pe. Note 1) Intermediate strokes not listed above are also available.
25 CG1Y25Z-PS | Rod seal 1pc. Note 2) Applicable strokes should be confirmed according to the usage. For details, refer to “Air
32 CG1Y32Z-PS | Tube gasket 1 pe. Cylilnlders rl]\/l::)del Selectli‘on” on fronthmatter pages ofkthe I?e;t Pneumat:cs N?lfz'lfl:]ln
20 CG1Y40Z-PS | Grease pack (10 g) 1 pe. addition, the products that exceed the standard stroke might not be able to fulfill the

When maintenance requires only grease, use the

following part numbers to order.
Grease pack part number: GR-L-005 (5 g)

GR-L-010 (10 g)
GR-L-150 (150 g)

specifications due to the deflection etc.

Ordering Example of Cylinder Assembly

Cylinder model: CDG1YD20-100Z-NW-M9BW

Auto switch

D: Clevis
N: Yes

Mounting
Pivot bracket

Auto switch D-M9BW: 2 pcs.

Rod end bracket W: Double knuckle joint

Pivot bracket

+ Pivot bracket, double knuckle joint and auto
switch are shipped together with the product,

but not assembled.

Cushion Rubber bumper

Basic, Basic (without trunnion mounting female thread), Low
M . Axial foot, Rod flange, Head flange, Speed

ounting ’ A

Rod trunnion, Head trunnion,

Clevis (used for changing the port location by 90°) MQ
A rate 0.5 L/min (ANR) or less RHC
Allowable Male | 608 | 041 | 0.66 | 1.20 | 2.00 | 3.40 | 590 | 9.90
kinetic Rubber | fod end RZQ
energy bumper | Female
W) rod end 0.11 | 0.18 | 0.29 | 0.52 | 0.91 154 | 271 | 454


http://www.smcworld.com/products/en/custom.do

CG1Y series

Mounting Brackets/Part No. Mounting Procedure
= =
- Mounting procedure for trunnion
Mounting Order Bore size (mm) Contents Follow the procedures below when mounting a
bracket | qty | 20 25 32 40 50 63 80 | 100 pivot bracket on the trunnion.
2 foots,
N | | | | | ol ol X "
Foot (2] CGL020 | CG-L025 | CG-02| CG-0MD | CGLOSD | GG | CG-OB0 | CBLIOD g 10 e 220 to 063 %éxé?gr:ogrﬁjc;\t"(\%vrug
ios. Fembuning
Flange | 1 |CGF020|CaF025| CGFo32 | CG-FO40 | CG-Fo50 | CG-Fos3 | Ca-Foso | ca-Fioo |1 flange. Eyfindor body possible
4 mounting bolts = -
Trunnion pin| 1 | C6-T020 | 0G-T025 | C6-T02 | CG-To40 | CGT0s0 | c6-Togs | — | — |2 mionins, 1 | [ !
P 2 trunnion bolts, 2 flat washers ! . Flat washer
i runnion pin
: | | | | | | | | 1 clevis, 4 mounting bolts, | Put he exterior]
Clevis | 1| CG-0020| CG:Di25| CG-D032 | C&-D040 | CG:DU50| CG-D083 | C&-0080| G600 v A TEPHIE, Pw(bumirkeztse on the exterior)
Pivot bracket | 1| CGAM04 | G252 | C032264 | CGUL24 | CO05024 | CE83244 | CGAAL24 | CG-100244 |1 pivot bracket

Note) Order two foots per cylinder.

Accessory

# For details about the single knuckle joint, double knuckle joint, knuckle pin, clevis pin, and rod
end nut, refer to page 178.
+ Stainless steel mounting brackets and accessories are also available. 220 to 263

Refer to page 178-1 for details. Clevis pin
Retainng /(Put grease)

Weights 4

Mounting procedure for clevis
Follow the procedures below when mounting a
pivot bracket on the clevis.

Gyinderbody Retaining

(mm) ]
Bore size (mm) 20 25 32 40 50 63 80 100
Basic 0.11 | 0.18 | 0.28 | 0.44 | 0.83 | 1.17 | 2.23 | 3.43 | Pivot bracket
: Axial foot 0.22 | 0.31 | 0.44 | 0.66 | 1.31 | 1.89 | 3.19 | 5.18 Ll
‘S;Z'ﬁt Flange 0.19 | 0.28 | 0.42 | 0.64 | 117 | 1.67 | 2.94 | 4.78
Trunnion 0.12 | 0.20 | 0.31 | 0.49 | 0.97 | 1.31 — —
Clevis 0.16 | 0.26 | 0.43 | 0.67 | 1.23 | 1.85 | 2.94 | 4.71 280, ﬂ(;IIO.O "
Pivot bracket 0.08 | 0.09 | 0.17 | 0.25 | 0.44 | 0.80 | 0.98 | 1.75 FWL‘"H‘:;‘ (pitl;z:se’; 5!!3@ ?ne;am
Single knuckle joint 0.05 | 0.09 | 0.09 | 0.10 | 0.22 | 0.22 | 0.39 | 0.57 ijﬂ];ﬂ]f - "
Double knuckle joint (with pin) 0.05 | 0.09 | 0.09 | 0.13 | 0.26 | 0.26 | 0.64 | 1.31
Additional weight per 50 mm of stroke| 0.05 | 0.07 | 0.09 | 0.15 | 0.22 | 0.26 | 0.35 | 0.49
Weight reduction for female rod end |-0.01|-0.02|-0.02|-0.05|-0.10|-0.10|-0.18 | -0.27
Calculation (Example) CG1YL20-100Z (Foot, 620, 100 st)
* Basic weight 0.22 (Foot, 820)
* Additional weight 0.05/50 stroke
® Air cylinder stroke 100 stroke
0.22 + 0.05 x 100/50 = 0.32 kg
| A\Precautions |
| e e el el |
1 Be sure to read this before handling the products. 1
1 Refer to back page 50 for Safety Instructions and pages 3 to 12 for Actuator and Auto Switch Precautions. 1
R |
\ Operating Precautions \ \ Disassembly/Replacement
/A Warning /\ Caution
1. Operate within the specified cylinder speed. 1. Do not replace the bushings.
Otherwise, cylinder and seal damage may occur. The bushings are press-fit. To replace them, they must be replaced
2. When the cylinder is used as mounted with a single together with the cover assembly.
side fixed or free (basic, flange types), a bending 2. To replace a seal, apply grease to the new seal before
moment will be applied to the cylinder due to the installing it.
vibration generated at the stroke end, and the cylinder If the cylinder is put into operation without applying grease to the
may be damaged. In such a case, mount a bracket to seal, it could cause the seal to wear significantly, leading to
reducg the vibration of the cylinder or use the cyI_inder premature air leakage.
farto?n':/l?btgtli:gﬁ?;ggtrﬁ(zugnz.to prevent the cylinder 3. C_ylinders with 050 or larger bore sizes cannot be
disassembled.
ACaution W_hen disassembling cylinders with bore sizes of 820 through 940,
grip the double flat part of either the head cover or the rod cover
1. Tighten clevis bracket mounting bolts with the with a vise and loosen the other side with a wrench or a monkey
following proper tightening torque. wrench etc., and then remove the cover. When retightening,
220: 1.5 N-m, 825 to 32: 2.9 N-m, 940: 4.9 N-m, tighten approximately 2 degrees more than the original position.
©50: 11.8 N-m, 963 to 80: 24.5 N-m, 9100: 42.2 N-m (Cylinders with @50 or larger bore sizes are tightened with a large
tightening torque and cannot be di nbled. If di nbly is

required, please contact SMC.)

® 174



Dimensions: 220 to 2100

Basic: CG1YB

Smooth Cylinder CG1 Y Series

X ||}
m|m
@ || =

)
m
En

o
@® =

)=
®
o

Z|[=|[=
N || X
olla|e

Width across s KA~ F_ GA 2 x P GB Section TA/TB TC
M H \ V(Hc. NPT, G) o 2xTC
Q|| N i V /
u FH e | :
) L:Jﬂ*f é§
) I g
!’ff‘f“’w AL | S 4xTC U
Callkm 18 || TE
H S + Stroke F TG . TF
ZZ + Stroke NA
Section TA/TB (mm)
B‘j(ﬁnﬁ')ze *TC ™ TE | TF | TG
T 20 M5 x 0.8 85 4 0.5 5.5
ém_[ % 25 M6 x 0.75 10'3%® 5 1 6.5
W_{ > 32 M8 x 1.0 12'9% 55 | 1 7.5
40 M10x 1.25 14'3% 6 1.25 8.5
50 M12x1.25 16%9% 75 | 2 10
|H | 63 M14 x 1.5 189 | 115 | 3 14.5
ZZ + Stroke * Cylinder sizes @80 and 100 do not have trunnion mounting
female thread on the width across flats NA.
(mm)
B‘?’nfms')ze S""(krﬁrﬁ;”ge A|AL|B | c|D|E|F | H|H].I J K | KA MM NA
20 18 | 155 | 13 | 14 8 | 12 2 35 5 26 | M4x0.7depth7 | 5 6 | M8x125 | 24
25 22 [ 195 17 [165| 10 | 14 | 2 40 6 31 |[M5x0.8depth7.5| 55| 8 | M10x1.25 | 29
32 22 | 195 | 17 |20 12 | 18 2 40 6 38 |M5x0.8depth8| 55| 10 | M10x1.25 | 355
40 Up 1o 1500 30 |27 19 | 26 16 | 25 2 50 8 47 | M6x1depth12 | 6 14 | M14x15 | 44
50 35 | 32 27 | 32 20 | 30 2 58 | 11 58 |M8x1.25depth 16| 7 18 | M18x1.5 | 55
63 35 | 32 27 | 38 20 | 32 2 58 | 11 72 |M10x15depth 16| 7 18 | M18x1.5 | 69
80 40 | 37 32 | 50 25 | 40 3 71 | 13 89 |M10x 1.5 depth 22 | 10 22 | M22x1.5 | 86
100 40 |37 41 | 60 30 | 50 3 71 | 16 | 110 [M12x1.75depth 22| 10 26 | M26x15 |106
(mm)
i Rc, NPT port G port
o [P = | A | T | = [t oo
20 77 | 11 1 | 114 | 12 12 | 18 |12 12 |M5x0.8
25 77 | 11 11 | 119 | 12 12 | 1/8 |125 | 125 |[M5x0.8
32 79 | 11 1| 121 | 12 12 | 1/8 [105 | 105 1/8
40 87 | 12 12 | 139 | 13 13 | 1/8 |13 10 1/8
Up to 1500
50 102 | 13 13 | 162 | 14 14 | 14 |14 14 1/4
63 102 | 13 13 | 162 | 14 14 | 14 |14 14 1/4
80 122 | — — | 196 | 20 20 | 3/8 |17.5 | 175 3/8
100 122 | — — | 196 | 20 20 | 12 |175 | 175 1/2
Female Rod End (mm)
Ef;r: At | H MM 2z
20 8 | 13 M4 x 0.7 92
25 8 | 14 | M5x08 93
32 [ 12 | 14 M6 x 1 95

40 13 15 M8 x 1.25 104
50 18 16 M10x 1.5 120
63 18 16 M10x 1.5 120
80 21 19 M14x1.5 144
100 25 22 M16x 1.5 147
+ When female thread is used, use a washer etc. to
prevent the contact part at the rod end from being
deformed depending on the material of the workpiece.

175




CG1Y series

Mounting Bracket

Axial foot: CG1YL

Weledh Y
e e 1 ! ==
3
4anD4 LX w, F 2xolC f w
- Lz X y (Knock pin position) y X M
z LS + Stroke
ZZ + Stroke
Axial Foot (mm)
Bore size (mm) B LC LD LH Ls LT LX Lz M w X Y r4 zz
20 34 4 6 20 53 3 32 44 3 10 15 7 47 118
25 38.5 4 6 22 53 3 36 49 3.5 10 15 7 52 123.5
32 45 4 7 25 53 3 44 58 3.5 10 16 8 53 125.5
40 54.5 4 7 30 60 3 54 74l 4 10 16.5 8.5 63.5 144
50 70.5 5 10 40 67 4.5 66 86 5 17.5 22 11 75.5 | 169.5
63 82.5 5 12 45 67 4.5 82 106 5 175 22 13 75.5 | 169.5
80 101 6 11 55 74 4.5 100 125 5 20 28.5 14 95 202.5
100 121 6 14 65 74 6 120 150 7 20 30 16 95 206

# Other dimensions are the same as basic type.

= For female rod end, since the wrench flap (K and KA portions) will be inside of the bracket when the piston rod is retracted at the stroke end, extend
the piston rod to tighten the nut using a tool, and mount a workpiece on the rod end.

= Refer to the basic type for the female rod end.

Rod flange: CG1YF

4xoFD F, FT
*Q;} "“"T“{z} S i
X @&g@ il e —
A L]
FX-015 H
B
Head flange: CG1YG
2 4xoFD
_ kB

i e Bt

. @,\@\

@ x v 5 é i

w 5 /
| A
FT| |.F FX:015
ZZ + Stroke B
Flange (mm)
Bore size (mm) | B E F | Fx | FD | FT | n | Headfange

20 40 | 12 2 28 | 55 6 35 120
25 44 | 14 2 32 | 55 7 40 126
32 53 | 18 2 38 | 66 7 40 128
40 61 25 2 46 | 66 8 50 147
50 76 | 30 2 58 9 9 58 171
63 %2 | 3 2 70 | 1 9 58 171
80 104 | 40 3 82 | 11 11 71 207
100 128 | 50 3 | 100 | 14 | 14 | 71 210

Note) End boss is machined on the flange for oE.
= Other dimensions are the same as basic type.
= Refer to the basic type for the female rod end.

176



Smooth Cylinder CG1 Y Series

Mounting Bracket

Rod trunnion: CG1YU

TR
TS Bracket mounting range
Trunnion (mm) REA
R T Bloor® | Toes ™ TS REB
\ or
‘ 9’1 § e 20 8% 39 28 REC
/ \ — 25 10855 43 33
1\ 32 1235 545 40 m
1— 40 14388 65.5 49
z 50 1635 80 60 ‘ Low
63 18505 98 74 Speed
Bore size 1z Rod side | Head side MQ
(mm)
. z r4
Head trunnion: CG1YT R 2 76 5 o1 ‘RHC
TS | Bracket 25 53 51 106
T
ga | Moot 32 67.7 51 108 RzQ
e 2‘ ol 40 78.7 62 125
ViE FEH. <& M | ‘ [/ 50 98.6 71 147
I&— 7> a8 63 119.2 7 147
NS ; *# Constructed of a trunnion pin, flat washer and hexagon
socket head cap bolt.
| Note) Refer to page 178 for pivot bracket.
i = Other dimensions are the same as basic type.
‘ * Refer to the basic type for the female rod end.
Z + Stroke TZ
Clevis: CG1YD
220 to 263
L _RR 8xd
0CD hole H1(;\ Clevis (mm)
e Boresize\ cp | ex | cz | L | RR | V
(mm)
— o 20 8 | — [ 29 [ 14 ]| 11| —
25 10 — 33 16 13 —
32 12 — 40 20 15 —
40 14 — 49 22 18 —
Bowe RN EE N N
ZZ - Stroke — —
. 80 18 28 56 35 18 26
100 22 32 64 43 22 32
(The above shows the case port location is changed by 90°.)
Bore size Applicable pin
(mm) s & £z part no.
280, 2100 L RR 20 43.4 | 126 | 137 CD-G02
| V) | oCDholeHo 25 48 133 | 146 CD-G25
| Axis d9 32 59.4 | 139 | 154 CD-G03
1] 40 714 | 159 | 177 CD-G04
%{ 50 86 | 185 | 205 | CD-GO5
é 63 [1054 | 190 | 212 | CD-GO6
80 64 | 228 | 246 1Y-G08
100 72 | 236 | 258 1Y-G10
Note) * Refer to page 178 for pivot bracket.
2+ Stroke — = Other dimensions are the same as basic type.
ZZ - Stroke * Refer to the basic type for the female rod end.
* A clevis pin and retaining rings are shipped together for the clevis type.




CG1Y series
Dimensions of Accessories

Single Knuckle Joint Double Knuckle Joint
————————————————
1-G02, GO3 1-G04, G05, G08, G10 Y-G02, GO3 Y-Go04, G05, G08, G10
Material: Carbon steel Material: Cast iron Material: Carbon steel Material: Cast iron
MM @NDHio MM ©NDkio L
N
o ! . N ll o
%) E i 9
‘ u& / =" MM oND hole H1o
I LafLu.] M MM oND hole o Axis d9
L N
- Axis d9 — T
‘ om R o e
Part no. [WENE A | Al | Ly [ MM R | Ul | NDwo | NX = iy
i) A1l Uy |2
20 [34[8.5|016] 25 | M8x1.25 [103]115] 8¢ | 8 e A1 | U1
25,32 | 41 [105[020] 30 [ Mi0x1.25 [128] 14 | 10°8°* | 103 LL1 | I
40 [ 4214 ]022]|30 | Mi4x15 [ 12|14 ] 10¢° | 18 A
50,63 |56 | 18 [028] 40 [ Mi8x15 | 16 [20 | 148 | 2238 A
80 | 712103850 M2x15 [ 21|27 | 18" | 28 (mm)
100 [79 [21 [044] 55 | M26x15 [24 [31 [ 22 32 Part ool | e MM [ Re | us ND| Nx [ Nz| L [Icdedin
no. | (mm partno.
f Y-G02| 20 [34]85[016]25 | M8x1.25 [103]115] 8 | 8:2:[16[21IV-Go2
Knuckle Pin Y¥-G03 | 25,32 41 | 105] 520 30 | W10x125 [128] 14 [ 10| 10:32 | 20 | 256 IV-G03
Y-G04| 40 [42]16]022[30 | Mi4x15] 12|14 |10[18:25]36 [416] IV-Go4
) Y-GO5 (50,63 56 | 20 [ 028 [ 40 | Mi8x15 [ 16 | 20 | 14 [ 22:35 [ 44 [506 | IV-G05
M 8|8 Y-G08| 80 [71]23[038[50 | M22x15] 21|27 |18 28:25]56 |64 | V-G08
m ™ - Y-G10[ 100 [79 24 [o044[55 | M26x15 [24 |31 [22[ 3225 [ 64 [72 [ IV-G10
L AN * A knuckle pin and retaining rings are included.
t Nt ()
Material: Carbon steel mm .
Appicabobore Pivot Bracket (Order separately)
Partno. | Dd9 [ L | d|L|m| ¢t | lncludd
) size (mm} retaining ring
__1Y-Go02 20 885 | 21 [ 7.6 [16.2] 1.5 | 0.9 |Type C8for axis 020 to 063
_I¥Y-GO3 | 25,32 | 10%5%%2 [25.6 | 9.6 [ 20.2 | 1.55 [ 1.15 [ Type Ci0foraxis Material: Carbon steel
__1Y-Go4 40 10837 | 41.6 [ 9.6 [ 36.2 [ 1.55 | 1.15 | Type C10 foraxis TU. 5Td
_IY-GO5 | 50,63 | 143%2 |506 |13.4 | 44.2 | 2.05 [ 1.15 Type Claforaxs TR W’
__1Y-Gos 80 183888 | 64 | 17 | 56.2 | 2.55 | 1.35 | Type C18 for axis
Y-G10 100 | 223% | 72 | 21 | 64.2 | 2.55 | 1.35 | Type C22foras &
* Retaining rings are included. e
b oTE*31°
. . 0 | ELE Knock pin hole
Clevis Pin =
— Ll—!
JIE=p §
[SYi=}
Sl 280, 2100
n L AN m Material: Cast iron
t - L Nt oTR oTd N
Material: Carbon steel (mm)
Applicable bore Included
Part no. pEize mm) Dd9 Ljd|L | m|t retaining ring \
_ CD-G02 20 854 (434 7.6 | 38.6 | 1.5 | 0.9 |Type Cforaxis Y m
CD-G25 25 1088% | 48 [ 9.6 | 42.6 [ 1.55 | 1.15 | Type Cl0foraxis e
CD-G03 32 12:8%3 [ 59.4 [ 115 | 54 | 1.55 | 1.15 | Type Ci2foraxis = EyE e .
_CD-G04 40 147888 | 71.4[ 134 65 [ 2.05 | 1.15 | Type Cl4 foraxs o } - b
CD-G05 50 16365 | 86 | 15.2 | 79.6 | 2.05 | 1.15 | Type Ciffor axis TY 4 T
CD-G06 63 188853 | 1054 | 17 | 97.8 | 2.45 | 1.35 | Type C18 for axis ™w Tz
* Retaining rings are included. (mm)
# A clevis pin and a knuckle pin are common for the bore size 80 and 100. Horcabie bore
Part no. Sze(nm) | TB | Td | TE | TF | TH | TN | TR | TT
CG-020-24A 20 36 | 8 [ 10 [55] 25 [(293)] 13 | 3.2
w _CG-025-24A 25 43 [ 10 [ 10 [ 55| 30 [(331)] 15 [ 3.2
CG-032-24A 32 50 | 12 [ 10 [ 6.6 | 35 [(404)] 17 | 4.5
% a CG-040-24A 40 58 | 14 [ 10 | 6.6 | 40 [(492)| 21 | 4.5
. CG-050-24A 50 70 [ 16 [ 20 [ 9 | 50 [(604)[ 24 | 6
CG-063-24A 63 82 | 18 [ 20 [ 11 | 60 [(746)] 26 | 8
8 ©) CG-080-24A 80 73 [ 18 | — [ 11 | 55 [ 285 ] 36 | 11
: CG-100-24A 100 90 [ 22 [ — [13.5] 65 [ 324 [ 50 [ 12
il B1 — - -
Material: Garbon steel (mm) Partno. WM Tu | TV | TW | TX | TY | T2 [PPIgERIEPIn
Applicable bore CG-020-24A 20 [(181)[(358)[ 42 | 16 | 28 [38.3 8ds5.07
Partno. | ™ size (mm) d B C|D CG-025-24A | 25 [(207)[(398)] 42 | 20 | 28 |42.1] 1005352
_NT-02 20 M8x1.25 | 5 | 13 | (15) [125 CG-032-24A 32 [(236)[(494)] 48 | 22 | 28 |53.8| 12deo%y
-03 25, 32 M10x1.25 | 6 | 17 | (19.6) | 165 CG-040-24A 40 [(27.3)[(584)] 56 | 30 | 30 |64.6] 14deo%)
-G04 40 M14x15| 8 | 19 | (21.9) | 18 CG-050-24A 50 [(29.7)[(724)[ 64 | 36 | 36 [79.2] 16dsf%)
-05 50, 63 M18x1.5 | 11 | 27 | (31.2) | 26 CG-063-24A 63 [(34.3)[(904)] 74 | 46 | 46 |97.2] 18deo%)
-08 80 M22x1.5 | 13 | 32 | (37.0) | 31 CG-080-24A 80 | — | — | 72| 85|45 [110] 18de3%
-10 100 M26x1.5 | 16 | 41 | (47.3) | 39 CG-100-24A | 100 [ — [ — [ 93 [100] 60 [ 130 22di3%:

178



\)



CG1Y series

Mounting Brackets, Rod End Brackets, and Nut Material: Stainless Steel

Part No.

Bcz::nii)ze Axial foot*! Flange*! Single knuckle joint Double knuckle joint*2 Rod end nut
20 — — 1-G02SUS Y-G02SUS NT-02SUS
25 — —

1-GO3SUS Y-GO3SUS NT-03SUS
32 CG-L032SUS CG-F032SUS
40 CG-L040SUS CG-F040SUS 1-G04SUS Y-G04SUS NT-G04SUS
50 CG-L050SUS CG-F050SUS

1-GO5SUS Y-GO5SUS NT-05SUS
63 CG-L063SUS CG-F063SUS
80 CG-L080SUS CG-F080SUS 1-G08SUS Y-G08SUS NT-08SUS
100 CG-L100SUS CG-F100SUS 1-G10SUS Y-G10SUS NT-10SUS

#1 A knuckle pin and retaining rings are shipped together. Refer to the XC27 for details on stainless steel double clevis pins and double knuckle pins. The
accessories need to be ordered separately from the cylinder.

Dimensions

The single knuckle joint, double knuckle joint, mounting nut, and rod end nut are the same as the standard type.

Axial foot

F\ M
LX
LZ 4xoLD ZZ + Stroke
(mm)
Bore size B LD LH LT LX Lz M X Y z zz
32 44 72 | [25] [3] [44] 60 35 | [16] 6 [53] [117.5(125.5)]
40 53.5 72 | [30] [3] [54] 75 [4] [16.5] 65 | [63.5] [135(144)]
50 69 [10] [40] 4 [66] 90 5.5 215 | 115 | [755] | [157.5(169.5)]
63 81 [12] [45] 4 82 [ 110 7 215 | 115 | [755] 159(171)
80 995 | 12 [55] 4 [100] | 130 7 28 17 [95] 190(204)
100 125 [14] [70] [6] [120] 160 8 [30] 15 [95] 193(207)
#1 [ ]: Same as the standard type ( ): Denotes the dimensions for long strokes
«2 Supplied with 4 mounting screws.
Rod flange > -
The head flange has the same dimensions. N
= S
m| % (mm)
b Bore size B FD FT FX z
32 50 [6.6] 6 [38] 34
B, 40 60 [6.6] 6 [46] 44
50 75 [9] [9] [58] [49]
FX 4 FT 63 90 [ [11] [9] [70] | [49]
B 4xoFD 80 100 | [11] 9 [82] 62
100 125 | [14] 10 [100] 61

® 178-1

=1 []: Same as the standard type
*2 Supplied with 4 mounting screws.



CG1Y series

Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at stroke end) and lts Mounting Height

Solid state auto switch
D-M9OI
D-M9CIW
220 to 063
~Hs

(24)
( ): Dimension of the D-M9OJA
Aand B are the dimensions from the end of the head cover/rod cover to the end of the auto switch

Reed auto switch

D-A90]

020 to 063 @
REB
REC

g

A 24.5

LB
(22)

( ): Dimension of the D-A96 |§
A and B are the dimensions from the end of the head cover/rod cover to the end of the auto switch.

=g
o|g=

D-G5, K5, G50W D-C7,C8
D-K59W, D-G59F, D-G5NT 020 to 063 RHC
220 to o1 ggs 1 Auto switch 85 Auto switch
i ; - i , RzQ
[olm ]
A 33 B 'A 26 B
D-H701, H7OW D-C73C, C80C
D-H7NF 220 to 063
220 to 563 5 Auto switch Auto switch
~Hs -
D-H7C D-B5, B6, B59W
220 to 2100
~Hs
LA [382] LB
Auto Switch Proper Mounting Position (Detection at stroke end) (mm) Auto Switch Mounting Height (mm)
Auto switch | p-M9] Auto switch D-M9C]
model | p.grv D-HIOW . g7y |DEEKES model | pygry(v) | B-METW D-B5/B6 D-KS9W
D-MICW | D-ASL] 3::;:2 D-C80 gg:gDmessw D850 |o peow D-MICW (V)| D-AST] | D-C73C [D-B59W D-GSNT
D-MOCIWV | D-A9CIV D-C73C D-B64 D-M9TA (V) | D-H7C] | D-C80C |D-GS/K5 D-G59F
D-H70) D-GENT D-H7OW
D-MoIA D-H7G |D-C80C |ecy D-AID(Y) | DIHTNF D-GSCW D-H7C
D-M9CIAV - 8
Bore Bore D-C7/C8
size A B A B A B A B A B A B A B ||size Hs Hs Hs Hs
20 33 |32 |29 |28 (28.5(|27.5(/29.5|285|25 |24 |23.5|225(26.5|23.5 20 255 245 27 275
25 325|325(|28.5(285(28 |28 |29 |29 |245|245|23 (23 |26 |26 25 28 27 29.5 30
32 34 |33 |30 |29 |29.5/285|30.5/29.5|26 |25 |24.5/23.5|27.5|26.5 32 315 30.5 33 335
40 39 |36 |35 |32 (34.5|31.5(355|325|31 |28 |29.5|26.5(32.5|29.5 40 36 35 37.5 38
50 46 |44 |42 |40 |415|39.5|425|40.5|38 (36 |36.5|34.5/39.5|37.5 50 415 40.5 43 435
63 445/455|40.5|41.5/40 |41 |41 |42 [365(|375(35 |36 |38 |39 63 48.5 47.5 50 50.5
80 — | —|—=|—=|—=|—|—|— |495|445|48 (43 |51 |46 80 - — - 59
D-(1
100 — | —|—=|— | — | — | — | — |485|455|47 (44 |50 |47 100 = = — 69.5
-XOJ

Note) Adjust the auto switch after confirming the operating condition in the actual setting.

179



CG1Y series

Minimum Stroke for Auto Switch Mounting

(mm)
Number of auto switches
Auto switch model With 1 pc With 2 pcs. With n pcs. (n: Number of auto switches)
i Different surfaces Same surface Different surfaces Same surface
n-2
D-M9O] 5 15 Note 1) 40 Note 1) 20 + GSKT) 55+35(n-2)
(n=2,4,6..)Note3) (n=2,3,4,5+)
n-2
D-M9CIW 10 15 Note 1) 40 Note 1) 20 + BSKT) 55+35(n-2)
(n=2,4,6..)Note 3) (n=2,3,4,5)
D-M9CIA 10 25 40 Note 1) 25+ 35 ; ) 60 +35(n-2)
(n=2, 4, 6-..) Note 3) (n=2,3,4,5)
n-2
D-A90] 5 15 30 Note 1) 154357 50 + 35 (n - 2)
(n=2, 4, 6.-)Note 3) (n=2,34,5")
n-2
20+35 35+ 35 (n-2)
-| 5 20 35 2
i (n=2, 4,6..)Noted) (n=2,3,4,5+)
n-2 _
D-A9CIV 5 15 25 15+357 25+35(n-2)
(n=2, 4, 6.-)Note 3) (n=2,3,4,5)
D-M9CIWV 10 20 5 20+350 > 2) 35435 (n-2)
D-MSLJAV (N=2, 4, 6..-) Note 3) n=2,3,4,5.)
D-C70 5 15 50 15+45£—)";2 50 + 45 (n - 2)
Dacsy (n=2,4,6.)Note 3) (n=2,3,4,5)
D-H70 (n-2) -
D-H7OW 10 15 60 15 +45 5 60_+24g (2 2)
D-H7NF (N=2, 4, 6...)Note 3) (n=2,8,4,5-)
D-C73C 5 15 o5 15 +500=2) 5 2) 65+ 50 (n—2)
PHEENS (n=2,4,6..)Note 3) (n=2,3,4,5)
D-B501 -
D-B64 5 15 75 15+50£—)"22 75+ 55 (n—2)
Becois (n=2,4,6.)Note3) (n=2,3,4,5)
D-K590] , 4,
n-2 _
D-B59W 10 20 75 20 + 50 2 75+55(n-2)
(n=2, 4, 6--) Note 3) (n=2,3,4,5)

Note 3) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
Note 1) Auto switch mounting

Auto switch model

With 2 auto switches

Different surfaces

Same surface

A

15,

Correct auto switch mounting position is 3.5 mm from the back

face of the switch holder.

B

The auto switch is mounted by slightly displacing it in a
direction (cylinder tube circumferential exterior) so that the
auto switch and lead wire do not interfere with each other.

pHAED Note 2

) Note 2)
D-MOCOIW Less than 20 stroke Less than 55 stroke
D-M9CIA Less than 20 stroke Note 2) Less than 60 stroke Note 2)
D-A90] — Less than 50 stroke Note 2)

Note 2) Minimum stroke for auto switch mounting in types other than those mentioned in Note 1.

180



Operating Range

Auto Switch Mounting CG1 Y Series

* Values which include hysteresis are for guideline purposes only, they are not a guarantee (assuming approximately +30% dispersion) and may change substantially depending on the ambient environment.

Auto Switch Mounting Brackets/Part No.

(mm) (mm)
) Bore size } Bore size
Auto switch model Auto switch model
20 | 25 | 32 | 40 | 50 | 63 | 80 | 100 20 | 25 | 32 | 40 | 50 | 63 | 80 | 100
D-M9CI(V) D-H7O/H7mW |
D-M9CIW(V) 45| 5 | 45|55 | 5 | 55| — | — D-H7NF 414|455 6|85
D-M9TIA(V) D-H7C 7 |85] 9 | 10|95 105 — | — | |REA
D-A9CI(V) 76|88 |89 |—|~— D-G5L1/G5C1W/G59F
D-C7/C80 s Lol o 11010l —1_ D-G5BA/KBO/KSOW | 4 | 4 | 45| 5 | 6 |65]65( 7 REB
D-C73C/C80C D-G5NT 4 4 45| 5 6 | 65|65 7
D-B501/B64 8 10 9 10 10 11 11 11 REC
D-B59W 13 18 | 14 | 14 | 14 | 17 | 16 | 18

Low
- Speed
Auto switch Bore size (mm)
model 20 25 32 40 50 63 80 100 MQ
B:mgngv) BMA3-020 BMA3-025 BMA3-032 BMA3-040 BMA3-050 BMA3-063 _ _
D-A90I(V) (Asetofa, b, c,d)|(Asetofa,b,c d)|(Asetofa,b,c, d)|(Asetofa, b, c d)|(Asetofa,b,c, d)|(Asetofa,b,c,d) RHC
D-M9TIA(V) Note2)| BMA3-020S BMA3-025S BMA3-032S BMA3-040S BMAB3-050S BMA3-063S _ _
(Asetofb,c,d,e)|(Asetofb,c,d,e)|(Asetofb,c,d e)|(Asetofb,c,d,e)|(Asetofb,c,d e)|(Asetofb,c,d, e) RZQ
Switch bracket (Resin) Auto switch
a| Transparent (Nylon) Note 1)
e | White (PBT) )
c
Auto switch mounting band
+ Band (c) is mounted so that the projected part is
on the internal side (contact side with the tube).
D-C7C1/C80
D-C73C
D-C80C BMA2-020A BMA2-025A BMA2-032A BMA2-040A BMA2-050A BMA2-063A _ _
D-H70O (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw)
D-H7OW
D-H7NF
D-H7BA BMA2-020AS BMA2-025AS BMA2-032AS BMA2-040AS BMA2-050AS BMA2-063AS _ _
(Asetof band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw)
D-B5C1/B64
D-B59W
D-G5C1/K59 BA-01 BA-02 BA-32 BA-04 BA-05 BA-06 BA-08 BA-10
D-G5CIW/K59W | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw)
D-G5BA/G59F
D-G5NT

Note 1) Since the switch bracket (made from nylon) are affected in an environment where alcohol, chloroform, methylamines, hydrochloric acid or sulfuric
acid is splashed over, so it cannot be used.
Please contact SMC regarding other chemicals.

Note 2) Avoid the indicator LED for mounting the switch bracket. As the indicator LED is projected from the switch unit, indicator LED may be damaged if
the switch bracket is fixed on the indicator LED.

Band Mounting Brackets Set Part No.

Set part no.

Contents

[Stai

BM2-CICICIA(S)

* S: Stainless steel screw

- Auto switch mounting band (c)
- Auto switch mounting screw (d)

BJ4-1

- Switch bracket (White/PBT) (e)

- Switch holder (b)

BJ5-1

- Switch bracket (Transparent/Nylon) (a)

- Switch holder (b)

Steel Mounting Screw]

BBA3: D-B5/B6/G5/K5 types

switch is shipped independently, the BBA3 is attached.

Note 3) Refer to page 1047 for details on the BBA3. When the D-G5BA type auto

The following stainless steel mounting screw kit is available. Use it in accordance
with the operating environment. (Since the auto switch mounting bracket is not
included, order it separately.)

D-0
-XO
181 ®



CG1Y series

Cylinder Mounting Bracket, by Stroke/Auto Switch Mounting Surfaces

Auto switch mounting surface varies depending on mounting brackets and cylinder strokes. Refer to the table below.

(mm)

Auto switch model

Basic, Foot, Flange, Clevis

Trunnion

With 1 pc.
(Rod cover side)

With 2 pes.
(Different surfaces)

With 2 pes.

(Same surface)

With 1 pc.
(Rod cover side)

With 2 pes.
(Different surfaces)

With 2 pes.
(Same surface)

Auto switch mounting

surface Port surface Port surface Port surface n
(o foe o
& & &)
Auto switch type
D-M9(V)
D-M9CIW(V)
D-MOTIA(V) 10 st or more 15t0 44 st 45 st or more 10 st or more 15t0 44 st 45 st or more
D-A9(V)
D-C7/C8 10 st or more 15 to 49 st 50 st or more 10 st or more 15 to 49 st 50 st or more
AL 10 st or more 15to0 59 st 60 st or more 10 st or more 15to 59 st 60 st or more
D-H7NF
D-C73C/C80C/H7C 10 st or more 15to 64 st 65 st or more 10 st or more 15 to 64 st 65 st or more
D-B5/B6/G5/K5
D-G5CIW/K59W 10 st or more 15to 74 st 75 st or more 10 st or more 15to 74 st 75 st or more
D-G59F/G5NT
D-B59W 15 st or more 20to 74 st 75 st or more 15 st or more 20to 74 st 75 st or more

# Trunnion type is not available for 80 and 100.

R e e e e e e e e e T R

Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable.
Refer to pages 941 to 1067 for the detailed specifications.

* With pre-wired connector is also available for solid state auto switches. For details, refer to pages 1014 and 1015.

= Normally closed (NC = b contact) solid state auto switches (D-M9LIE(V)) are also available. For details, refer to page 1592-1.

1 1
1 1
1 - - - 1
1 Type Model Electrical entry Features Applicable bore size (mm) 1
I D-H7A1/H7A2/H7B — I
1 Solid state D-H7NW/H7PW/H7BW Diagnostic indication (2-color indicator) 220 to 063 1
] D-H7BA Water resistant (2-color indicator) 1
1 D-G5NT Grommet (In-line) With timer 220 to 6100 1
! D-C73/C76 — 1
! r——— - 920 to 063 1
1 Reed D-C80 Without indicator light 1
1 D-B53 — 220 to 6100 1
1 1
1 1
= o

® 182



Smooth Cylinder

MBY Series

232, 240, 350, 363, 280, 5100

)
m
=

How to Order

)
m
W

(X MDBY (B]40 %% wosw| -~ ) £
With auto switch 1 X Speed
(Built-in magnet) Accessories 1 Made to Order
Refer to page 184
) [ Nil | Nome | for dotal Ma
Mounting [ N_| Pivotbracket |
- « Only for D and T mounting types Number of auto switches
B Basic Bore size + Pivot bracket is shipped together it RHC
L Axial foot 32 | 32mm with the product, but not assembled. L 2 pes.
F Rod flange i S 1 pe. RZQ
G Head flange 40 | 40mm Accessories 2 3 3 pes.
c Single clevis 50 50 mm Nil None n |“n"pes.
D Double clevis 63 | 63mm v Single knuckle joint
T Center trunnion 180(:) 1?)8 mm w Double knuckle joint —e Auto switch
mm * A knuckle joint pin is not provided - -
with the single knuckle joint. m
= Rod end bracket is shipped together # For applicable auto switches,
. . Port thread type with the product, but not assembled. refer to the table below.
Built-in Magnet Cylinder Model Nil | Rc
If a built-in magnet cylinder without an TN | NPT Cylinder stroke (mm)
auto switch is required, there is no need TF G Refer to “Standard Strokes” on page 184.
to enter the symbol for the auto switch.
(Example) MDBYB40-100Z + Refer to “Ordering Example of Cylinder Assembly” on page 185.
Applicable Auto Switches/Refer to pages 941 to 1067 for further information on auto switches.
Electrical = Wi Load voltage Auto switch model | Lead wire length (m) Pre-vited Applicabl
. 5 ectrical |5 iring re-Wire pplicable
Type Special function 2 Tie-rod Band 0.5 1/8|5 load
entry £ (Output) DC AC mounting | mounting | (i) )| L) | @) connector oa
3-wire (NPN) 5V12V M9N = [ ] ® @ O o IC
Grommet 3-wire (PNP)| 24V ’ — M9P — ® (/@ O O | circui
—_— 2-wire 12V M9B = ® & e O o
§ Terminal 3-wire (NPN) 5V,12V — G39 — | === — —
E conduit 2-wire 12V = K39 — === =
o oi i indicati 3-wire (NPN) 5V12V MONW — [ ] [ 2K _2Ke] o IC
2 | (@oolor mdaton oo 3-vire (PNP) , MOPW | — | @ [@|@[0] O | oo | Reiy,
o h 2-wire 12V M9BW — ® ¢/ O| O — PLC
] - 5
= X 3-wire (NPN) | 24V — MONA*! = O |©0|®|O| O IC
»
Water resistant - 5V,12V = L
= (2-color indicator) Grommet 3-wire fFNP) MgpA‘ — 1) oOlelo l6) circuit
3 2-wire 12V M9BA*! — O |©0|®|O] O —
With diagnostic output (2-color indicator) 4-wire (NPN) 5V,12V F59F = [ J — @O O IC circuit
Magnetic field resistant 2-wire _ P3DWA = e — o0 @] _
(2-color indicator) (Non-polar) P4DW - — | —|e|le® [e)
3wire (NPN equivalent)|  — 5V — A96 — (] — | ®|— — |ICcircuit| —
I L 100V | A93 — o |ejejo]| — —
-‘;’ Grommet |No| 100Vorless. A90 = e |—| e — |ICcircuit| Relay,
0 Yes| 100V,200V]  A54 = [ ] — e e — PLC
° _ Yes)
2 No X 12V |200Vorless] A64 = e —|e|—| —
) 2-wire 24V
g Terminal i — — A3 | — | —|— — | _ [re
3 conduit — A34 — | —=|=]=] =
o
o DIN terminal ves 100V, 200V — Ad44 - |=|=1=] = RPeII_ag,
Diagnostic indication (2-color indicator) | Grommet — — A59W — ® |—|eo | —| —
#1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
A water resistant type cylinder is recommended for use in an environment which requires water resistance.
* Lead wire length symbols: 0.5 m.. -Nil (Example) MONW 3m. L (Example) MONWL
1m, M (Example) MONWM 5m. Z (Example) MONWZ
+ Solid state auto switches marked with “O” are produced upon receipt of order. D_I:l

+ Since there are other applicable auto switches then listed above, refer to page 197 for details.
+ The D-A9L)/MOL/P3DWAL] auto switches are shipped together, (but not assembled). (However, only the auto switch mounting brackets are assembled for the D-A9LY/M9L]
before shipment.) _xl:l

183 ©



MBY Series

Specifications

Bore size (mm)

32 [ 40 [ 50 | 63 | 80 | 100

Action Double acting
Piston speed 5 to 500 mm/s
Fluid Air
Proof pressure 1.05 MPa
Maximum operating pressure 0.7 MPa

Ambient and fluid

Without auto switch: —10°C to 70°C (No freezing)

temperature With auto switch: —10°C to 60°C

Cushion None

Lubrication Not required (Non-lube)

M . Basic, Axial foot, Rod flange, Head flange, Single clevis, Double clevis,
ounting

Center trunnion

Allowable leakage rate

0.5 L/min (ANR)

Standard Strokes

Minimum Operating Pressure B?ﬁmsi)ze Standard siroke (mm) Mo kil
Unit: MPa 32| 25,50, 75, 100, 125, 150, 175, 200, 250, 300, 350, 400, 450, 500 1000
Bore size (mm) | 32 ‘ 40 | 50 ‘ 63 ‘ 80 ‘ 100 40 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, 350, 400, 450, 500 1000
Min. operating pressure| ~ 0.02 0.01 50 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, 350, 400, 450, 500, 600 1000
63 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, 350, 400, 450, 500, 600 1000
80 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, 350, 400, 450, 500, 600, 700, 800 1000
100 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, 350, 400, 450, 500, 600, 700, 800 1000
Mg:’;eﬁo Made to Order Note 1) ::Itermediate strokes not listed above are _also available.
emged Click here for details ease consult with SMC for strokgs outside the. above ranges. ) "
Note 2) Applicable strokes should be confirmed according to the usage. For details, refer to “Air
Symbol Specifications Cylinders Model Selection” on front matter pages of the Best Pneumatics No. 2-1. In
-XAL | Change of rod end shape addition, the products that exceed the standard stroke might not be able to fulfill the

Tie-rod, Cushion valve, Tie-rod nut, etc.

specifications due to the deflection etc.

-XC7 : .
made of stainless steel Accessories/For details, refer to page 191.
-XC14 | Change of trunnion bracket mounting position —
-XC27 Dpuble clevis apd double knuckle joint T — _— Axial Rod Head | Single | Double | Center
pins made of stainless steel 9 foot flange | flange | clevis | clevis | trunnion
-XC29 | Double knuckle joint with spring pin Rod end nut [ ] [ ] [ ] [ ] [ ] [ ] [ ]
Standard o~
-XC30| Rod trunnion C.Iews pin _ — — — — — ° —
-XC65 Made of stainless steel Elnglle l;nucl:le Jl0|.nt LJ L LJ LJ L L LJ
(Combination of XC7 and XC68) Option (V;’i:f;n)"“c ejoint| g ° ° ° ° ° °
_xceg| Made of stainless steel Rod boot ° ° ° ° ° ° °
(with hard chrome plated piston rod)
Mounting Brackets/Part No.
—
Replacement Parts/Seal Kit Bro size 2 20 50 o3 %0 100
n Axial foot Notet) MB-LO3 MB-L04 MB-L05 MB-L06 MB-L08 MB-L10
5"(::[:')29 Kit no. Contents Flange MB-FO3 | MB-FO4 | MB-FO5 | MB-FO6 | MB-FO8 | MB-F10
Single clevis MB-C03 MB-C04 MB-C05 MB-C06 MB-C08 MB-C10
32 MBY32Z-PS Double clevis | MB-D03 [ MB-D04 | MB-DO5 | MB-D06 | MB-D08 | MB-D10
40 GCA2Y40Z-PS |Rod seal 1pe. Note 1) Order two foots per cylinder.
50 CA2Y50Z-PS | Piston seal 1pc. Note 2) Accessories for each mounting bracket are as follows: Axial foot, Flange, Single clevis: Body mounting bolt,
63 CA2Y63Z-PS | Cylinder tube gasket 2 pcs. Double clevis: Body mounting bolt, Clevis pin, Flat washers and Split pins. — Refer to page 191 for details.
80 CA2YB0Z-PS |Grease pack (10 g) 1 pc.
100 CA2Y100Z-PS

When maintenance requires only grease, use the
following part numbers to order.
Grease pack part number: GR-L-005 (5 g)

® 184

GR-L-010 (10 g)
GR-L-150 (150 g)


http://www.smcworld.com/products/en/custom.do

Smooth Cylinder MBY Series

Ordering Example of Cylinder Assembly

Cylinder model: MDBYDA40-150Z-NW-M9BW

Double clevis

Mounting D: Double clevis

Pivot bracket N: Yes

Rod end bracket W: Double knuckle joint
Auto switch D-M9BW: 2 pcs.

# Pivot bracket, double knuckle joint and auto
switch are shipped together with the product,
but not assembled.

Weights
——
(kg)

Bore size (mm) 32 40 50 63 80 100

Basic 044 | 059 | 1.04 | 1.29 | 241 | 3.36

Axial foot 0.56 | 0.73 | 1.26 | 1.57 | 2.91 | 4.02

Basic weight Flange 0.73 | 0.96 | 1.49 | 2.08 | 3.86 | 5.19

Single clevis 0.69 | 0.82 | 1.38 | 1.92 | 3.52 | 4.94

Double clevis 0.7 | 0.86 | 1.47 | 2.08 | 3.81 | 5.21

Trunnion 0.73 | 095 | 1.52 | 2.09 | 3.96 | 5.05

Additional weight per 50 mm of stroke | All mounting brackets | 0.11 | 0.16 | 0.26 | 0.27 | 0.42 | 0.56

Accessorie: Single knuckle joint 0.15 | 0.23 | 0.26 | 0.26 | 0.60 | 0.83

Double knuckle joint (with pin) | 0.22 | 0.37 | 0.43 | 0.43 | 0.87 | 1.27

Calculation Example) MBYB32-100Z (Basic, 832, 100 st)

© Basic weight--- .44 (Basic, 832)
* Additional weight 0.11/50 stroke
® Cylinder stroke:«--+--- 100 stroke

0.44 + 0.11 x 100/50 = 0.66 kg

X || =
m|m
™ || =

)
m
En

o
@ =

)=
@®
(=%

T |[=|[=
N || X
olla|e



MBY Series

Standard
—
Basic: MBYB
2xRcP Y Port
G 0?’
Width across flats KA
L T, Y
s e
_ < S oRR
wla [T olm
a| & [L]
V 4
/| = =
M |H1| = ==
Width across AL MB N
flats B1 MA 2x4xd
A K||_F N
H S + Stroke
ZZ + Stroke
Dimensions (mm)
B‘iﬁﬁrﬁ'fe A|AL| B |Bi|C |D|E|F|G|H|H J K | KA [MA|MB MM N|P|s |V |z
32 22 [195]| 46] 17 [325[ 1230 13]13 [47] 6 | Mex1 6[10]16] 4 | Miox1.25 [27 [1/8] 84| 4 [135
40 |30 |27 52| 2238 |16 35| 13[14 |51 8 | Mex1 6[14]16] 4 | M1ax15 |27 |14 | 84| 4 | 139
50 |35 |32 65| 27 |46.5| 20 | 40 | 14 |[155| 58 | 11 | M8x1.25 | 7|18 | 16| 5 | M18x15 [315) 174 | 94| 5 | 156
63 |35|32 75] 27 [56.5] 20 | 45 | 14 [16.5| 58 [ 11 [ M8x1.25 | 7|18 [ 16| 5 | M18x15 [315] 358 | 94| 9 [ 156
80 | 40|37 95/ 32|72 |25] 452019 |72 13| M1ox15 [10]22]16]| 5 | M22x15 [38 | 358 | 114 | 11.5] 190
100 |40 (37 | 114|41[89 |30|55|20[19 [72] 16| M10x1.5 [10]26|16]| 5 | M26x15 |38 | 1/2 ] 114]17 | 190

® 186



Standard/With Mounting Bracket

Axial foot: MBYL

)

4xoLD

LS + Stroke
ZZ + Stroke
Axial Foot (mm)
Boresize | by y| s | LT (x| Ly |z |x|v |2z
(mm)
32 730 128] 3.2 |32] 53 | 50|22 9162
40 9|33 [132]32]38| 59 | 55|24 11170
50 9|40 |148|32]46| 725| 70|27 |11 |190
63 | 1245|148 3.6 |56| 82.5| 80|27 |14]193
80 | 12|55]|174| 45 |72| 1025|100 30 | 14| 230
100 | 14|65 |178| 4589|122 1203216 | 234
Rod flange: MBYF
FE FT
T
w
Q
Rod Flange (mm)
Boresize | e | pp (FE|FT | FX |FY | FZ | Fd
(mm)
32 50| 7|3 |10] 64|32| 79| 245
40 55| 9|3 10| 72|36| 90| 305
50 70| 9|2 |12] 90|45]110] 365
63 80| 9|2 |12[100]50 120|395
80 |100|12| 4 |16 |126|63|153| 39.5
100 |120] 14| 4 |16 |150| 75 178 | 465

Smooth Cylinder MBY Series

* Refer to Basic (B) for other dimensions.

)
m
>

0 (| N
m|m
o=

wr-

x| N
N | X
oo



MBY Series

Standard/With Mounting Bracket + Refer to Basic (B) for other dimensions.
Head flange: MBYG

Port 4xoFD

e
o0

FY
FB

FT X
ZZ + Stroke Fz
Head Flange (mm)
Boresize | g | pp | FT| FX |FY | FZ | 22
(mm)
32 50 10| 64|32] 79141

7
40 55| 9]10| 72|36| 90|145
50 70| 9]12] 90|45|110|164
9
2

63 80 12100 50 | 120 | 164
80 100] 12|16 | 126| 63 | 153 | 202
100 120| 14|16 [150| 75 | 178 | 202

Single clevis: MBYC

Port
CDH10

\§
<3
Q |

e

X
Z + Stroke RR
ZZ + Stroke
Single Clevis (mm)
Bore size
(mm) CDH10 CX L|RR|U| Z zz

32 109%° | 143 | 23] 10.5 | 13 | 154 | 164.5
40 109%° | 1433 | 23| 11 |13 ]158 169
50 14*397° 1 2033 | 30| 15 |17 |182| 197
63 14997 | 203 | 30| 15 |17 182 197
80 22°0% | 3007 | 42| 23 |26 | 228 | 251
100 22'9% | 3093 | 42|23 |26|228| 251

wl|es|ex

188



Standard/With Mounting Bracket

Double clevis: MBYD

Hole dia.: CDH10
Shaft dia.: CDdg

| [
U,
L
Z + Stroke RR
ZZ + Stroke
Double Clevis (mm)
Boresize | opuio | cDw | cx |cz|L|RR|U| Z | 2z
(mm)
32 10998 | 102083 | 14353 | 28 |23 | 10.5 | 13 | 154 | 164.5
40 109%8 | 1099 | 1433 |28 |23 |11 |13 |158 | 169
50 1429970 | 1420950 | 20:33 | 40| 30|15 |17 |182| 197
63 1479970 | 1423853 | 20353 |40 (30|15 |17|182| 197
80 22799 | 22709% | 30103 | 60 | 42 | 23 |26 | 228 | 251
100 221008 | 22700 | 30103 | 60 | 42 | 23 | 26 | 228 | 251
Center trunnion: MBYT
Z + 1/2 Stroke
[
)
BEm g a
N A
\* ——
LT
Center Trunnion (mm)
B‘z:ﬁmﬂze TDes |TT|TX|TY |TZ| 2z
32 12905 |17 | 50| 49| 74| 89
40 16992 | 22| 63| 58| 95| 93
50 162052 | 22| 75| 71[107|105
63 202353 | 28| 90| 87130105
80 202004 | 34 110|110 | 150 129
100 25-0%949 | 40 | 132136 | 182 129

QT

oTDes

Smooth Cylinder MBY Series

* Refer to Basic (B) for other dimensions.

X ||}
m|m
@ || =

)
m
En

o
@® =

)=
®
o

Z|[=|[=
N || X
olla|e



MBY Series

Pivot Bracket/Trunnion and Double Clevis Pivot Bracket

Part No.

—_Boresize| yp3s | MBO40 | MBS0 | MBO63 | MBS0 | MBLI100
Description
Trunnion pivot bracket Nte) | MB-S03 MB-S04 MB-S06 MB-S10
Double clevis pivot bracket MB-B03 I MB-B05 I MB-B08

Note) Order 2 trunnion pivot brackets per cylinder.

Trunnion pivot bracket

Z + 1/2 Stroke

T0

T0

(mm)
Part no. B"g;')ze B |TA|TL|TU|TC|TX |TE|TO |TR | TT | TS | TH | TF | Z** | TDH1o
MB-S03 32 46| 62| 45 | 85| 62| 50| 74| 12 [ 7 | 13 [ 10 | 35 | 47| 89| 129"
e |0 52| 80] 60 [10 | 80| 63| 97|17 [ 9 [17 [ 12 | 45 | 60| 93| 163
50 65| 80] 60 [10 | 92[ 75[109| 17 [ 9 [ 17 [ 12 | 45 | 60[105| 163
MB-S06 53 75100 70 [15 [110] 90130 20 [11 [ 22 | 14 | 60 | 80[105| 203%*
80 95[100] 70 [15 [ 130|110 150 20 [11 [ 22 | 14 | 60 | 80 [ 129 | 20°3%
MB-S10 | 100 [ 114|120 90 [15 [ 158|132 [ 184 | 26 |[13.5] 24 | 17 | 75 | 100 | 129 | 2573%¢
Double clevis pivot bracket B
Z + Stroke DB DX
4 x oDT
Iv
oo
4xoDR DO, pc__| |po
pu| | oL | |pu DE
DA
(mm)
Part no. B‘i:ﬁms')ze B |DA|DB|DL|DU|DC|DX|DE|DO|DR|DT|DS|DH|Z*| DDHw0
MB-B03 32 46| 42 [ 32 [ 22 [10 | 44 | 14| 62| 9 | 66| 15 | 7 | 33 [154| 10'3%®
40 52| 42 [ 32 | 22 [10 | 44 [ 14 | 62| 9 | 66] 15| 7 | 33 [158] 109%°
o | 65| 53 | 43 [ 30 [11.5] 60 | 20 | 81[105] 9 |18 | 8 | 45 [182] 14"
63 75| 53 | 43 | 30 |11.5] 60 | 20 | 81|105] 9 | 18 8 | 45 [ 182 14%9°°
B-Bos |80 95| 73 | 64 | 45 [14 | 86 | 30 [ 111[125[11 | 22 | 10 | 65 | 228 | 22'3%*
100 | 114] 73 [ 64 | 45 [14 | 86 | 30 [ 111[125[11 | 22 | 10 | 65 | 228 | 22'3%
Rotating Angle
Bore size A | B | Ac+ B+ 00°
(mm)
32, 40 25° | 45° 160°
50, 63 40° | 60° 190°
80,100 | 30° | 55° 175°

190



Dimensions of Accessories

Smooth Cylinder MBY Series

Rod end nut 30 Knuckle joint pin .
(Standard) d Clevis pin 2xod 3
Q
o ra T
mll, ¢
B L REA
Bore size Bore size (mm) d Applicable
Part no. (mm) d H B < o Part no. Clevis[Knuckle Dee | Lje¢m (0l throug) split pin REB
NT-03 32 M10x1.25 6 17 19.6 | 16.5 CD-Mo03 32,40 103567 | 44 | 36 | 4 3 23x18¢
NT-04 40 Mi4x15 | 8 | 22 | 254 | 21 CD-M05 | 50,63 | 14358 | 60|51 45| 4 | o4x25¢ _ |REC
NT-05 50, 63 M18x 1.5 11 27 | 312 | 26 CD-M08 80,100 |223%7 (82 |72| 5 | 4 04x35¢
NT-08 80 M22 x 1.5 13 32 37.0 31 Note) Split pins and flat washers are included. m
NT-10 100 M26 x 1.5 16 41 47.3 39
Y type Low
Double knuckle joint Speed
1 type MM NDH1o  , @
Single knuckle joint N NTAN ma
S o) Ty
A1 L U1 T RHC
o U1
L1
_ _ RzQ
Partno. |BO®SiZ8 | A | a¢|E1[Li| MM |Ri|Ut|NDuio| NX Partno. |BO®SiZ8 gy 1y | MM [Ri|ui|NDHo| NX | NZ
(mm) (mm)
1-03M 32 40[14|20|30 |M10x1.25/ 12|16 | 100%° | 14 Y-03M 32 20|30 |M10x1.25{ 10| 16| 10'0°* | 14153 | 28
1-04M 40 50 /19|22 |40 | M14x1.5[12.5/19 | 100%° | 14 Y-04M 40 22|40 | M14x15 [11]19]100%° | 14 28
1-05M 50,63 |64 |24 |28|50| M18x1.5[16,5]24 | 1457 | 20 Y-05M 50,63 |28 |50 | M18x 1.5 |14 |24 | 140°° | 20 402
1-08M 80 80|26 40 |60 | M22x 1.5 |23.5| 34 | 2273%* | 30 Y-08M 80 40 |65| M22x1.5 | 20| 34 | 22'3°* | 30: 603
I-10M 100 802640 |60 | M26 x 1.5 [23.5) 34 | 223° | 300 Y-10M 100 40 65| M26x1.5 | 20| 34| 223°* | 30: 6025
Note) A pin, split pins and flat washers are included.
Bracket Combinations
Bracket combination available - ---PRefer to the figure below.
Biacketior( . . ) Single Double Clevis
rkpie
e L@ee) Single clevis | Double clevis knuckle joint knuckle joint | pivot bracket
Single clevis — @ — @ —
Double clevis — @ — ®
Single knuckle joint — ® ® —
Double knuckle joint @ — ® — @
No. Appearance No. Appearance
Single clevis + Double clevis — Single knuckle joint + Double knuckle joint —
® =2 ® T Q
= EEE—R
Single clevis + Double knuckle joint D,’ Double knuckle joint +
Single clevis A
—
@ = @ ’-[i ) e
CL=S[[© = IR
Double clevis + Single clevis . Double knuckle joint + Single knuckle joint —
® =] 9 ® EEE O
o s
Double clevis + Single knuckle joint S Double clevis + Clevis pivot bracket P’
® — é}? ® §§ ]
Single knuckle joint + Double clevis Double knuckle joint + Clevis pivot bracket —
® e ® -2 0-0
— b
— e -Xtd

191



MBY Series
Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

<Tie-rod mounting> <Band mounting>
D-M9CI/M9IV D-Z701/Z80 D-A30/G39/K39

D-M9CIW/MOCOIWV D-Y5901/Y691/Y7P/Y7PV
D-M9UA/M9LIAV D-Y7OW/Y7OWV/Y7BA

D-A9CJ/A90IV
Auto switch Auto switch =Hs
L 5 F[ %5 H[ 3 A@ Eﬁ@
= il
LA LB
D-A5C1/A60] D-A44
D-A59W
Auto switch Auto switch =Hs
- o
-—& ST o
= el e
A H.

D-F501/J59
D-F500W/J59W/F5BA
D-F59F/F5NT

Auto switch =Hs

D-P3DWA

Auto switch =Hs

D-P4DW

Auto switch =Hs

® 192



Auto Switch Mounting MBY Series

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

Auto Switch Proper Mounting Position (mm)
Auto D-z70J
switch D-z8[]
D-M9C]
model | b porTv D-F501 D-A3D) | D200 REA
D-M9CIW D-A9[] D-A50] D-A44 ¥
D-MOCWV | D-ASCIV D-A6C] D-A59W D-J59 D-FS5NT D-G39 D-Y7P D-P3DWA | D-P4DW
D-F59F D-Y7PV
D-M9CJA D-K39 D-Y7H REB
D-M9JAV D-Y7OOW
D-Y7OOWV REC
Bore size A B A B A B A B A B A B A B A B A B A B
32 |10 8 6 |4 0 0 4 2 65| 45 |115] 95| 0 0 35 [ 15| 55[35 |3 1 m
40 9 9 5 5 0 0 3 3 55| 55 | 105|105 | 0 0 25 | 25 45| 45 | 2 2
50 10 9 6 5 0 0 4 3 65| 55 | 115|105 | 0 0 3.5 25 55| 45 3 2 Low
63 10 9 6 5 0 0 4 3 65| 55 | 1156 | 105 | 0 0 35 | 25 55| 45 | 8 2 Séeed
80 145 | 115 | 105 | 75 | 45 15 | 85 | 55 | 11 8 16 13 4.5 15 | 8 5 10 7 75 | 45 MQ
100 14 12 10 8 4 2 8 6 105 | 85 | 155 | 135 | 4 2 75 | 55 95| 75 | 7 5
Note) Adjust the auto switch after confirming the operating conditions in the actual setting. RHC
Auto Switch Proper Mounting Height mm) |RZQ
Auto D-F50] .
switch D-MoC] D-J59 g-i;OD
model D-MOCIW D-MoIV D-A5C] | D-F59F D-A30] D-Y590] D-Y69[]
D-M9CIA D-M9CJWV | D-A9C1V | D-A6] | D-F5CJW | D-G39 D-A44 D-Y7P D-Y7PV | D-P3DWA | D-P4DW
D-MO[JAV D-A59W | D-J59W | D-K39 D-Y7OOWV
D-A9(] D-F5BA D-Y7OOW
D-F5NT D-Y7BA
Boresize\| Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht
32 245|23 |305|23 |275|23 |35 |245|325|25 67 |275| 77 |275|255|23 |26.5|23 |38 |31 38 |31
40 28.5|255|34 |255|31.5|25.5|385|27.5|36.5|27.5| 71.5{27.5| 81.5/275|29.5/26 |30 |26 |39 |255|42 |33
50 33.5 | 31 38.5 | 31 36 |31 43.5|34.5 | 41 34 77 — | 87 — |33.5|31 34.5| 31 43 | 31 46.5 | 39
63 385|36 |43 |36 |40.5|36 |485|39.5|46 |39 835/ — | 935 — |39 |36 |40 |36 |48 |36 |51.5|44
80 46.5 | 45 52 45 49 45 55 46.5|52.5|46.5| 92.5| — |103 — | 475]| 45 48.5 | 45 56.5 | 45 58 51.5
100 54 |535|595|535|57 |535|/62 |55 |59.5|55 |103 — |113.5| — | 55.5|53.5|56.5| 53.5 | 64.5| 53.5| 65.5 | 60.5
Operating Range
———————
(mm)
A itch del Bore size
o switeh mode 32 | 40 | 50 | 63 | 80 | 100
D-M9L/M9IV
D-M9IW/MOCIWV 4 45| 5 6 6 6
D-M9JA/MOLIAV
D-A9C/A9LIV 7 75 8.5 9.5 9.5 | 105
D-Z7(1/Z80 7.5 8.5 7.5 9.5 9.5 | 105
D-A5C1/A6C] 9 9 10 11 11 11
D-A59W 13 13 13 14 14 15
D-A3[/A44 9 9 10 " 1 1
D-Y59C1/Y69[]
D-Y7P/Y7CIV
D-Y7OW/Y7OOWV 55 55 7 7.5 6.5 55
D-Y7BA
D-F501/J59
D-F5(JW/J59W
D-FEBA/FSNT 35| 4 4 45| 45| 45
D-F59F
D-G39/K39 9 9 9 10 10 11
D-P3DWA 3 4.5 4.5 5 5 5.5
D-P4DW 4 4 4 4.5 4 4.5
* Values which include hysteresis are for guideline purposes only, they are D.|:|
not a guarantee (assuming approximately +30% dispersion) and may
change substantially depending on the ambient environment. XD



MBY Series

Minimum Stroke for Auto Switch Mounting/Mounting Brackets other than Center Trunnion

n: Number of auto switches (mm)

Auto switch Number of Mounting brackets other than center trunnion
model auto switches mounted 232, 040, 050, 063 \ 280, 2100
2 (Different surfaces, same surface) 15
D-MoCI !
D-M9CIW n 15 + 40 @
(n=2,4,6,8...)Note 1)
2 (Different surfaces, same surface) 10
D-M9CIV !
D-MOCIWV | 10+30 052
(n=2,4,86,8...)Note 1)
2 (Different surfaces, same surface) 1
1 5
D-M9JA N
n 15+ 40052
(N=2,4,6,8...) Note 1)
2 (Different surfaces, same surface)
1 15
D-MSCJAV _
n 15+30 052
(n=2,4,6,8..)Note 1)
2 (Different surfaces, same surface) 1
1 5
D-A90] N
n 15+40 022
(n=2,4,6,8...)Note )
2 (Different surfaces, same surface)
1 10
D-A9CIV ,
N 10+30 052
(n=2,4,6,8...)Note 1)
2 (Different surfaces) 35
2 (Same surface) 100
D-A30 . 35+30 (n-2)
D-G39 n (Different surfaces) (=23 4.
D-K39 100 + 100 (n - 2)
n (Same surface) (=23, 4
1 10
2 (Different surfaces) 35
2 (Same surface) 55
. 35+30(n-2)
D-A44 n (Different surfaces) (=23 4.
55 + 50 (n — 2)
n (Same surface) (=23, 4
1 10
2 (Different sur(ac195, same surface) 15 20
D -2 -2
D-A60] n-2) (-2
n (Different surfaces) 154557 20 +557
(N=2,4,6,8.)Note?) | (n=2 4,6, 8..)Note1)
2 (Different surfaces, same surface) 20 25
(n-2) (n-2)
D-A59W n (Same surface) 20 +557 25+557
(n=2,4,6,8...)Note 1) (n=2,4,6,8:..)Note 1)
1 15 25
D-F501] 2 (Different surfaces, same surface) 15 25
D-J50 -2 -2
D-F500W n (Same surface) 15 455 5= 25 + 555~
g-gg%VAV (N=2,4,6,8.)Note) | (n=2 4,6 8..)Note1)
D-F59F 1 10 25
2 (Different surfaces, same surface) 15 25
(n-2) (n-2
D-F5NT n (Same surface) 15+5575 25+557
(n=2,4,6,8...)Note 1) (n=2,4,6,8...)Note 1)
1 10 25
D-Z700 2 (Different surfaces, same surface) 15
D-Z80 1
D-Y5901 (n-2)
D-Y7P n 15+40——
D-Y7O0W (nN=2,4,6,8...)Note 1)

Note 1) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.

194



Auto Switch Mounting MBY Series

Minimum Stroke for Auto Switch Mounting/Mounting Brackets other than Center Trunnion

n: Number of auto switches (mm)

Auto switch Number of Mounting brackets other than center trunnion
model auto switches mounted 032, 040, 950, 063, 080, 100
2 (Different surfaces, same surface) 10
D-Y690] 1 REA
D-Y7PV 1 -2
D-Y7OOWV n 0+30—
(n=2,4,6,8..)Note 1) REB
2 (Different surfaces, same surface)
! - REC
D-Y7BA _
n 20445022
2 (Different surfaces, same surface)
15
D-P3DWA K
. 15+50(n;2) Speed
(N=2,4,6,8)Note1) MQ
2 (Different surfaces, same surface) 15
1
D-P4DW . RHC
N 15+ 65 122
(r|=2Y 4’ 6Y 8) Note 1) RZQ
Note 1) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
Minimum Stroke for Auto Switch Mounting/Center Trunnion
n: Number of auto switches (mm
Auto switch Number of Center trunnion
model auto switches mounted 232 040 \ 050 263 280 2100
2 (Different sunazes‘ same surface) 75 80 85 90 95
D-M9OI
D-M9CIW ., 754+ 40059 80+ 4009 85+4005% | 90440050 | 95440050
(n=4,8,12,16:-) Noe2) (n=4,8,12,16-..) Note2) (1=4,8,12,16.)N0e2) | (124, 8,12, 16.-) N2 | (1= 4,8, 12, 16...) Noe2)
2 (Different suriac195, same surface) 50 55 60 65 70
D-M9CIV
D-MIOWV n 50 + 30 024 55 +30 024 60+300-4 | 654+300-9 | 704300°9
(n=4,8, 12, 16:-) Noe2) (n=4,8,12,16...) Note2) (1=4,8,12,16.)N0e2) | (124, 8,12, 16.-) N2 | (1= 4,8, 12, 16...) Noe2)
2 (Different sunaaes, same surface) 80 85 90 95 100
D-M9JA
n 80+ 40024 85+40 024 90+4002% | 95440024 | 100+ 4009
(n=4,8,12,16---) Note2l (n=4,8,12, 16...) Note 2) (n=4,8,12,16.) N2 | (124, 8, 12, 16-) Noe2)| (n = 4,8, 12, 16---) Noe2)
2 (Different sunac1es, same surface) 55 60 65 70 75
D-M9JAV _ , , Z Z
n 55+30 024 60 +30 024 65+300-48 | 704+300°8 | 75,300°9
(n=4,8,12,16...) Note2) (n=4,8,12,16...) Note 2) (n=4,8,12,16.-) N2 | (124, 8, 12, 16-) Noe2)| (n =4, 8, 12, 16---) Noe2)
2 (Different sunac1es, same surface) 70 75 80 85 95
D-A90] , Z , Z Z
n 70+ 40024 75+40 024 80+400-% | g5.+400-9 | 954400°9
(n=4,8,12,16...) Note2l (n=4,8,12,16...) Note 2) (n=4,8,12,16.-) N2 | (124, 8, 12, 16-) Noe2)| (n =4, 8, 12, 16--) Noe2)
2 (Different suriac1es, same surface) 45 50 55 60 70
D-A9CIV , Z , Z Z
n 45+30024 50 +30 024 55+300-4 | 60+300-% | 704300°%
(n=4,8,12,16...) Note2l (n=4,8,12,16...) Note 2) (n=4,8,12,16.-) 2 | (124, 8, 12, 16-) Noe2)| (n =4, 8, 12, 16---) Noe2)
Note 2) When “n” is an odd number, a multiple of 4 that is larger than this odd number is used for the calculation.



MBY Series

Minimum Stroke for Auto Switch Mounting/Center Trunnion

n: Number of auto switches (mm)

P S ek Number of Center trunnion
auto switches mounted 032 040 I 250 263 280 2100
2 (Different surfaces) 60 65 75 80 85
2 (Same surface) 90 95 100 105 110
D-A30 " 60+30(n-2 65+30(n-2 75+30 (n— 80 +30(n- 85+30(n-2
D-G39 n (Different surfaces) | "o’ é )Nm2| (=2, 4,86, (3) N)otei) (n=2,4,6, 2(; )Nmzw )|(n=2,4,6, 5(3 )Notzi =2, 416vf(3m)No|21)
D-K39 n (Same surface) | 90 100 (n ~2) 95 + 100 (n - 2) 100 + 100 (n = 2)[105 + 100 (n - 2) [110 + 100 (n - 2)
(n=2,4,6,8.)Note1) (n=2,4,6,8.)Note1) (1=2,4,6,8-)N )|(n=2 4,6,8-)Note )| (n1=2,4,6,8..) Note )
1 60 65 75 80 85
2 (Different surfaces)
70 75 80 85
2 (Same surface)
) 70+30 (n-2) 75+30 (n-2) 80 +30 (n - 2) 85+ 30 (n - 2)
D-A44 n (Different surfaces) | 'y g..Nae1) (=2, 4,6,8-)Note 1) (n=2,4,6,8...)Note 1) (n=2,4,6,8..)Nee )
n (Same surface) | 70+50(=2) 75+50 (n-2) 80 + 50 (n - 2) 85+ 50 (n - 2)
(n=2,4,6,8.)Noe) (n=2,4,6,8...)Note1) (n=2,4,6,8..)Note1) (n=2,4,6,8..)Noe 1)
1 70 75 80 85
2 (Different surfaces, same surface) 60 80 105 110 15
D-A50 1
D-A601 n (Same surface) 60 + 55 024 80+55054 | 10545504 | 11045504 | 115455070
(n=4,8,12,16.-)Note2) (n=4,8,12,16.-) N0 | (124, 8,12, 16-) W2 | (1=4,8,12, 16-)Ne2) | (n=4 8, 12, 16 Note2)
2 (Diferent surfaces, same surface) 60 70 85 110 115 120
(n-4) (n-4) (n-4) (n-4) (n-4) (n-4)
60 + 55 -—— 70 + 55—— 85 + 55 +—5— 110 +55—— | 115+55—— | 120 +55——
D-A59W n (Same surface 2 2 2 2 2 2
( ) (1=4,8,12,16.)M2) | (1=4,8,12, 16.)Me2 | (1=4, 8,12, 16-) N2 | (1 =4, 8,12, 16-) N2 | (n=4, 8, 12, 16-) N2 | (1= 4, 8, 12, 16 Noe2)
1 60 70 85 110 115 120
D-F501/J59 2 (Different surfaces, same surface) 90 95 110 115 120
D-F500W (n-4) (n-4) (n-4) (n-4) (n-4)
D-J59W n (Same surface) | 90+ 557 95 +55 024 110+55 0% 1 115455 0°9 | 120455024
D-F5BA (n=4,8,12, 16.-) N2 (n=4,8,12, 16...) Note2) (1=4,8,12,16.-)Me2) | (1= 4, 8,12, 16.-) V062 | (1= 4,8, 12, 16.-) Noe2)
D-F59F 1 90 95 110 115 120
2 (Different surfaces, same surface) 100 105 120 125 130
(n-4) (n-4) (n-4) (n-4) (n-4)
D-F5NT n (Same surface) | 100+550°5% 105 +55 024 120+55 0% | 125455 0-% | 130455022
(n=4,8,12, 16 N2 (n=4,8,12, 16...) Note2) (1=4,8,12,16.-)Me2) | (1= 4, 8,12, 16.-) N2 | (1= 4,8, 12, 16.-) Noe2)
1 100 105 120 125 130
[D)EZOD 2 (Different sur{ac:s. same surface) 80 85 % 95 100
D-Y5901 -4 -4 -4 -4 -4
D-Y7P N 80+400;% | 8544009 90 +40 054 95+40 0% | 100+400; %Y
D-Y7OW (n=4,8,12,16.-)N0e2) | (1= 4,8, 12, 16 Noeed) (n=4,8,12,16...)Note 2) (n=4,8,12,16-)N2) | (n=4,8, 12, 16~ Note2l
2 (Different surfaces, same surface)
D-Y690 p 60 65 70 75 85
D-Y7PV -4 -4 -4 -4 -4
D-Y7OWV R 60 +30 0% 65+30 0% 70+300;% | 754300;Y | 85430059
(n=4,8,12,16. Noe2) (n=4,8,12,16...)Note ) (n=4,8,12,16) V2 | (124, 8, 12, 16--)N9e2)| (n= 4,8, 12, 16...) Noe2)
2 (Different surfaces, same surface) 85 90 100 105 110
D-Y7BA _ N , N N
n 85+ 4504 90 + 45024 100+ 45024 | 105+ 4502 | 1104+ 4500-2)
(n=4,8,12,16) Noe2) (n=4,8,12,16:)Note 2) (n=4,8,12, 16~ )Nmez (n=4,8,12,16)Noe2) | (n=4,8, 12, 16-+) Note2)
2 Different sunaies, same surface) 80 85 90 95
DESDWA N 80+50 059 85 +45059 90 + 45059 95 +50 %)
(n=4,8,12, 16 \ae2) (n=4,8,12,16-)Note2) (n=4,8,12,16-)Note2) (n=4,8,12, 16:) o2
2 (Different suﬁaies, same surface) 120 130 140
D-P4DW
n 120 + 65 29 130 + 65 054 140 + 65054
(n=4,8,12,16-) Note2) (n=4,8,12,16--) Note2) (n=4,8,12,16--)Note2)

Note 1) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
Note 2) When “n” is an odd number, a multiple of 4 that is larger than this odd number is used for the calculation.

® 196



Auto Switch Mounting MBY Series

Auto Switch Mounting Brackets/Part No.

Auto switch model

Bore size (mm)

832 240 250

263 280

D-MOCIW/MOCIWV
D-M9CIA/M9LIAV
D-M9LC/MOLCIV
D-A9CVA9LCIV

BMB5-032

BMB5-032

BA7-040

BA7-040 BA7-063

BA7-063

D-A3LJ/A44
D-G39/K39

BMB2-032

BMB2-040

BMB1-050

BMB1-063 | BMB1-080

BMB1-100

D-A5C1/A6[VA59W
D-F500/J59
D-F5CIW/J59W
D-F59F/F5BA
D-F5NT

BT-03 BT-03 BT-05

BT-05 BT-06

BT-06

D-P3DWA

BA10-032S | BA10-040S | BA10-050S

BA10-050S | BA10-063S

BA10-063S

D-P4DW

BMB3T-040 | BMB3T-040 | BMB3T-050

BMB3T-050 | BMB3T-080

BMB3T-080

D-Z7(1/Z80
D-Y59C1/Y69[]
D-Y7P/Y7PV
D-Y7OIW/Y7COWV
D-Y7BA

BMB4-032

BMB4-032

BMB4-050

BMB4-050 BA4-063

BA4-063

[Stainless Steel Mounting Screw]

The following stainless steel mounting screw kit (including set screws) is available. Use it in
accordance with the operating environment. (Since the auto switch mounting bracket is not included,

order it separately.)

BBA1: For D-A5/A6/F5/J5 types
Note 1) Refer to page 1055 for details on the BBA1.

The above stainless steel screws are used when a cylinder is shipped with the D-F5BA auto

switch. When only the auto switch is shipped independently, the BBA1 is attached.

Note 2) When using the D-M9JA(V) or Y7BA, do not use the steel set screws which are included with
the auto switch mounting brackets above (BMB5-032, BA7-CJ0JCI, BMB4-J0C, BA4-CJ0C]).
Order a stainless steel screw kit (BBA1) separately, and use the M4 x 6 L stainless steel set

screws included in the BBA1.

- The figure shows the mounting
2100 example for the D-A9CI(V)/MOLI(V)/
MOTIW(V)/MLTIA(V).

<Mounting example for 632, D-P3DWA>

=

A
Switch mounting bolt*/&ﬁ

)
m
En

o
@® =

)=
@®
o

T |[=|[=
N || X
olla|e

# The switch mounting bolt is supplied with

the switch.

+ With pre-wired connector is also available for solid state auto switches. For details, refer to pages 1014 and 1015.
+ Normally closed (NC = b contact) solid state auto switches (D-MILIE(V)/Y7G/Y7H) are also available. For details, refer to pages 1592-1 and 961.

- e e e e e e e R R M R R M M M R M R M R R R M R R R R R e e e e e e e e e e e e mm we o o

1

1

1

1 Type Model Electrical entry Features

! D-A93V/A96V Grommet (Perpendicular) - - _ -

1 D-A90V Without indicator light

1 Reed D-B35

! D-A53/A56/273/276 Grommet (In-line) -

: D-A67/Z80 Without indicator light

1 D-M9NV/M9IPV/MOBV _

1 D-Y69A/Y69B/Y7PV

1 D-MONWV/M9PWV/M9BWV G . Diagnostic indication

1 D-Y7NWV/Y7PWV/Y7BWV rommet (Perpendicular) (2-color indicator)

! D-M9NAV/M9PAV/M9BAV Water resistant (2-color indicator)

: D-P4DW Magnetic field resistant (2-color indicator)
. D-F59/F5P/J59

: Solid state D-Y59A/Y59B/Y7P —

1 D-Y7H

1 D-F59W/F5PW/J59W Grommet (In-line) Diagnostic indication

1 D-Y7ZNW/Y7PW/Y7BW (2-color indicator)

: D-F5BA/Y7BA Water resistant (2-color indicator)

1 D-FSNT With timer

1 D-P5DW Magnetic field resistant (2-color indicator)

1

1

3

Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable.
Refer to pages 941 to 1067 for the detailed specifications.

o
197 ®



Smooth Cylinder

CAZ2Y series

240, 50, 063, 280, 3100

!

How to Order

BN cA2v[B
[ cDA2Y(B]

40
40

é
©
ve)
=
i

With auto switchT
(Built-in magnet) Made to Order
) .m. Refer to page 199 for details.
Mounting . [N | oot bracket |
B Basic Bore size # Only for D and T mounting types Number of auto switch
L Axial foot # Pivot bracket is shipped together ~
F Rod flange %% with the product, but not Nil | 2 pes.
mm . S 1 pc.
G H‘eaclj flialngé 63 [ 63mm _ Accessories 2 3 [ 3pos.
C Single cf ovis 80 | 80mm Nil i No bracket‘ i n_ |'m pos.
D Double clevis 100 | 100 mm Vv Single knuckle joint
T Center trunnion W Double knuckle joint L—e Auto switch
" . Port thread type “Riicie tpn Siolopiass [N Wioutauto s ]
Built-in Magnet Cyllnder Model Nil Rc = Rod end bracket is shipped together * For applicable auto switches,
If a built-in magnet cylinder without an TN | NPT with the product, but not assembled. refer to the table below.
auto switch is required, there is no need TF G Cylinder stroke (mm)
to enter the symbol for the auto switch. Refer to “Standard Strokes” on page 199.
(Example) CDA2YB40-100Z + Refer to “Ordering of Cylinder A y” on page 200.
Applicable Auto Switches/Refer to pages 941 to 1067 for further information on auto switches.
. - Load voltage Auto switch model |Lead wire length (m)|, . .
Type|  Special function E'ef]:”ca' g";‘”gt oG ac | Terod | Band | 05 [1]3[5 Pre-wired) - licable load
entry (Output) mounting | mounting | (Nil) (M) (L) | z) |conmecter
3-wire (NPN) MN G e a2
5V,12V MoP — ° ol e O 6} IC circuit
Grommet 3-wire (PNP) | 24V — — G5P e —elO o
. M9B = ® o e O o
£ 2-wire 12V — K59 e — e O o _
-‘é Terminal 3-wire (NPN) 12V G39C G39 — |=|l—=1= —
H conduit 2-wire K39C K39 = |—=|l=]=] =
] . MONW = ® o e O o
‘é e 3-wire (NPN) 5V 12V — G59W ® —| @O0 @) IC circuit| Relay,
2 Diagnostic indication e 3-wire (PNP) ’ MIPW — e (@e|@|O [¢) PLC
% (2-color indicator) — G5PW ® [—|®|O [¢)
z owire | 24v | 12v | — [MOBW L —— e _0/00| O -
3 Grommet | I3 re (NPN) weNAT o o [oTetol o
(2} - -wire = -
Wate tant |
e S-vire (PNP) 5V 12v MOPA* | — | O [o|elo| o |Ccru
(2-color indicator) 2-wire 12V MYPA* = O [O|e]Oo[ o —
With diagnostic output (2-color indicator) 4-wire (NPN) 5V, 12V F59F G59F o |— o O [IC circuit
Magnetic field resistant 2-wire _ P3DWA — e —e|e o _
(2-color indicator) (Non-polar) P4DW = — | —|e|le® o
3-wire -
< Yes| (NPN equivalent) | 5V — A96 o |—|o| — IC circuit| —
£ 100V | A93 — ° oo — —
z Grommet 5] 10V orless] A = ® |— | ®|—| — [iCoicut| Relay,
° — [Yes| 100V,200V] A54 B54 e (oo — PLC
3 No 12V [200Vorless| A64 B64 e — 0| — —
© g
k] Terminal 2-wire 24V — A33C A33 — === = _ PLC
o) conduit A34C A34 — [ —==1= —
« DIN terminal ' 1000, 200V A& A4 B R:|Lacy,
Diagnostic indication (2-color indicator) | Grommet — — A59W B59W o |—o | — —
=1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.
il (Example) MONW = Solid state auto switches marked with “O” are produced upon receipt of order.

= Lead wire length symbols: 0.5 m
1m: M (Example) MONWM

L (Example) MONWL

Z (Example) MONWZ

= Since there are other applicable auto switches then listed above, refer to page 211 for details.

= For details about auto switches with pre-wired connector, refer to pages 1014 and 1015.

* The D-A90/M9TIOCI/P3DWAL auto switches are shipped together, (but not assembled). (However, only the auto switch mounting brackets are assembled for the D-A9C/M9CI0O before shipment.)

198




Symbol

Without cushion

Smooth Cylinder CA2Y Series

Specifications
——————
Bore size (mm) 40 50 63 80 100
Action Double acting
Piston speed 5 to 500 mm/s
Fluid Air
Proof pressure 1.05 MPa REA
i perating pi 0.7 MPa REB
. . Without auto switch: —10°C to 70°C ]
No fi
Ambient and fluid temperature With auto switch: —10°C to 60°C (No freezing)
Cushion None REc
Lubrication Not required (Non-lube)
Mountin Basic, Axial foot, Rod flange, Head flange
9 Single clevis, Double clevis, Center trunnion Low
A leakage rate 0.5 L/min (ANR) Speed

Minimum Operating Pressure

g

Unit: MPa
\ Bore size (mm) [ 40 | s0 63 80 100 | RHC
‘ Minimum operating pressure ‘ 0.02 ‘ 0.01 ‘
RzQ
Standard Strokes
————————
Made to Bore size (mm) Standard stroke (mm) Max. stroke (mm)
order | Made to Order 25, 50, 75, 100, 125, 150, 175, 200, 250, 300,
Click here for details 40 350, 400, 450, 500 1000
Symbol Specifications 50,63 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, 1000
-XAO | Change of rod end shape ’ 350, 400, 450, 500, 600
R Tie-rod, Cushion valve, Tie-rod nut, etc. 25, 50, 75, 100, 125, 150, 175, 200, 250, 300,
XC7 made of stainless steel 80,100 350, 400, 450, 500, 600, 700 1000
-XC14 | Change of trunnion bracket mounting position Note 1) Intermediate strokes not listed above are also available.
-XC15 | Change of tie-rod length Please consult with SMC for strokes outside the above ranges.
Double clevis and double knuckle joint pins Note 2) Applicable strokes should be confirmed according to the usage. For details, refer to “Air
-Xc27 made of stainless steel Cylinders Model Selection” on front matter pages of the Best Pneumatics No. 2-1. In
addition, the products that exceed the standard stroke might not be able to fulfill the
-XC28 | Compact flange made of S8400 specifications due to the deflection etc.
-XC29 | Double knuckle joint with spring pin
-XC30 | Rod trunnion AccesSsories/ror details, refer to page 206.
——
-XC65 Made of stainless steel
(Combination of XC7 and XC68) .
: Mounting Basic Foot ﬂHod f}I-head S:ng]e Dtljuple ‘Center
J— Made of stainless steel ange | flange | clevis | clevis |trunnion
(with hard chrome plated piston rod) - Rod end nut [ [J [J [ [ ] (] (]
ancar Clevis pin — — — — — [ J —
. Single knuckle joint
Replacement Parts/Seal Kit _|Sngoknucdejont] @ | @ | © | @ | 6 6 | @
Option | Double knuckle joint ° ° ° °
(with pin)
SR Kit no. Contents
(mm)
40 CA2Y40Z-PS
Rod seal 1pc.
50 CA2Y50Z-PS |
Piston seal 1pe.
63 CA2Y63Z-PS Cylinder tub et 2
80 | CA2Y80Z-PS Gy noertd ekgj;e Wpcs'
100 | CAzviooz-ps |Creasepack(10g) Tpe.
When maintenance requires only grease, use the
following part numbers to order.
Grease pack part number: GR-L-005 (5 g)
GR-L-010 (10 g)
GR-L-150 (150 g)
-Xd


http://www.smcworld.com/products/en/custom.do

CA2Y series

Ordering_] Example of Cylinder Assembly

Cylinder model: Double clevis
CDA2YD40-150Z-NW-M9BW

Mounting D: Double clevis
Pivot bracket  N:Yes
Rod end bracket W: Double knuckle joint

Auto switch D-MIBW: 2 pcs. # Pivot bracket, double knuckle joint and auto switch are

shipped together with the product, but not assembled.

Weights/Aluminum Tube

(kg)
Bore size (mm) 40 50 63 80 100
Basic 0.73 1.06 1.53 2.73 3.71
Axial foot 0.91 1.25 1.83 3.40 4.64
. . Flange 1.09 1.48 2.28 418 5.57
Basic weight - -
Single clevis 0.95 1.37 212 3.84 5.43
Double clevis 0.99 1.46 2.28 413 5.95
Trunnion 1.08 1.51 2.29 4.28 5.93
Additonal weight | a0 unting brackets | 020 | 025 | 031 046 | 058
per 50 mm of stroke
. Single knuckle joint 0.23 0.26 0.26 0.60 0.83
Accessories I
Double knuckle joint (with pin) 0.37 0.43 0.43 0.87 1.27

Calculation (Example) CA2YL40-100Z (Axial foot, 240, 100 st)
* Basic weight--- 0.91kg
® Additional weight: 0.20/50 stroke
® Cylinder stroke--- 00 stroke
0.91 + 0.20 x 100/50 = 1.31 kg

200



Basic: CA2YB

G

Smooth Cylinder CA2Y Series

2xP

4xd Width across flats KA 2 x Cushion valve G
m "‘FT_;%
=H- -
AN
walf ] g r
M ]
Hi1 = i |
lLAL, | WA WA
A K N
F N
H S + Stroke M
ZZ + Stroke
(mm)
Bolosiee A AL B B1 c D E F G H H1 J K KA
(mm)
40 30 27 60 22 44 16 32 10 15 51 8 M8 x 1.25 6 14
50 35 32 70 27 52 20 40 10 17 58 11 M8 x 1.25 7 18
63 35 32 85 27 64 20 40 10 17 58 11 M10 x 1.25 7 18
80 40 37 102 32 78 25 52 14 21 71 13 M12x1.75 10 22
100 40 37 116 41 92 30 52 14 21 72 16 M12x1.75 10 26
SR M MM N P s WA | zz
(mm)
40 11 M14 x 1.5 27 1/4 84 | 185 | 146
50 11 Mi8x1.5 30 3/8 90 | 185 | 159
63 14 Mi8x1.5 31 3/8 9 23 170
80 17 M22 X 1.5 37 12| 116 | 285 | 204
100 17 M26 x 1.5 40 12 | 126 | 285 | 215
Axial Foot: CA2YL
H G 2xP G
LA, K s
B 4xd ‘ AL F : 2 x Cushion valve
MM H: — \"‘, ‘1‘"' =
I — ' Lt7
[lian wlafl T 4x0LD
O| m X0
5 TES s N
=i » Width across flats KA| ;,{J ! 15 y L
= _N | <N _|
LX [: X S + Stroke X
C Y LS + Stroke Y
B ZZ + Stroke
(mm)
B"(::r:')ze AlA | B |[B | Cc|D|E|F |G| H|H J K | KA | LD | LH | LS | LT
40 30 | 27 | 60 | 22 | 44 | 16 | 32 | 10 | 15 | 51 | 8 | M8x125 | 6 | 14 | 9 | 40 | 138 | 32
50 35 | 3 | 70 | 27 | 52 | 20 | 40 | 10 | 17 | 58 | 11 | M8x1.25 | 7 | 18 | 9 | 45 | 144 | 32
63 35 | 3 | 85 | 27 | 64 | 20 | 40 | 10 | 17 | 58 | 11 | M10x1.25 | 7 | 18 | 115 | 50 | 166 | 82
80 40 | 37 [ 102 | 32 | 78 | 25 | 52 | 14 | 21 | 71 | 13 | Mi2x1.75 | 10 | 22 | 135 | 65 | 204 | 45
100 40 | 37 | 116 | 41 | 92 | 30 | 52 | 14 | 21 | 72 | 16 | Mi2x1.75 | 10 | 26 | 135 | 75 | 212 | 6
Boresize |y |y MM N | P | s | x| VY |z
(mm)
40 42 | 70 | Mi4x15 | 27 | 1/4 | 84 | 27 | 13 | 175
50 50 | 80 | M18x15 | 30 | 3/8 | 90 | 27 | 13 | 188
63 59 | 93 | M18x15 | 31 | 3/8 | 98 | 34 | 16 | 206
80 76 | 116 | M22x15 | 37 | 1/2 | 116 | 44 | 16 | 247
100 92 | 183 | M26x1.5 | 40 | 1/2 | 126 | 43 | 17 | 258

X ||}
m|m
@ || =

)
m
En

o
@® =

)=
®
o

Z|[=|[=
N || X
olla|e



CA2Y series

Rod Flange: CA2YF

2xP
_@» _(_3!> 4xoFD 4xd
2 x Cushion valve
Width across flats KA
MM & 7 T ! v
N\ L=y
of — U< o m
) I =8
Width across flats B1 H1 ‘} 1 é} © Eet
lLAL | i
K [of
A | FI.N N B
H S + Stroke M FX
ZZ + Stroke FZ
(mm)
B‘E;:rﬁ')ze A |[AL| B |B | C | D|E |FB|FD|FT|FV |FX|FY|FZ| G | H |[H J K
40 30 | 27 | 60 | 22 | 44 | 16 | 32 | 71 | 9 | 12 | 60 | 80 | 42 | 100 | 15 | 51 | 8 |M8x125| 6
50 35 | 32 | 70 | 27 | 52 | 20 | 40 | 81 | 9 | 12 | 70 | 90 | 50 | 110 | 17 | 58 | 11 |M8x1.25| 7
63 35 | 32 | 85 | 27 | 64 | 20 | 40 | 101 |115] 15 | 86 | 105 | 59 | 130 | 17 | 58 | 11 |M10x1.25] 7
80 40 | 37 [102 | 32 | 78 | 25 | 52 | 119 | 185| 18 | 102 | 130 | 76 | 160 | 21 | 71 | 13 |M12x1.75] 10
100 40 | 37 [116 | 41 | 92 | 30 | 52 | 133 | 135] 18 | 116 | 150 | 92 | 180 | 21 | 72 | 16 |M12x1.75] 10
Boresize | yp | MM N | P | s |2z
(mm)
40 14 | 11 | M14x1.5 | 27 | 1/4 | 84 | 146
50 18 | 11 | M18x1.5 | 30 | 3/8 | 90 | 159
63 18 | 14 | M18x1.5 | 31 | 3/8 | 98 | 170
80 22 | 17 | M22x1.5 | 37 | 1/2 | 116 | 204
100 26 | 17 | M26x1.5 | 40 | 1/2 | 126 | 215
Head Flange: CA2YG
4xoFD B1 4xd Width across flats KA B iS4 . &
2 x Cushion valve
W\ = 1 =
AN
w o P Tte o |
Hl =& -]
! =
AL
F N N
A || K
H S + Stroke FT|
ZZ + Stroke
(mm)
B‘ﬁr:')ze A |AL| B | B | C D E F |FB | FD | FT | FV | FX | FY | FZ | G | H | H
40 30 | 27 [ 60 | 22 [ 44 | 16 | 32 | 10 | 71 9 12 | 60 | 80 | 42 | 100 [ 15 | 51 8
50 35 | 32 | 70 | 27 | 52 | 20 | 40 | 10 | 81 9 12 | 70 | 90 | 50 | 110 | 17 | 58 | 11
63 35 | 32 | 8 | 27 | 64 | 20 | 40 | 10 | 101 [ 115 | 15 | 86 | 105 | 59 | 130 | 17 | 58 | 11
80 40 | 37 [ 102 | 32 | 78 | 25 | 52 | 14 | 119 [ 135 | 18 | 102 | 130 | 76 | 160 | 21 | 71 | 13
100 40 | 37 | 116 | 41 | 92 | 30 | 52 | 14 | 183 | 135 | 18 | 116 | 150 | 92 | 180 | 21 | 72 | 16
SO E K | Ka MM N P s | zz
(mm)
40 M8 x 1.25 6 14 | M14x15 | 27 | 1/4 | 84 | 147
50 M8 x 1.25 7 18 | Mi18x15 | 30 | 3/8 | 90 | 160
63 M10x125 | 7 18 | M18x15 | 31 | a/8 | 98 | 171
80 Mi12x1.75 | 10 | 22 | Me2x15 | 37 | 1/2 | 116 | 205
100 M12x175 | 10 | 26 | M26x15 | 40 | 1/2 | 126 | 216

202



Smooth Cylinder CA2Y Series

Single Clevis: CA2YC

2xP
N G G
Width across flats KA -~ 2 x Cushion valve - 4xd
oCDH10
wm \ =A !
N @r_
w oi o Ve REA
Q| & 1L %\_
P= N
= a
Width across flats B1 H1 = 1 1 Eb @ REB
AL
A ||k N Ul REC
F| LN
H S + Stroke L m
Z + Stroke RR Low
ZZ + Stroke Speed
(mm)
B"(:ﬁnﬁ')ze A | A | B | B | C CDH10 cx D | E F | G | H | H J K | Ka ma
40 30 | 27 | 60 | 22 | 44 10°9%¢ 1501 16 | 32 [ 10 | 15 | 51 8 | M8x125| 6 14 _ |RHC
50 35 32 70 27 52 12370 1833 20 40 10 17 58 11 [ M8x1.25| 7 18
63 35 32 85 27 64 167307 25391 20 40 10 17 58 11 [ Mi0x125| 7 18 ‘RZQ
80 40 | 37 [ 102 | 32 78 2079% 31.531 25 | 52 14 | 21 71 13 | M12x175 | 10 22
100 40 37 | 116 | 41 92 25%0% 35.551 30 52 14 21 72 16 [ M12x1.75 | 10 26
SR e L MM N P |RR | S u z | zz
(mm)
40 30 M14x15 | 27 | 1/4 | 10 | 84 | 16 | 165 | 175
50 35 M18x1.5 | 30 | 3/8 [ 12 | 90 | 19 [ 183 | 195
63 40 M18x1.5 | 31 | 3/8 | 16 | 98 | 23 | 196 | 212
80 48 M22x1.5 | 37 | 1/2 | 20 | 116 | 28 | 235 | 255
100 58 M26x1.5 | 40 | 1/2 | 25 | 126 | 36 | 256 | 281
Double Clevis: CA2YD
V]
[ Hole diameter: 9CDr1o
Shaft diameter: 0CDag
G 2xP G
Width across flats KA 2 x Cushion valve 4xd
MM =]
N
w of FH t ol m
Hi =S/ HEHE |
Width across flats B1 /| AL, | CX
A K N
F| [N ] €z
H S + Stroke L C
Z + Stroke RR1 B
ZZ + Stroke
* A pin and retaining rings are shipped together with double clevis and/or double knuckle joint. (mm)
B"(ﬁ;')ze A |[AL| B | B | C | CDHo cx czZ| D | E|F |G| H/|H & K | KA
40 30 | 27 | 60 | 22 | 44 10'0%® 15193 295 | 16 | 32 10 15 | 51 8 |M8x125] 6 14
50 35 | 382 | 70 | 27 | 52 TR 18103 38 | 20 | 40 | 10 [ 17 | 58 | 11 |[M8x1.25]| 7 18
63 35 | 32 | 85 | 27 | 64 167907 25192 49 | 20 | 40 | 10 | 17 | 58 | 11 [M10x125] 7 18
80 40 | 37 [ 102 | 32 | 78 20%0% 31.5:33 61 25 | 52 | 14 | 2 71 13 |M12x1.75| 10 | 22
100 40 [ 37 | 116 | 41 92 25'0%% 355103 64 | 30 | 52 | 14 [ 21 72 | 16 [M12x1.75] 10 | 26
Bolcies L MM N | P |RRM|RR2| S | U | Zz |2z
(mm)
40 30 | M14x15 [ 27 | 1/4 [ 10 | 16 | 84 | 16 | 165 | 175
50 35 | M18x1.5 | 30 | 3/8 [ 12 [ 19 | 90 [ 19 [ 183 | 195
63 40 | M18x15 | 31 [ 3/8 | 16 | 23 | 98 | 23 | 196 | 212
80 48 | M22x15 | 37 [ 1/2 | 20 | 28 [ 116 | 28 | 235 | 255
100 58 | M26x1.5 | 40 | 1/2 | 25 | 235] 126 | 36 | 256 | 281

« A clevis pin, flat washers and split pins are included.



CA2Y series

Center Trunnion: CA2YT

Z + 1/2 Stroke 2 x Cushion valve
Width across G p G
flats KA 2x
fd R s
B =] L Py 1
z y of e
= ( N [
H L B ] T
AL
ALK T, N
F N
H S + Stroke
ZZ + Stroke
(mm)
B"(:jr:')ze A|A| B | B | C D E F G H | Hi J K | KA MM N P
40 30 | 27 | 60 | 22 | 44 | 16 | 32 | 10 | 15 | 51 8 | M8x125]| 6 14 | M14x15] 27 | 1/4
50 35 | 32 | 70 | 27 | 52 | 20 | 40 | 10 | 17 | 58 | 11 |M8x1.25]| 7 18 | M18x1.5| 30 | 3/8
63 35 | 32 | 85 | 27 | 64 | 20 | 40 | 10 | 17 | 58 | 11 |Mi0x125]| 7 18 | M18x15] 31 | 3/8
80 40 [ 37 [ 102 [ 32 | 78 | 25 | 52 | 14 [ 21 71 13 [M12x1.75] 10 | 22 [ M22x15] 37 | 1/2
100 40 [ 37 | 116 | 41 92 [ 30 | 52 [ 14 | 21 72 | 16 [M12x1.75] 10 | 26 | M26x1.5] 40 | 1/2
Bolcks s TDes T X | TY (T2 | z | 2z
(mm)
40 84 15352 22 | 85 | 62 | 117 | 93 | 140
50 90 15002 22 | 95 | 74 | 127 | 103 | 154
63 98 183%2 28 | 110 | 90 | 148 | 107 | 162
80 116 25008 34 | 140 | 110 | 192 | 129 | 194
100 126 2505 40 | 162 | 130 | 214 | 135 | 206

+ Do not disassemble the trunnion type. (Refer to the standard type.)

204



Smooth Cylinder CA2Y Series

Trunnion and Double Clevis Pivot Bracket

@ Strength is the same as cylinder brackets.

Type
Boresize|  ca20140 | CA20050 | CA2063 | CA20180 | CA201100
Description
Trunnion pivot bracket CA2-S04 CA2-S06 MB-S10
Double clevis pivot bracket CA2-B04 ‘ CA2-B05 CA2-B06 CA2-B08 ‘ CA2-B10

* Order 2 trunnion pivot brackets per cylinder.

Trunnion pivot bracket TE

Material: Cast iron

Z + 1/2 Stroke

I al w
Bl x|l F
=
Bl [Z]
i v N
TC
(mm)
Part no. B‘ﬁr:')ze TA | TL | TU | TC | TX | TE | TO | TR | TT | TS | TH | TF | TY | Z | TD-H10 (Hole)
40 80 | 60 | 10 | 102 | 85 | 119 | 17 9 17 | 12 | 45 | e0 | 62 | 93 157
CA2-S04 oo
50 80 | 60 | 10 | 112 | 95 | 129 | 17 9 17 | 12 | 45 | 60 | 74 | 103 15%
CA2-506 63 100 | 70 | 15 | 130 | 110 | 150 | 20 | 11 | 22 | 14 | 55 | 73 | 90 | 107 B
MB-S10 80 120 | 90 | 15 | 166 | 140 | 192 | 26 | 135 | 24 | 17 | 75 | 100 | 110 | 129 255
100 120 | 90 15 | 188 | 162 | 214 | 26 | 135 | 24 17 75 | 100 | 180 | 135 2579
Double clevis pivot bracket
Material: Cast iron
Z + Stroke
'S
a
Be
Rotating Angle
Bore size (mm) | A° | B° A° + B° +90°
40
to 12° | 60° 162°
100 T
(mm)
Part no. B°(:Te]ms'lze DA | DL | DU | DC | DX | DE | DO | DR | DT | DS | DH | DF | B | Z | DDH10 (Hole)
CA2-B04 40 57 35 11 65 15 85 10 9 17 8 40 52 60 | 165 1079
CA2-B05 50 57 | 35 | 11 | 65 | 18 | 85 | 10 9 17 8 40 | 52 | 70 | 183 1237
CA2-B06 63 67 | 40 | 135 | 80 | 25 | 105 | 125 | 11 22 | 10 | 50 | 66 | 8 | 196 167
CA2-B08 80 93 | 60 | 165 | 100 | 315 | 130 | 15 [ 135 | 24 | 12 | 65 | 90 | 102 | 235 2075
CA2-B10 | 100 93 | 60 | 165 | 100 | 355 | 130 | 15 | 135 | 24 | 12 | 65 | 90 | 116 | 256 257%

X ||}
m|m
@ || =

)
m
En

o
@® =

)=
®
o

Z|[=|[=
N || X
olla|e



Y Type Double Knuckle Joint

Shaft diameter gNDus

Split pin

Hole diameter sNDxo

MM

Flat washer:
Polished round

&y

7
DI

oE1

Ez‘r

xIN
zlz—'

72

A

Clevis Pin/Knuckle Pin

2 xod

oDas

CAZ2Y series
Dimensions of Accessories

Material: Cast iron (mm)

Applicable ™ Flat

Part | esie |Ar|Ei|Di|Li| MM |RRi|Us [ND| NX |Nz| L | SPRPIN | yasher

no. (mm) 8 size
Y-0aD| 40 |22(24|10|55|Miax15[13|25|12| 1633 | 38 |555| 03 x 18¢ | FOlhed
round 12

Y-05D | 50,63 |27 |28 |14|60| M18x 15| 15|27 (12| 16337 | 38 |555| 03 x 18¢ Z‘ﬂfg:‘;
v-08D| 80 |37(36|18|71|M22x15[19|28|18| 2837 | 55 |765| o4 x25¢ | FOshed
round 18

v-10D| 100 |37(40|21|83|M26x15 |21 38|20 | 3083 | 61|83 | o4 x30e| O
round 20

= A knuckle pin, split pins and flat washers are included.
Material: Carbon steel (mm)
Applicable bore size d

Part o, [—b D9 | L [ ¢ | m | Dil '"Cllffd?d ﬂ":d“did
Clevis | Knuckle through| SP'ILPIN lat washer

cDP-2A| 40 — 103% | 46 | 38 | 4 | 3 | o3x18¢ |poishedround 10
CDP-3A 50 40,50,63 | 12335 | 555 |475| 4 3 | @3 x18¢ |Polished round 12
CDP-4A 63 — 169399 | 71 | 61 5 4 | o4x25¢ |Polihedound 16
CDP-5A = 80 18388 | 76.5(66.5| 5 4 | @4 x25¢ |Polishedround 18
CDP-6A| 80 100 | 20%% | 83 | 73| 5 | 4 | @4x30¢ |poishedromnd20
cop-7A| 100 — 253% | 88 | 78 | 5 | 4 | 04x36¢ |Polshedromnd2s

* Split pins and flat washers are included.

Rod End Nut (Standard)

fe

- O
Material: Free cutting sulfur steel (mm) Material: Rolled steel (mm)
Part |ipicetus| o | | g [ Ly | MM | R | Us | NDHO | NX Part no,/\PPlcable bore d H B c D
no. | size(mm) size (mm)
1-04A| 40 69 | 22 | 24 | 55 [M14x1.5[155| 20 | 129" | 165} NT-04 40 M14x 1.5 8 22 25.4 21
1-05A| 50,63 | 74 | 27 | 28 | 60 [M18x1.5[155]| 20 | 120" | 1633 NT-05 50, 63 M18x 1.5 11 27 31.2 26
1-08A 80 9137 |36 | 71 [M22x1.5/225| 26 | 189 | 2835} NT-08 80 M22 x 1.5 13 32 37.0 31
I-10A| 100 [105| 37 | 40 | 83 [M26x1.5/24.5| 28 | 20°0™ | 3033 NT-10 100 M26 x 1.5 16 41 47.3 39

® 206




CAZ2Y Series
Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

<Tie-rod mounting>

D-M9C/M9CIV D-Z701/Z80
D-M9OW/M9IWV D-Y5901/Y69L/Y7P/Y7PV
D-M9OA/M9CIAV D-Y7OW/Y7OWV
D-A90/A90IV D-Y7BA
LA Auto switch =Hs
Eg}*’ﬁjﬁ =L
2
HR =)
=Ci: =
il
D-A50/A60
D-A59W Auto switch
- =
i)
Rt Cel
i Tt
A 33 .lB
D-A30C
D-G39C/K39C G1/2
A 49

36
T E00
:TE’@ @’3:
Bt
v .—Lm
=
D-F501/J59 D-F500W/J59W
D-F5NT D-F5BA/F59F
Auto switch
=T ==}
- s il
! =4
=7 IS
A_l30 LB
D-A44C G1/2
/Applicable cable 0.D.: 06.8 to 911.5
B
=R TS
oy il
AT mil
fo = = g
D-P3DWA
A’j‘_‘ Auto switch =Hs
AR TS =f 7
zolle
D-P4ADW Auto switch
Az LB
Eqrf’mlJlEfﬂj =
Al L [e==h == iy
ey pil
= (1S

<Band mounting>
D-B501/B64/B59W

)
m
>

Auto switch ~Hs
T o e
BBl e :ﬁ: L&) |REC

= P

A_|.33 LIB
Low
D-A30] Speed
D-G39/K39 e |:
A 49 Applicable cable O.D.: 6.8 to ©9.6 M 0
B =H

.—Frr*'ﬂ—ﬁ. :TH—. . RHC

o T T e
W sl m‘ 5 o

LH-”%%: === :é " %
D-G501/K59 D-G5BAL
D-G50W/K59W D-G59F/G5NTL

Auto switch =Hs
i GgE
L h i1 %

A 33 = |8
D-A44

G1/2

Applicable cable O.D.: 06.8 to 811.5




CA2Y series

Auto Switch Proper Mounting Position (Detection at stroke end) and lts Mounting Height

Auto Switch Proper Mounting Position (mm)
Auto D-Y590] D-G39
switch D-Y69C] D-G39C
model | p-mor] D-Y7P D-F50] D-K39 g:ﬁgg‘]
D-M9LIV D-Y7PV D-J59 D-K39C | pronr
D-MOCIW | D-A9C] |D-Y7OOW D-F59F D-A50J D-B50J
D-MOCWV| D-A9CIV |D-y7owy | D-PSDWA| DPADW | pory | D-ASSW | DFSNT | ppgry | D-GSW | b pga
D-M9LIA D-Y7BA D-J59W D-A30 | i
D-M9LIAV D-Z70) D-F5BA D-A3CIC | " oo
D-Z80 D-A44
- D-B59W D-A44C
size AlB|A[B|A][B|]A[B|]A][B|]A][B|A][B|]A][B|A][B|]A[B]|]A]B
40 9 9 5 5 25| 25 45| 45 2 2 55| 55 3 3 105 | 105 | O 0 1 1 0 0
50 9.5 8.5 55| 45 3 2 5 4 25| 15 6 5 35| 25|11 10 0 0 1505 | 0 0
63 125 | 11.5 8.5 7.5 6 5 8 7 55| 45 9 8 65| 55|14 13 25 1.5 45| 35 | 3 2
80 165 | 135 | 125 | 9.5 | 10 7 12 9 95| 65 |13 10 105 | 75|18 15 6.5 3.5 85| 55 | 7 4
100 18 16 14 12 115] 95 [ 135 | 115 | 11 9 145 | 125 | 12 10 195|175 | 8 6 10 8 8.5 6.5
Note) Adjust the auto switch after confirming the operating conditions in the actual setting.
Auto Switch Mounting Height (mm)
Auto D-B5]
switch D-B64
model D-z70] D-B59W g'jggm
D oy DMV D280 |p-veer p-ostl | p-asD D-ASC] |D-F50W|D-A3CIC
D-MoCI |PMITIWV|D-ASCIV| V2™ | D-Y7PV | D-P3DWA D-PADW| "ot | D-G39 | D-Ad4 |D-A6L] |D-J59W |D-G39C | D-A44C
D-AgC] |P-MeCIAV Dy7BA |DYTOWV D-caLw| D-K39 D-A59W g—_l;ssglé D-K39C
D-Y700W D-K59W e
D-G5BA
Bore D-G59F
size Hs | Ht |Hs | Ht ([Hs | Ht |Hs | Ht [ Hs | Ht | Hs | Ht | Hs | Ht Hs Hs Hs Hs | Ht |Hs | Ht | Hs | Ht | Hs | Ht
40 30 30 |34 30 |31 30 |30 (30 |30 |30 |37.5| 35 |42.5/33 37 715 81.5 |38.5/31.5/38 |31.5| 73 69| 81 69
50 34 | 34 (38 34 |35 34 |34 (34 |34 (34 |(415| 39 |46.5|37.5| 42 76.5 86.5 (42 |35.5(42 |35.5| 785 77| 865 77
63 41 41 |44 41 [415| 41 |41 |41 |41 (41 |50 | 41 |52 |43 49 83.5 93.5 [46.5(43 |47 |43 | 855 91| 935 91
80 49.5| 49 |52.5| 49 |50 49 |49.5/49 |49.5/49 |58 | 49 |58.5|51.5| 57.5 92 102 53.5|51 |53.5|51 94 107 102 | 107
100 |56.5| 56 |61 56 [58.5| 56 |56.5|55.5|57.5(55.5|66 56 |66 |58.5| 68 102.5 1125 |61.5(57.5|61 |57.5{104 |121 {112 |121
Operating Range
(mm)
Bore size Bore size
Auto switch model Auto switch model
40 50 63 80 100 40 50 63 80 100
D-MOL/MOLIV D-Y59C/Y69]
D-MOLIW/MICIWV 45 5 55 5 6 D-Y7P/Y7LIV s 7 55 65 65
D-M9JA/M9LIAV D-Y7OIW/Y7OIWV
D-Y7BA
D-A9[ VA9V 75 8.5 9.5 9.5 10.5 D-F5L1/J59/F50W
D-Z7(1/Z80 85 7.5 9.5 9.5 105 D-J59W/F5BA 4 4 45 45 45
D-F5NT/F59F
D-A3[/A44
D-A3CIC/A44C D-G5L/K59/G5LIW
9 10 11 11 11 D-K59W/G5BA 5 6 6.5 6.5 7
D-A5C/A60] D-G5NT/G59F
D-B5L1/B64 D-G39/K39
9 9 10 10 1
D-G39C/K39C
DeASIW 13 13 i i 1 D-P3DWA 45 45 55 55 55
D-B59W 14 14 17 16 18 D-P4DW 2 2 25 2 45

* Values which include hysteresis are for guideline purposes only, they are not a guarantee (assuming approximately +30% dispersion) and may change substantially
depending on the ambient environment.

® 208



Auto Switch Mounting CA2Y Series

Minimum Stroke for Auto Switch Mounting

n: Number of auto switches (mm)

Auto switch Number of auto  [Mounting brackets other| Center trunnion
model switches mounted | than center trunnion 240 ‘ 250 263 280 2100
2 (Different surfaces
D-MoC] and same surface) 1 s 80 85 90 9%
D-MOCIW N 15440052 80+40 5% 85+405Y | 904+4005% | e5.40003%
(n=2,4,6,8..)Note1) (n=4,8,12, 16 )Notez) (n=4,8,12, 16 )Nmez] (n=4,8,12,1 ___)No«ez) (n=4,8,12,16-- )Nale?)
2 (Different surfaces
D-MOCIV and same surface) 1 0 55 60 65 0
D-M9IWV N 10+30 052 56+ 30 054 60+3005% | 65430052 | 70430050
(n=2,4,6,8- )No(el) (n=4,8,12, 16 ) Note 2) (n=4,8,12,16-)N9e2 | (1=4,8,12, 1 -)NM) (n=4,8,12, 16-- ;N°'e2l
2 (Different surfaces 15 80 85 95 100
and same surface) 1
D-M9[JA _ N B _ _
N 15+ 40052 80+ 40054 85+4005% | 95040059 | 100+ 40052
(=2, 4,6,8-)Noe 1) (n=4,8 12, 16...) Note?) (n=4,8,12,16)\%2) | (n=4,8, 12, 16-) V2 | (1= 4,8, 12, 16 Noe2)
2 (Different surfaces
and same surface) 1 10 60 65 70 75
D-M9IAV , B B N B
g N 10+30052 60+30 054 65+3005% | 70430058 | 75,5058
(=2, 4,6,8-)Noe 1) (n=4,8 12, 16..) Note2) (n=4,8,12,16--)N9¢2)| (n=4, 8,12, 16-)N0e2)| (n = 4, 8, 12, 16) Noe2)
2 (Different surfaces
and same surface) 1 15 s 80 85 90
D-A9C] _ _ _ _ _
N 15440052 75+ 40054 80+4005% | 85.+4005% | o040l
(1=2,4,6,8-)Note 1) (n=4,8,12,16--)Note2) (n=4,8,12,16-)Ne2 | (n=4,8, 12, 16-) N2 (n=4, 8, 12, 16-) Noe2)
2 (Different surfaces
and same surface) 1 10 50 55 60 65
D-A9CIV _ _ _ N
N 10430052 50+30 054 60+30% | 65430059
(n=2,4,6,8-)Noe 1) (n=4,8,12, 16...)Note2) (n=4,8,12,16.-)Nte2) | (1 =4, 8, 12, 16.-) Note2)
2 (Different surfaces
g-‘F\ggllJAss and same surface) 1 5 90 100 1o 120
D-FSCIWMSOW | | o ey | 15+55 -2 90+ 55 024 100+55054 | 110455059 | 120455052
D-FSBA/FS9F (0=2,4,6, 8.9 (n=4, 8,12, 16-)Note2) (024,8,12,16-015 (124, 12,1690 (14,8, 12, 169052
2 (Different surfaces 20 % 100 110 120
and same surface) 1
D-AS9W n (Same surface) | 20+ 5550 90+55 054 100455058 | 1104550548 | 120455054
(=2, 4,6,8-)Noe 1) (n=4,8 12, 16...) Note?) (n=4,8,12,16--)9¢2)| (n=4,8, 12, 16~ )Nmsz (n=4,8,12,16-)Noe2)
1 15 90 100 110 120
2 (Different surfaces
and same surface) 1 25 110 120 130 140
D-F5NT _ _ _ _ _
n (Same surface) | 25+ 555 110 +55 059 120455059 | 130455059 | 140455052
(n=2,4,6,8-)Note 1) (n=4,8,12,16...)Note 2 (n=4,8,12,16-)N9e2 | (n=4,8, 12, 16- )Nm92 (n=4,8,12, 16.-)Noe2)
Different surfaces 15
-| 90 100 110
g gg%ﬁgg Same surface 75
(-2 -4 (-4 -4
D-G51W Different surfaces 15+50°— 90 + 50— 100 + 50 110 + 50—
D-K59W n (n=2,4,6,8.)Note) (=4, 8,12, 16...)Note2) (n=4,8,12, 16 Noe2) (n=4,8,12, 16...) Note 2)
g'ggsp same surface | 75 +50(n-2) 90 +50 (n -2) 100 + 50 (n - 2) 110+ 50 (n - 2)
D-GSNT (n=2,3,4-) (n=2,4,6,8..)Note1) (n=2,4,6,8.)Note) (N=2,4,6,8.)Nte)
1 10 90 100 110
Different surfaces 20
1 1
Same surface 75 © © 0
(n-2) n-4) (n-4) n-4)
Different surfaces 20 +50 90 +50 100 + 50 7 110 +50
D-B59W n (n=2,4,6,8-)Note 1) (n=4,8,12,16...)Note2) (n=4,8, 12, 16.)Noe2) (n=4,8,12,16..)Note2)
Same surface 75+50(n-2) 90 +50 (n-2) 100 +50 (n-2) 110+50 (n-2)
(n=234-) (N=2,4,6,8)Note 1) (n=2,4,6,8-)Noe) (n=2,4,6,8-)Nte)
1 15 90 100 110

Note 1) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
Note 2) When “n” is an odd number, a multiple of 4 that is larger than this odd number is used for the calculation.

|0V | =
m|im|m
Q||| =

= |5
o|&=

x| N
N | X
oo



CA2Y series

Minimum Stroke for Auto Switch Mounting

n: Number of auto switches (mm)

Auto switch Number of auto  [Mounting brackets other| Center trunnion
model switches mounted | than center trunnion 240 ‘ 250 263 280 ‘ 2100
Different surfaces 35 75 80 90
Same surface 100 100 100 100
D-A30] 35+30 (n-2) 75+30 (n-2) 80 +30 (n-2) 90 +30 (n-2)
D-G39 Different surfaces | " _ 5 3 4..) (n=2,4,86,8.)Note 1) (n=2,4,6,8-) Nt (n=2, 4,6, 8.)Note)
n
D-K39 Same surface 100 + 100 (n - 2) 100 + 100 (n - 2)
(n=2,3,4-) n=2,4,6, 8.)Note1
1 10 75 80 90
Different surfaces 35
2 Same surface 55 I 8 %
Different surfaces| 2 +3(1=2) 75+30 (n - 2) 80 +30 (n-2) 90 +30 (n-2)
D-A44 (n=2,34-) (n=2,4,6,8-)Nte) (n=2,4,6,8-)Nte) (n=2,4,6,8-)Nte
n
Same surface | 55 +50(1-2) 75+ 50 (n - 2) 80 +50 (n-2) 90 +50 (n-2)
(n=2,34-) (n=2,4,6,8.)Note1) (n=2,4,6,8..)Note1) (n=2,4,6,8..)Note)
1 10 75 80 90
2 Different surfaces 20 75 80 90
Same surface 100 100 100 100
D-A3[IC 20+35(n-2) 75+35(n-2) 80+35(n-2) 90 +35(n-2)
D-G39C Different surfaces |~ _ 53 4...) (N=2,4,6,8.)Note 1) (n=2,4,6,8)Note1) (N=2,4,6,8.)Note 1)
n
D-K39C Same surface 100 + 100 (n - 2) 100 + 100 (n - 2)
(n=2,3,4,5-) n=2,4,6, 8.)Note1
1 10 75 80 90
Different surfaces 20
2 Same surface 55 I 8 %
Different surfaces | 20+ 35 (=2) 75+35 (n-2) 80 +35(n-2) 90 +35 (n-2)
D-A44C (n=2,3,4-) (N=2,4,6,8.)Nte1) (1=2,4,6,8)Note 1) (N=2,4,6,8..)Note)
n
same surface | 55 +50(1-2) 75 +50 (n - 2) 80 +50 (n-2) 90 +50 (n-2)
(n=2,3,4.) (n=2,4,6,8)Note 1) (n=2,4,6,8-)Note 1) (n=2,4,6,8.)Note )
1 10 75 80 90
2 (Different surfaces
D-Z7(/280 and same surface) 1 15 80 85 90 95 105
D-Y59[/Y7P (n-2) (n-4) (n-4) (n-4) (n-4) (n-4)
D-Y7LW n 15+40052 80 +40 052 85+40 054 90 +40 052 95+4005% | 10544005
(n=2,4,6,8-)Noe )| (n=4,8 12,16-)Ne2) | (1= 4,8, 12, 16--) N2 | (=4, 8, 12, 16.-) Note2 | (n = 4, 8, 12, 16.-)Note2) | (n = 4, 8, 12, 16...) Note2)
e 0 o 75 ao so
D-Y69L/Y7PV
D-Y7OWV N 10+30 052 65+ 30 154 75+3005% | go4+3005Y 90+3005%
(n=2,4,6,8-)Nte ) (n=4,8,12,16-)Note2) (n=4,8,12,16-)N9¢2 | (n= 4,8, 12, 16-) N2 | (n=4,8, 12, 16-) Note2)
2 (Different surfaces 20 95 100 105 110
and same surface) 1
D-Y7BA - N _ _ _
N 20+45052 95+ 45024 100+450548 | 105445059 | 110445054
(=2, 4,6,8-)Note 1) (n=4,8,12,16.) Note2) (n=4,8,12,16--)N9¢2)| (n=4, 8,12, 16-) 02| (n = 4, 8, 12, 16) Note2)
2 (Different surfaces 15 85
and same surface) 1
D-P3DWA - _
N 15450 052 85+50 1%
(=2, 4,6,8-)Noe 1) (n=4,8,12,16.)Note?)
2 (Different surfaces 15 120 130 140
and same surface) 1
D-P4DW - N _ _
N 15+65 052 120 + 65 054 130 + 65 254 140 + 65054
(=2, 4,6,8-)Noe 1) (n=4,8 12, 16.)Note2) (n=4,8,12, 16.)Noe2) (n=4,8,12,16.) Note?)

Note 1) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.

Note 2) When “n” is an odd number, a multiple of 4 that is larger than this odd number is used for the calculation.

210



Auto Switch Mounting CA2Y Series

Auto Switch Mounting Brackets/Part No.

<Tie-rod mounting> <Band mounting>
Auto switch Bore size (mm) Auto switch Bore size (mm)
model 40 50 63 80 100 model 40 50 63 80 100
g_',\%%m&gng g‘égg’;:: BDS-04M | BDS-05M | BMB1-063 | BMB-080 | BMB1-100 | |pE
D-MOTIA/MOIAV BA7-040 | BA7-040 | BA7-063 | BA7-080 | BA7-080 i
D-ASLV/AILIV D-B5L/B64
D-B59W REB

D-A5[/A6L] D-G5[/K59
D-A59W D-GaCIW/Ksew| BH2:040 | BAS050 | BAF-06 | BAF-08 | BAF-10
D-F5[/J59 BT-04 | BT-04 | BT-06 | BT-08 | BT-08 D-G59F REC
D-F5[1W/J59W D-G5NT
D-F59F/F5NT
D-A3[IC/A44C Note 1) The auto switch mounting bracket is included in the D-A30JC/A44C/
D-G39C/K39C BA3-040 | BA3-050 | BA3-063 | BA3-080 | BA3-100 GB9C/K39C types. Specify the part number as follows depending on Low

= the cylinder size when ordering. Speed
D-Z7(/Z80 (Example) 940: D-A30JC-4, 050: D-A3[]C-5, 963: D-A3[]C-6, 280: ee
D-Y59[1/Y69[] D-A30IC-8, 6100: D-A3CIC-10 |:|V| Q
D-Y7P/Y7PV BA4-040 | BA4-040 | BA4-063 | BA4-080 | BA4-080 [Stainless Steel Mounting Screw]
D-Y7OIW/Y7CIWV X ! . . .
D-Y7BA The_followmg st_a\_nless steel mounting screw kit (|nclud|n_g set screws) is also RHC

available. Use it in accordance with the operating environment.

D-P3DWA BK7-040S | BK7-040S | BA10-063S|BA10-080S |BA10-080S (Since the auto switch mounting bracket is not included, order it separately.)

Y ¥ ¥ ¥ ¥ ¥ BBA1: For D-A5/A6/F5/J5 types
D-P4DW BAP2-040 | BAP2-040 | BAP2-063 | BAP2-080 | BAP2-080 BBAS: For D-B5/B6/G5/KS ypes RZQ

Note 2) Refer to pages 1047 and 1055 for details on the BBA1 and BBA3.
The above stainless steel screws are used when a cylinder is shipped with
D-F5BA or G5BA auto switches. When only an auto switch is shipped
independently, the BBA1 or BBA3 is attached.

Note 3) When using the D-MOTIA(V) or Y7BA, do not use the steel set screws
which are included with the auto switch mounting brackets above
(BA7-000, BA4-000). Order a stainless steel screw kit (BBA1)
separately, and use the M4 x 6L stainless steel set screws included in
the BBA1.

Note 4) There is a difference in the cylinder tube thickness depending on the
cylinder model. When a band mounting type is used as an applicable
auto switch and a cylinder model is changed, use caution.

+ The figure shows the mounting example for the D-A9CJ(V)/M9(V)/M9TIW(V)/MOTIA(V) types.

R e e e e e e e e e T R

I Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable. !
: Refer to pages 941 to 1067 for the detailed specifications. :
1 Type Model Electrical entry Features 1
1 D-A93V/A96V . —_ 1
Grommet (Perpendicular,
1 Reed D-A90V (Perpendicular) Without indicator light 1
1 D-A53/A56/B53/273/276 . — !
1 Grommet (In-line) - — - 1
; D-A67/Z80 Without indicator light 1
1 D-MONV/M9PV/M9BV _ 1
1 D-Y69A/Y69B/Y7PV 1
1 D-MONWV/M9PWV/M9BWV Grommet (Perpendicular) Diagnostic indication 1
1 D-Y7NWV/Y7PWV/Y7BWV (2-color indicator) 1
1 D-MONAV/M9IPAV/M9BAV Water resistant (2-color) 1
! ) D-Y59A/Y59B/Y7P !
1 Solid state — 1
1 D-F59/F5P/J59 1
1 D-Y7NW/Y7PW/Y7BW Diagnostic indication 1
1 D-F59W/F5PW/J59W Grommet (In-line) (2-color indicator) 1
1 D-F5BA/Y7BA Water resistant (2-color) 1
! D-F5NT/GSNT With timer 1
: D-P5DW Magnetic field resistant (2-color) :
| * With pre-wired connector is also available for solid state auto switches. For details, refer to pages 1014 and 1015. 1
1 *Normally closed (NC = b contact) solid state auto switches (D-MILIE(V)/Y7G/Y7H) are also available. For details, refer to pages 1592-1 and 961.
3

= = = @

o
211 ®



Smooth Cylinder

S2Y Series

2125, 3140, 160

How to Order

] C82Y|160| —|3oo| -]
I—l
wc?szv 60/ ]-300

With auto switch Number of auto switches
(Built-in magnet) =
Nil | 2pes.
Smooth cylinder 1 pc.
- 3 pes. IMade to Order
Mounting®&———— “n” pcs. Refer to page 213 for details.
B Basic .
L oot Bore size ch
F [ Rodflange 125 125 mm [ Nil_] without auto switch |
G Head flange 140/ 140 mm + For applicable auto switches,
C | Single clevis 160| 160 mm refer to the table below.
D | Double clevis ) )
T | Center trunnion Port thread type: Suffix for cylinder
Nil Rc J Nylon tarpaulin
TN NPT Rod boot K Heat resistant tarpaulin
Built-in Magnet Cylinder Model TF G A | With double-side cushion
If a built-in magnet cylinder without an With/without| R Wim rod Cushiw
auto switch is required, there is no need Cylinder stroke (mm) cushion H With head cushion
to enter the symbol for the auto switch. Refer to “Maximum Strokes” Nil Without cushion
(Example) CDS2YL125-200 on page 213. = When more than one symbol is specified, indicate

them in alphabetical order.

Applicable Auto Switches/Refer to pages 941 to 1067 for further information on auto switches.

e o Load voltage Auto switch model | Lead wire length (m) —
Type Special function lififez] M) Tietrodl|Band 05 | 1] 3|5 | W applicable load
enty | §| (Outeut) e AC | mounting | mounting | (Ni) || (L) | @] %™
3-wire (NPN) M9ON = [ ] ® ® O ¢} .
5V, 12V IC it
Grommet | [3-wire PNP)| 24v |°" — MoP — e |@e|@|O| O ered
5 —_— 2-wire 12V M9B = e (@ & O o —
-‘; Terminal 3-wire (NPN) 5V, 12V — G39 — —|—|— — IC circuit
3 conduit 2-wire 12V = K39 — === = —
o -
€ : . 3-wire (NPN) 5V 12V MINW — [ ] ® ® | O O 1C circut
1 Dlagnosng indication Ves| 3-wire (PNP) s MOPW — ° ele O 16} circuit| Relay,
9 (2-color indicator) h PLC
s 2-wire 24V 12V _ M9BW = ® (@ & O ¢} —
) 3-wire (NPN) M9ONA*! — O |O|@|O [e)
3 i Gi t - 5V, 12V ” IC circuit
S| Cooormiomon | | [vieeNe) MPAT | — | o |ole|o| o |°%
@ 2-wire 12V M9BA*! — O |[O|®@|O| O —
Diagnostic indication (2-color indicator) 4-wire (NPN) 5V,12V F59F = ® |—|®|O O |IC circuit
Magnetic field resistant (2-color indicator) 2-wire (Non-polar) — P3DWA — [ —|®|® [e) —
v uite (NPN equiveen) | — 5V — A96 — ® |—|®|—| — |[Ccircuit|] —
9 | 12V | 100V | A93 — o (ejeojo| — —
.'é‘ Grommet |No| 5V,12V|100Vorless) A90 = [ ] — | ® — _|ICcircuit| Relay,
) Yes| 100V,200V]  A54 = [ ) —1 e e — PLC
5 Yes|
2 No| 200Vorless|  A64 = e — | —| —
3 2-wi 24V
: Terminal wire 12V — — A33 — === = _ PLC
2 conduit — A34 — |[—=]=]=] =
[}
« DIN terminal| 100, 2000 [—— T —————— Reley,
Diagnostic indication (2-color indicator) | Grommet — — A59W — e — 0| —| —

=1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.
= Lead wire length symbols: 0.5 m Nil (Example) MONW 3m L (Example) MONWL
1m M (Example) MONWM 5m Z  (Example) MONWZ
= Solid state auto switches marked with “O” are produced upon receipt of order.
= Since there are other applicable auto switches than listed, refer to page 224 for details.
= For details about auto switches with pre-wired connector, refer to pages 1014 and 1015.
* The D-A90/MICI/MITIW/MOLIA/P3DWAL auto switches are shipped together, (but not assembled). (However, only the auto switch mounting brackets are assembled before shipment.)

212




Designed with a low sliding

resistance of the piston, this

air cylinder is ideal for applica-

tions such as contact pressure

control, which requires smooth

movements at low pressure.

Low sliding resistance
Min. operating pressure — 0.005 MPa

Auto switch mounting
is possible.

Smooth Cylinder CSZY Series

Application Example

Low friction cylinder is used in combination with precision regulator (IR series).

Driving roller Winding roller

Precision regulator

)
m
=

=
m
(-]

)
m
En

o
@ =

)=
@®
(=%

Specifications Ma
————
Bore size (mm) 125 140 160
Action Double acting, Single rod RZQ
Direction of low friction Both directions
Fluid Air
Proof pressure 1.05 MPa
Maximum operating pressure 0.7 MPa
. . Without auto switch: 0°C to 70°C .
Ambient and fluid temperature With auto switch: 0°C to 60°C (No freezing)
All ble leak Less than 0.5 L/min (ANR)
Cushion Without cushion* (manufacturable with cushion)
Symbol Lubrication . = No;re;q:lred (N:n-l:l:le)
; - ) . asic, Foot, Rod flange, Head flange,
Double acting/Without cushion Mounting Single clevis, Double clevis, Center trunnion
+ |f an air cushion is not used, set the energy at the stroke end to 0.36J (9125, 8140) or less,
0.3J (2160) or less.
Minimum Operating Pressure
—
Unit: MPa
Made t0
Made to Order \ Bore size (mm) [ 125 [ 140 160 \
Click here for details ‘ Minimum operating pressure ‘ 0.005 MPa* ‘
Symbol Specifications # If a cushion is used, this value will not include the operating pressure within the cushion stroke.
-XACI |Change of rod end shape
-XC3 |Special port position Maximum Strokes
-XC9 Adjustable stroke cylinder/Adjustable
retraction type (mm)
: Mounting
-XC1
C10 | Dual stroke cyl.lnder/DoubIe rod type _ — Basic, Head flange,
-XC14 | Change of trunnion bracket mounting position Single clevis, Double clevis Foot,
-XC15 | Change of tie-rod length Bore size Center trunnion Rod flange
_xC26 | With split pins for double clevis pin/double (mm)
knuckle joint pin and flat washers 125 1000 or less 1600 or less
_XC27 | Double clevis and double knuckle pins 140
magde of stainless steel 160 1200 or less 1600 or less
-XC30 | Rod side trunnion
-XC68 Made of stainless steel .
(with hard chrome plated piston rod) Accessories/For details, refer to page 221.
-XC86 | With rod end bracket
. A Rod | Head | Single | Double | Center
Refer to pages 222 to 224 for cylinders with auto itouit g 2= ol ol flange | flange | clevis | clevis |trunnion|
SR Standard | Clevis pin — | =1 =] =1T=1T e =
Auto switch proper mounting position (detection Rod end nut [ J [ J [ J [ J [ [ J [J
at stroke end) and its mounting height Single knuckle joint ° Y Y ° ° Y Y
* Minimum stroke for auto switch mounting " o
Option -
* Operating range P m;]hb:fntgslikmogglit pin) [ ] [ ] [ ] [ ) [ J [ ) [ ] D D
 Auto switch mounting brackets/Part no. !
Rod boot [ J [ J (] (] [ ] (] [J X1



http://www.smcworld.com/products/en/custom.do

CS2Y series

Mounting Brackets/Part No.

Rod Boot Material

Bore size (mm) 125 140 160
Foot* CS2-L12 CS2-L14 CS2-L16
Flange CS2-F12 CS2-F14 CS2-F16
Single clevis CSs2-C12 CS2-C14 CS2-C16
Double clevis™* CS2-D12 CS2-D14 CS2-D16

* Order

two foot brackets per cylinder.

+# When ordering the double clevis type, the clevis pin and 2 split pins are included as accessories.

Symbol Material Max. ambient temperature
J Nylon tarpaulin 70°C
K [Heat resistant tarpaulin 110°C*

* Maximum ambient temperature

for the rod boot itself.

Weights Replacement Parts: Seal kit.
——
(k)
Bore size (mm) 125 140 160 Bore size (mm) Kit no. Content
Basi 5.46 6.50 9.07 -
Fasu: 9 950 24 125 CS2Y125A-PS Without cushion
oot 7. .5 .45 .
140 cs2via0a-ps | - Rodseal Tre.
Rod flange 8.51 12.03 15.80 4$Isl§0n Seil 1pc.
i . 2 .
‘S;Z'ﬁt Head flange 8.51 12.03 15.80 160 CS2Y160A-PS ube gasket pos
Single clevis 8.53 10.79 14.56 125 CS2Y125AA-PS With single-side cushion
Double clevis 8.99 11.54 15.41 - Rod seal 1 pe.
Trunnion 9.59 12.23 15.47 140 CS2Y140AA-PS . C‘ushlon seal 2 pes.
- Piston seal 1 pc.
Additional weight with magnet 160 CS2Y160AA-PS | . Tube gasket 2 pes.
(With built-in magnet and auto switch) 0.07 0.07 0.08
- With single-side cushion
Additional weight per 100 mm of stroke 1.55 1.67 2.23 125 CS2Y125AR-PS . Rod se%l 1 pe.
Single knuckle 0.91 1.16 1.56 140 CS2Y140AR-PS | - Cushion seal 1 pe.
Ty — - Piston seal 1 pe.
Accessaries | DouDIe knuckle (Wit 1.37 1.81 2.48 160 CS2Y160AR-PS | . Tube gasket 2 pes.
Knuckle pin, Split pin)
« Seal kit does not include a grease pack.
Rod end nut 0.16 0.16 0.23 Order with the following part number when only the grease pack is needed.

Calculation: (Example) CS2Y160-500

© Basic Weight.-------wwweeeee

* Additional weight:
e Cylinder stroke-

500 (mm)

12.45 + 2.23 x 500/100 = 23.60 kg

Sliding Resistance

Grease pack part number: GR-L-005 (5 g), GR-L-010 (10 g),

GR-L-150 (150 g)

Sliding resistance (MPa)
(Converted into cylinder operating pressure)

® 214

: 3
0.010 o
. ///51 60|
0.005
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7
Pressure (MPa)




Smooth Cylinder CSZY Series

Relationship between Cylinder Size and Maximum Stroke

The below table shows the applicable maximum stroke (in cm units), found by calculation assuming
the case where the force generated by the cylinder itself acts as buckling force on the piston rod, or
piston rod and cylinder tube.

Therefore, it is possible to find the applicable maximum stroke for each cylinder size using the
relationship between the size of the operating pressure and the cylinder support type, regardless of
the load ratio.

[Reference] If it is stopped with the external stopper on the cylinder extension side, even with a light
load, the maximum generated force of the cylinder will act on the cylinder itself.

X || R
m|m
W || =

P REC
oy
Low
Mounting o Applicable maximum stroke according to buckling strength (cm) Speed
Support bracket nominal symbol Nominal (MPa) . am T MQ
and schematic diagram symbol
Foot:L | Fodflange: | Head flange: 03 108 92 113 RHC
E‘m L, F 0.5 79 70 86 RZQ
. 0.7 66 58 72
0.3 45 38 47
U G 0.5 33 27 34
0.7 26 22 27
Clevis: C, D e I 03 % 83 106
C,D 0.5 71 61 76
0.7 59 50 62
:' 0.3 135 119 147
T 0.5 101 89 111
0.7 84 74 91
Rod flange: | Head flange: 0.3 301 267 330
F G
L, F 0.5 231 207 253
0.7 193 172 212
0.3 144 126 156
G 0.5 109 94 118
0.7 90 78 97
0.3 433 386 476
L, F 0.5 334 297 367
0.7 281 250 309
0.3 210 185 229
G 0.5 160 141 175
0.7 134 117 129
D-J
-Xd



(\)

® 216



Dimensions

Basic: CS2YB
With rod boot

Smooth Cylinder CSZY Series

Width across flats KA G G_ wv_
2xP 4xd Cushion valve
MM (Re, NPT, G) — REA
—H 1 =
=S == t
N REB
** ; ’ REC_
RE
NIE * o
A | |.FIN s
h+e¢ e N oc Low
H S + Stroke M [m:} Speed
ZZ1 + ¢ + Stroke
ZZ + Stroke
Ma
(mm)
B‘ﬁ;i)ze A | A | DB |oOc| b | E F | G J vV |w | kK | ka | m MM RHC
125 50 47 143 115 32 71 43 15 M14x 1.5 15 17 15 27 27 M30x 1.5 RZQ
140 50 47 157 128 32 71 43 15 M14x 1.5 15 17 15 27 27 M30x 1.5
160 56 53 177 144 38 78.5 42 18 M16x 1.5 15 20 17 34 30.5 M36 x 1.5
(mm)
Bore size N P s Without rod boot With rod boot
(mm) H 2z e f h ¢ 2z1
125 30.5 1/2 98 110 | 235 75 40 133 1/5 Stroke 258
140 30.5 1/2 98 110 | 235 75 40 133 1/5 Stroke 258
160 34.5 3/4 106 120 | 256.5 75 40 141 1/5 Stroke 277.5
* The minimum stroke with rod boot is 30 mm or more.
«# For auto switch mounting position and its mounting height, refer to page 222.
s Refer to “Minimum Stroke for Auto Switch Mounting” on page 223.
Foot: CS2YL
With rod boot H S + Stroke
K
Width across flats KA A F |G G Port wvVv
AL 2xP 4xd Cushion valve
MM (Re, NPT, G)
1 ¥ ==
== == t
L N N
g ] 1H—Tery 81y <l ° ® >
wxaso | TSR
e=l Al (B = 1
- M= — © €
ot == S A
] AL x N N x [y L]
h+¢ LS + Stroke oc
ZZ1 + ¢ + Stroke ZZ + Stroke B
(mm)
B‘z:ﬁnﬁi)ze A|A [B| B |Oc|D|E|F | a J V| W | K |Kh|LD|LH|LS
125 50 47 143 143 115 32 71 43 15 M14x1.5 15 17 15 27 19 85 | 188
140 50 47 157 157 128 32 71 43 15 M14x 1.5 15 17 15 27 19 100 | 188
160 56 53 177 177 144 38 78.5 42 18 M16x 1.5 15 20 17 34 19 106 | 206
(mm)
Bore size Without rod boot With rod boot
LT LX LY MM N P X Y
(mm) S H 2z e f h ¢ 721
125 8 100 | 156.5| M30x 1.5 30.5 1/2 98 45 20 110 273 75 40 133 1/5 Stroke 296
140 9 112 | 1785| M30x 1.5 30.5 1/2 98 45 30 110 283 75 40 133 1/5 Stroke 306
160 9 118 | 1945| M36x1.5 345 3/4 106 50 25 120 301 75 40 141 1/5 Stroke 322 D.|:|
* The minimum stroke with rod boot is 30 mm or more.
## For auto switch mounting position and its mounting height, refer to page 222. 'XD

i Refer to “Minimum Stroke for Auto Switch Mounting” on page 223.

217



CS2Y series

Dimensions
—
Rod flange: CS2YF
Port
With rod boot
Width across flats KA ) G 4xd wyv_
2xP 4 xoFD Cushion valve
MM (Rc, NPT, G) xo ~n e
H s = HH =
B ORI O
N r‘
j wlq] ° of o &
= AL | [FT T ] T
T ac
het A | F N N )
ZZ1 + ¢ + Stroke *ka S + Stroke M FX
ZZ + Stroke FZ
(mm)
B‘z:ﬁ ms')ze A | A | 0B| B |OC| D E F | FD | FT | FX | FY | FZ | G J v
125 50 47 143 145 115 32 71 43 19 14 190 100 230 15 M14x 1.5 15
140 50 47 157 160 128 32 71 43 19 20 212 112 255 15 M14x 1.5 15
160 56 53 177 180 144 38 78.5 42 19 20 236 118 275 18 M16x 1.5 15
(mm)
Bore size Without rod boot With rod boot
w K KA M MM N P S
(mm) H zz e f h ¢ [73)
125 17 15 27 13 M30x 1.5 30.5 12 98 110 221 75 40 133 1/5 Stroke 244
140 17 15 27 13 M30x 1.5 30.5 1/2 98 110 221 75 40 133 1/5 Stroke 244
160 20 17 34 15 M36 x 1.5 34.5 3/4 106 120 241 75 40 141 1/5 Stroke 262
* The minimum stroke with rod boot is 30 mm or more.
## For auto switch mounting position and its mounting height, refer to page 222.
i Refer to “Minimum Stroke for Auto Switch Mounting” on page 223.
Head flange: CS2YG
Port
With rod boot
Width across flats KA -G p G 4xd wv_
2x 4xoFD Cushion valve
MM (Re, NPT, G) X0
= " Lo %o
=1 o o ‘
LR ey ¢ e o o eF T
—F : | : {?
EE1m LAL | | =R | o
¢ | f A | |[_.F |N
he N L1 oc
7z H S + Stroke FT 0B
1+ ¢ + Stroke 77 + Stroke FX
FZ
(mm)
B‘zﬁrﬁi)ze A | A |oB| B |OCc| D | E F | | FT [ X | FY | FZ | @ J v
125 50 47 143 145 115 32 71 43 19 14 190 100 230 15 M14x 1.5 15
140 50 47 157 160 128 32 71 43 19 20 212 112 255 15 M14x 1.5 15
160 56 53 177 180 144 38 78.5 42 19 20 236 118 275 18 M16x 1.5 15
(mm)
Bore size Without rod boot With rod boot
w K KA MM N P
(mm) s H 2z e f h ¢ 2z
125 17 15 27 M30x 1.5 30.5 1/2 98 110 222 75 40 133 1/5 Stroke 245
140 17 15 27 M30 x 1.5 30.5 1/2 98 110 228 75 40 133 1/5 Stroke 251
160 20 17 34 M36 x 1.5 34.5 3/4 106 120 246 75 40 141 1/5 Stroke 267

* The minimum stroke with rod boot is 30 mm or more.
«# For auto switch mounting position and its mounting height, refer to page 222.

«#+ Refer to “Minimum Stroke for Auto Switch Mounting” on page 223.

218



Smooth Cylinder CSZY Series

Dimensions
Single clevis: CS2YC

With rod boot

Width across flats KA G G Port wv REA
- 2xP oCDH10  4xJ Cushion valve
(Re, NPT, G) REB
- . {2}
N ]J l, REC
2]
ki B [
=E = O o) Low
AL LY Speed
h+e A F N N |eT cX Ma
Z1 + ¢ + Stroke L oc
ZZ1 + ¢ + Stroke H S + Stroke L cB RHC
Z + Stroke RR
ZZ + Stroke RZQ
Double clevis: CS2YD
With rod boot
Width across flats KA .G_ .G_ Port wv
MM 2xP oCD hole H10 4xd Cushion valve
- (Rc, NPT, G) Axis d9
it SE i ; {2}
NN 0|
0w DI & P P\.\ n 3
Ofsl = N4 N /\g kil
=E 2 (o8 o)
| AL
he¢ A F|N N | cT €X
Z1 + ¢ + Stroke L cz
ZZ1 + ¢+ Stroke H S + Stroke L ac
Z + Stroke RR OCB
ZZ + Stroke
(mm)
Bore size Single clevis| Double clevis
A AL OB O JCB | CD CcT D E F G J Vv w
(mm) c|me e cX | ox | cz
125 50 47 143 | 115 | 145 | 257%™ 17 32383 | 32187 643, 32 4 43 15 M14x 1.5 15 17
140 50 47 157 | 128 | 160 | 289%™ 17 3635 | 3617 72352 32 4 43 15 M14x 1.5 15 17
160 56 53 | 177 | 144 | 180 | 32%'° | 20 | 4033 | 4033 | 803, | 38 | 785 | 42 18 M16x 1.5 15 20
(mm)
Bore size Without rod boot With rod boot
K KA L MM N P RR
(mm) s v H z 2z e f h ¢ Z1 | Zza
125 15 27 65 |M30x1.5| 30.5 | 1/2 98 35 29 110 | 273 | 302 75 40 133 |1/5 Stroke| 296 | 325
140 15 27 75 |M30x1.5| 30.5 | 1/2 98 40 32 110 | 283 | 315 75 40 133 |1/5 Stroke| 306 | 338
160 17 34 80 |M36x1.5| 345 | 3/4 106 45 36 120 | 306 | 342 75 40 141 |1/5 Stroke| 327 | 363 D-D
* The minimum stroke with rod boot is 30 mm or more.
«# For auto switch mounting position and its mounting height, refer to page 222. 'XD

=+ Refer to “Minimum Stroke for Auto Switch Mounting” on page 223.

219



CS2Y series

Dimensions

Center trunnion: CS2YT

With rod boot

Z + 1/2 x Stroke

Width across flats KA G G Port WV
7 2xP r 4xd [T T Cushion valve
Z1 + ¢+ 1/2 x Stroke . W
1 \ @ e t g
< FE
|| N N\ EN s
o | . [ o] w o ! PN >
) < E) O f f < [
e 7
= Y |
AL —
¢ | f -
) F |.N N
h+¢ " " BN oc
ZZ1 + ¢ + Stroke - 0B
H S + Stroke M X
ZZ + Stroke TZ
(mm)
B‘z:ﬁms')ze A | AL | OB |DOC| D | E F | G V| W | K |K| M MM N
125 50 47 143 115 32 71 43 15 M14x1.5 15 17 15 27 13 M30 x 1.5 30.5
140 50 47 157 128 32 71 43 15 M14x 1.5 15 17 15 27 13 M30x 1.5 30.5
160 56 53 177 144 38 78.5 42 18 M16x 1.5 15 20 17 34 15 M36 x 1.5 34.5
(mm)
Bore size Without rod boot With rod boot
P R S TD. TT X TY TZ
(mm) 8 H]z [z ]|e [t [hn ¢ z1 | zz1
125 12 1 98 3270060 50 170 164 234 110 159 221 75 40 133 1/5 Stroke 182 244
140 1/2 1.5 98 3656 55 190 184 | 262 110 159 | 221 75 40 133 1/5 Stroke 182 | 244
160 3/4 1.5 106 | 4000 60 212 | 204 | 292 120 173 | 241 75 40 141 1/5 Stroke 194 | 262

220

# The minimum stroke with rod boot is 30 mm or more for 8125, 140 and 35 mm or more for 8160.
For auto switch mounting position and its mounting height, refer to page 222.
Refer to “Minimum Stroke for Auto Switch Mounting” on page 223.



CS2Y Series

Dimensions of Accessories

1 Type Single Knuckle Joint*

Knuckle Pin/Clevis Pin

A2
won [ a REA
D
o] 4| REB
Ut
L
: Material: Cast iron Material: Carbon steel REc
(mm) (mm)
% ppicable Applcable Applicable
Partno,|boresize| A1 | Az [Ev[Li| MM | NDwo | NX |RRi| Us Patno.[boesze| Do | L | Lo |m |, d [*PE
(mm) (m) yiltough)| ~ split pin Low
I-12A| 125 | 8 54|46 |100|M30 x 1.5| 25°3% | 3231 |27]33 Iv-12| 125 | 25395 |795/695| 5 | 4 |o4x40 |Speed
I-14A| 140 | 8 |54 |48|105/M30x 1.5| 28°3%¢ | 3673 |30|39 IY-14| 140 | 2853%% [865|765| 5 | 4 |04 x40 MO
1-16A| 160 | 8 |60 |55 |110|M36 x 1.5| 32*3" 4053|3439 1Y-16| 160 | 320%% |945(845| 5 | 4 |o4x40
* Split pins are included. RHC
Y Type Double Knuckle Joint* Rod End Nut RzQ
———
oND hole H10 MM A
Shaft &8 NI g
T—,— ] 9
Yl ] s
o B
u, Material: Cast iron
— L (mm) Material: Rolled steel
Appiicable (mm)
.[boresize| A1 | E1 [ La | MM ND#1o NX NZ |RRi| U -
i) Partno.|teee| d | H | B |c|D
125 | 8 |46 |100|M30x1.5| 2573° | 32183 | 643} |27|42 | (mm)
140 | 8 |48 |105|M30x 1.5| 28°6°*| 36167 | 72355 |30|47 NT-12 | 125,140 M30x 1.5| 18 | 46 |53.1| 44
160 | 8 |55|110|M36x 1.5| 32°¢' | 40i57 | 8055 |34|46 NT-16 | 160 |[M36x 1.5 21 | 55 [63.5| 53
« Use a single knuckle joint or a double knuckle joint individually.
(Screw it entirely over the rod end threads and tighten it.)
« Extend the dimensions of A, H. when using a single/double knuckle joint together with a rod end nut.
(To extend dimensions A, H, refer to the below table, and specify the product as made-to-order -XAQ.)
# A pin and split pins are included with the double knuckled joint.
@ “Made to Order” with rod end bracket (-XC86) is available when ordering cylinders and
accessories together. Refer to page 1221 for details.
Single/Double Knuckle Joint
—
H
A a
\_t T
i)
F ol
- j
—H
L - =
1
Hi
A, H Dimensions when Mounting a
(mm) Single/Double Knuckle Joint together
Symbol Applicable knuckle joint part number with a Rod End Nut (mm)
Bore H A a L1 H1 - i
size (mm) I type single knuckle | Y type double knuckle Bore size (mm) A H
125 110 50 3.5 100 156.5 I-12A Y-12A 125 65 125 D'I:l
140 110 50 3.5 105 161.5 I-14A Y-14A 140 65 125
160 120 56 3.5 110 | 170.5 I-16A Y-16A 160 76 140 'XD

221



CS2Y series
Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

<Band mounting>

D-A30
D-G3/K3

<Tie-rod mounting>
D-M9CI/MOCIV
D-M9OIW/M9CIWV
D-M9CJA/M9LIAV

D-Z701/Z280
D-Y5901/Y69LI/Y7P/Y7PV
D-Y7OW/Y70O0WV

<Applicab\e cable O.D> D-A9C1/A9CIV D-Y7BA
G1/2\26.8 to ©9.6
A__49 S A Auto switch ~Hs
=) =)
—=1] s T o
=1 j& =0 VS
=Z e =2 S
36 s (s
Auto switch
D-A44 (Ag%liﬁablg gable 0.D> D-A501/A60]
G1/2\06.8 to 09.
A__ 34 A_33 Auto switch =Hs
==t S B H =
=] —
— 1] = g o
= S5 =R Wi
= =S = il
i i == "
26 I B
Auto switch * The indicator light faces
the inside.
D-F501/J59/D-FSNT D-P3DWA
D-F5BA/F59F
D-F500W/J59W
A% Auto switch =Hs A, Auto switch =Hs_
=Satns =R 1 = ! EW
=l S T G
Ex
B B
Auto Switch Proper Mounting Position (mm)
Auto switch| D-M9L] D-Z700/z80 | D-A50 D-F50W
model| p-MoCIV D-Y50/Y6L] | D-A60 D-J59W
D-M9CIW D-A90 D-Y7P/Y7PV| D-A30 D-F5BA
D-M9OWV | D-A9CIV |D-YZOW D-Asa | D-ASSW | ppsp S || D
D-M9CIA D-Y7OWV D-G39 D-J59
D-M9CIAV D-Y7BA D-K39 D-F59F
Bore size A B A B A B A B A B A B A B A B
125 13 12 9 8 6.5 5.5 3 2 7 6 9.5 8.5 145 | 135 | 85 7.5
140 13 12 9 8 6.5 5.5 3 2 7 6 9.5 8.5 145 | 135 | 85 7.5
160 13 12 9 8 6.5 5.5 3 2 7 6 9.5 85 | 145 | 135 | 85 7.5
« Provided as guidelines for auto switch proper mounting position (detection at stroke end).
Adjust the auto switch after confirming the operating condition in the actual setting.
Auto Switch Mounting Height (mm)
Auto switch D-Z701/Z280 D-F50]
model| D-M9CI D-Y50/Y60 D-J59
D-M9COW | D-M9OV  |D-Y7P D-A30 D-A50 D-F500W
D-M9CJA | D-M9OWV |D-Y7PV D-G39 D-A44 D-A60] D-J59W D-P3DWA
D-A90] D-M9UAV |D-Y70I D-K39 D-A59W D-F5BA
D-A9CIV -Y7OWV D-F59F
D-Y7BA D-FSNT
Bore size Hs Ht Hs Ht Hs Ht Hs Hs Ht Hs Ht Hs Ht
125 69 69.5 | 71.5 | 69.5 69 69.5 116 75.5 | 69.5 | 745 | 70 76 69.5
140 76 76 775 | 76 76 76 124 81 76.5 | 80 76.5 82 76
160 85 85 86 85 85 85 134.5 144.5 89 87.5 | 88 87.5 91 85

222



Auto Switch Mounting CSZY Series

Minimum Stroke for Auto Switch Mounting

n: Number of auto switches (mm)

Auto switch e & cule Sriies Mounting brackets other Center trunnion
model than center trunnion 2125 2140 2160
With 2 pes. (Different surfaces,
N Same surface), With 1 pc. 15 105 110 15
D-M9L] "3 =) =) -4 REA
D-MOCIW With n pes. 15+40 5 105 + 40 152 110 +40 5 15 +40 5
(N1=2,4,6,8-)Note!) | (n=4,812, 16-)Note2 | (n=4,8,12,16-)Note?) | (n=4,8, 12, 16.) Note?)
With 2 pes. (Different surfaces, REB
N 10 80 85 920
D-M9OLCIV Same surface), With 1 pc. ; : ) : ; (
. (n-2 n—4 n-4 n-4)
D-MOCIWV With n pos. 1043015 80+30 ;% 85+30 "% 90+30 5% REC
(N=2,4,6,8-)Note!) | (n1=4,812,16-)Noted | (n=4,8,12, 16--)Note2) | (n=4,8, 12, 16...)Note2)
With 2 pes. (Different surfaces, m
g Same surface), With 1 pc. 20 15 120
CHARER . 20+40052 115 + 40 159 120 + 40 1549 Low
With n pes. 2 2 Speed
(N=2,4,6,8-)Note!) | (n=4,8,12,16...)Note?) (n=4,8,12, 16.-) Note2)
With 2 pes. (Different surfaces,
PR Same surface), With 1 pc. 15 90 95 MQ
H (n-2) (n-4) (n-4)
With n ps. 15+30 05 90 +30 5 95 +30 5 RHC
(N=2,4,6,8-)Note!) | (n=4,8, 12, 16...)Note?) (n=4,8,12, 16.:) Note2)
With 2 pes. (Different surfaces,
PaE Same surface), With 1 pc. s 100 105 1o ‘RZQ
. n-2) n-4 (n-4) (n-4)
With n ps. 15 +40 052 100 +40 05 105 +40 05~ 110+ 4075
(N=2,4,6,8-)Nte!) | (n1=4,812,16-)No? | (n=4,8,12, 16--)Note2) | (n=4,8, 12, 16..)Note2)
With 2 pes. (Different surfaces,
P Same surface), With 1 pc. 10 75 80 85
. n-2) () (n-4) (n-4)
With n ps. 10 +30 52 75+ 30 5 80+30 "5 85+30 "5
(N=2,4,6,8-)Note!) | (n1=4,812,16-)Nd | (n=4,8,12, 16--)Noe2) | (n=4,8, 12, 16...)Note2)
D-A5[VA6] |Wj i
AW With 2 pes. (DlﬂerenF surfaces, 25 125 135
D-F5L1/J59 Same surface), With 1 pc.
D-F500W = - -
D-JSowW With n pes. 25+ 55 152 125 + 55 1549 135+ 55 059
D-F35F (Same surface) (1=2,4,6,8-)Note D) | (n=4,8, 12, 16-) Nole2) (n=4,8,12,16--) Noe2)
With 2 pes. (Different surfaces,
Same surface), With 1 pc. 35 145 185
R With n pes. 35+55052 145 + 55 159 155+ 55 24
(Same surface) (N=2,4,6,8-)Note!) | (n=4 8 12, 16...)Note2) (n=4,8,12, 16-.-) Note 2)
£ § Different surfaces 35 110
2| Same surface 100
D-A30 a " 110+30(n-2
D-G39 § Different surfaces 35+30(n-2) (=246, é) No)ts 1)
D-K39 £ 110+ 100 (n-2)
g Same surface 100 + 100 (n - 2) (n=2, 4,6, 8--) Nole 1)
With 1 pc. 15 110
£ ¢| Different surfaces 35 110
=& Same surface 55
] " 110+30 (n—2
D-A44 E‘ Different surfaces 35+30(n-2) (=246 é) No)(e 1)
r= 110+50 (n -2,
§ Same surface 55+55(n-2) (n=2,46 é) Na)‘e 1)
With 1 pc. 15 110
D-z70] With 2 pes. (Different surfaces,
g%gglj Same surface), With 1 pc. 15 105 110 15
H (n-2) (n—4) (n-4) (n-4)
D-Y7P With n pes. 15 +40 "5 105 + 40 152 110 +40 5% 115 +40 052
D-Y7JW (n=2,4,6,8"+) Note 1) (n=4,8,12,16-) Note 2) (n=4,8,12, 16...) Note 2) (n=4,8,12, 16...) Note 2)
With 2 pes. (Different surfaces,
3'36?’5‘ Same surface), With 1 pc. 10 90 95 100
-Y7 (n-2) (n-4) (n—4) (n-4)
D-Y7OOWV With n pes. 10+30 90 + 30— 95 +30 " 100 + 30—
(N=2,4,6,8-)Note!) | (n1=4,812,16-)Noed | (n=4,8,12,16--)Note?) | (n=4, 8, 12, 16...) Note2)
With 2 pes. (Different surfaces,
PR Same surface), With 1 pc. 20 15 120 125
S (n-2) (n—4) (n-4) (n-4)
With n pes. 20 +45 052 115+ 45052 120 +45 052 125 +45 052
(N=2,4,6,8-)Note!) | (n1=4,812,16-)Ned | (n=4,8,12, 16--)Note?) | (n=4,8, 12, 16...) Note2)
With 2 pes. (Different surfaces,
PR Same surface), With 1 pc. 20 105 110 15
H (n—4) (n—4)
With n pes. 105 +50 =5 — 110 +50 5 D-O
(N=2,4,6,8-)Note!) | (n1=4,812,16-)Noed | (n=4,8,12, 16--)Note?) | (n=4,8, 12, 16...) Note2)
Note 1) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation. _x|:|

Note 2) When “n” is an odd number, a multiple of 4 that is larger than this odd number is used for the calculation.

223



CS2Y series

Operating Range Auto Switch Mounting Brackets/Part No.
——————— —
(mm)
§ Bore size § Bore size (mm)

Auto switch model 125 140 160 Auto switch model 2125 2140 2160
D-M9C/M9CIV D-M9LC/M9IV
D-M9CIW/MOLCIWV 6 6.5 6.5 D-M9OCIW/M9CIWV . : .
D-MOTJA/MOTIAV D-MOCIA/MOCIAV BS5-125 BS5-125 BS5-160
D-A9LVA9LIV 12 [ 125 [ 115 D:ASEVAIHETY

= ' : D-ASLVA6L]
D-Z7/Z80 14 | 145 [ 13 D-AS9W
D-A3[1/A44 D-F5[1/J59
D-A5C/A6L] 1010 )10 D-F5NT BT-12 BT-12 BT-16

-, D-F5[JW/J59W
D-A59W 17 17 17 D-F5BA/F59F
D-Y59C1/Y69[] -
D-Y7P/Y7PV 12 13 - g_églgj/KA;; BS1-125 BS1-140 BS1-160
D-Y7OOW/Y7C0WV
D-Y7BA D-Z7(/Z80

D-Y59C1/Y69[]

D-F51/J59/F5C1W D-Y7P/Y7PV BS4-125 BS4-125 BS4-160
D-J59W/F5BA 5 5 55 D-Y7OW/Y7C0WV
D-F5NT/F59F D-Y7BA
D-G39/K39 11 1 10 D-P3DWA BS7-125S BS7-125S BS7-160S
D-P3DWA 7 7 7 [Stai Steel Mounting Screw]

# Values which include hysteresis are for guideline The following stainless steel mounting screw kit (including set screws) is available. Use it in
purposes only, they are not a guarantee accordance with the operating environment. (Since the auto switch mounting bracket is not
(assuming approximately +30% dispersion) and included, order it separately.)
may change substantially depending on the BBAT1: For D-A5/A6/F5/J5 types
ambient environment. The above stainless steel screws are used when a cylinder is shipped with the D-F5BA auto

switch. When only the auto switch is shipped independently, the BBA1 is attached.

Note) When using the D-MOIA/MOLIAV or Y7BA, do not use the steel set screws which are
included with the auto switch mounting brackets above (BS5-000, BS4-000). Order a
stainless steel screw kit (BBA1) separately, and use the M4 x 8L stainless steel set screws
included in the BBA1.

Note) Refer to page 1055. for details on the BBA1.

= The figure shows the mounting example for the
D-A9LI(V)/MOLI(V)/MOTIW(V)/MITIA(V) types.

I Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable. !
: Refer to pages 941 to 1067 for the detailed specifications. :
1 Type Model Electrical entry Features 1
D-Ag0Vv . Without indicator light
1 1
" D-A93V/AGEY Grommet (Perpendicular) .
D-Z73/Z76 -
1 1
. Reed D-A53/A56 . I
D-A67 Grommet (In-line)
1 - ) - ) 1
. D280 Without indicator light .
I D-F59/F5P/J59 _ 1
I D-Y59A/Y59B/Y7P 1
I D-F59W/F5PW/J59W " e or ind I
. DY7NW/Y7PW/Y7BW Grommet (In-line) 2-color indicator .
1 D-F5BA/Y7BA Water resistant (2-color indicator) 1
1 Solid state D-F5NT With timer 1
1 D-MINV/M9PV/M9BV _ 1
1 D-Y69A/Y69B/Y7PV 1
1 D-MINWV/MIPWV/M9BWV Grommet (Perpendicular) 2-color indicator 1
1 D-Y7ZNWV/Y7PWV/Y7BWV 1
1 D-MONAV/M9PAV/M9BAV Water resistant (2-color indicator) 1
1 = With pre-wired connector is also available for solid state auto switches. For details, refer to pages 1014 and 1015. 1
1 * Normally closed (NC = b contact) solid state auto switches (D-MOLIE(V)/Y7G/Y7H) are also available. For details, refer to pages 1592-1 and 961. |
b oon o e e e e e e e e e e e e e R e e R e e R e e e e e e e e e e e o e

® 224



CS2Y series

Ak

Specific Product Precautions

Be sure to read this before handling the products. Refer to back page 50 for Safety

Instructions and pages 3 to 12 for Actuator and Auto Switch Precautions.

Operating Precautions \

Disassembly/Replacement \

AWarmng

. Do not use the cylinder as a shock absorber.
Using the cylinder as a shock absorber may cause damage.

N

. Do not open the cushion valve beyond the stopper.
As a retaining mechanism for the cushion valve, retaining ring
is installed, and the cushion valve should not be opened beyond
that point.

If not operated in accordance with the above precautions, the
cushion valve may be ejected from the cover when air pressure
is supplied.

To adjust the cushion valve, use the JIS B 4648 hexagon wrench
key 4 (width across flats of cushion valve: 4).

3. Use the air cushion at the end of cylinder stroke.

ACautlon

. Do not use a pneumatic type as an air-hydro cylinder.
It can cause oil leak.

N

. Do not rotate the piston rod when the rod boot is
fixed.
Before rotating the piston rod, loosen the band to avoid twisting
the rod boot.

W

. Install the rod boot with the breathing hole facing
downwards or in a direction suitable to prevent dust,
moisture etc. from entering easily into the rod boot.

-y

. Regarding the installation of a knuckle joint
Please contact SMC if a knuckle joint must be installed on the
piston rod by using the rod end nut.

o

. Regarding the screw-in of fittings when piping
When ports and fittings are screwed in, tighten them with the
proper tightening torque below.

Bore size [mm] Connecting thread nominal size | Proper ti torque N-m
125, 140 1/2
160 34 281030

[}

. Do not deform cushion rings when removing and
assembling.
Cushion rings are press molded products. If a cushion ring
bumps with something when removing and assembling, the air
cushion may not function properly due to cushion ring
deformation.

~

. Do not place tape or other objects onto the painted
surface of the unit.
The paint of the CS cylinder is dried naturally, so it may peel off
if tape or another object is placed onto it.

/A Caution

1.

Do not replace the bushing.

As the bushing is press-fit, replace the cover assembly when
the bushing must be replaced.

2. When a seal is replaced, apply grease to the new seal

3.

before it is assembled.

If the cylinder is put into operation without applying grease to
the seal, it could cause the seal to wear significantly, leading
to premature air leakage.

Do not disassemble the trunnion type cylinder
because the mounting precision is required.

The trunnion type cylinder may lose dimensional accuracy and
malfunction when it is disassembled and reassembled because
the axial center of the trunnion and that of the cylinder will not
be aligned easily.

)
m
>

0 (| N
m|m
o=

= |5
o|&8=

x| N
N | X
oo



\)



Smooth Cylinder

CQSY Sseries

212, 016, 620, 025

)
m
=

How to Order

)
m
W

] CQSY ID IC REC
M T Low
Speed
With auto switch Number of auto
(Built-in magnet) " " switches M 0
ounting 2
B | Through-hole/Both ends tapped ’\gl 1;):;,
L Foot Note) n “n” pcs. RHC
LC Compact foot
F Rod flange Auto switch ‘RZQ
g [I)-ieatj 1Ia|ng<.e Nil | Without auto switch
ouble clevis y
+ For applicable auto switches,
* Mounting bracket is shipped together with refer E:pthe table below.
the product, (but not assembled).
Bore size Rod end thread
12 [ 12mm ‘ Nil ‘ Standard (Female rod end) ‘
16 | 16 mm ‘ M ‘ Male rod end ‘
20 | 20 mm
25 | 25 mm Cushion
Cylinder stroke (mm)
Refer to “Standard Strokes” Action
on page 226. . .
[D [ Double acting | Built-in Magnet Cylinder Model
. If a built-in magnet cylinder without an
Body option e ; :
- y op auto switch is required, there is no need
[ Nil ] i Standard ‘ to enter the symbol for the auto switch.
|__F__ | with boss on head end | (Example) CDQSYL25-30DC

Applicable Auto Switches/Refer to pages 941 to 1067 for further information on auto switches.

- 5 e Load voltage Auto switch model Lead wire (m) 5 ired
. . ectrical |5 iring re-wire .
Type Special function g . . 0.5 1]13|5 Applicable load
entry £ (Output) DC AC |Perpendicular | In-line Nyl Ol@ connector
3-wire (NPN) MONV M9N (] ® e O O -
s — Bwire (PNP) sv.12v MOPV | MoP | e |e|e|o| o |
% 2-wire 12V M9BV M9B [ ] ® e O o —
o . o 3-wire (NPN) MONWV | MONW [ ] ® e O o -
%5 | Diagnostic indication o 5V, 12V IC circuit
= (2-color indicator) Grommet | 8 3-wire fPNP) 24V _ M9PWV | MOPW [ ] ® e | O O Relay,
o > 2-wire 12V M9BWYV | M9BW [ ] ® e O o — PLC
2 3-wire (NPN) MONAV*'[MONA*| O |O|@[O [6)
) V,12Vv - IC circuit
B | ey S-wire (PNP) 5 M9PAV¥ |MOPAT| O |O|e@|0| o |
3 2-wire 12V M9BAV*!' [M9BA*!| O cO|@|O @] _
Ve enr maicmon 2-vire (Non-polar — — [P3OWAY| @ |—|e|e® o)
] ol ppire | sv | — | MgV | A%6 | ® |—|@|—| — |icorout| —
E -5 @ | (NPN equivalent)
@3
> ® — Grommet | > %
xgo LL o oire 24V 12v 100V | A93V* A93 [ ] [ AK 3K ] — — | Relay,
B No 100Vorless) A9OV | A90 e |—|eo|— — IC circuit| PLC
«1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.
*2 1 m type lead wire is only applicable to D-A93.
= Lead wire length symbols: 0.5 m - Nil (Example) MONW # Solid state auto switches marked with “O” are produced upon receipt of order.
im +M  (Example) MONWM ## The D-P3DWO is only compatible with 625.
-L  (Example) MONWL It is mounted away from the port side to avoid interference with fittings.

+Z (Example) MONWZ

= Since there are other applicable auto switches than listed, refer to page 232 for details.

= For details about auto switches with pre-wired connector, refer to pages 1014 and 1015.

= Auto switches are shipped together, (but not assembled).

Note) The D-A9C1V/MOCIV/MITIWV/M9LIAV auto switches may not be mounted on the port side depending on the cylinder stroke or the fitting size of piping. D'D



CQSY series

Symbol
Rubber bumper

Replacement Parts/Seal Kit

Specifications

Bore size (mm)

12 16 [ 20 [ 25

Type Pneumatic (Non-lube)
Action Double acting, Single rod
Fluid Air

Proof pressure 1.05 MPa
Maximum operating pressure 0.7 MPa

Ambient and
fluid temperature

Without auto switch: —10°C to 70°C

With auto switch: —10°C to 60°C (O reezing)

Cushion

Rubber bumper

Rod end thread

Female thread

Stroke length tolerance

+1.0 mm Note)
0

Piston speed

5 to 500 mm/s

Allowable | rate

0.5 L/min (ANR) or less

Note) Stroke length tolerance does not include the amount of bumper change.

Minimum Operating Pressure

Bore size .
(mm) Kit no. Contents
12 CQSY12-PS | pigion seal 1 pc.
16 CQSY16-PS | Rod seal 1pc.
20 CQSY20-PS | Tube gasket 1 pc.
25 CQSY25-ps | Grease pack (10 g) 1 pe.

When maintenance requires only grease, use the

following part numbers to order.

Grease pack part number: GR-L-005 (5 g)
GR-L-010 (10 g)
GR-L-150 (150 g)

Accessorx

= For details about the single knuckle joint,
double knuckle joint, knuckle pin, and rod end
nut, refer to page 244.

226

Unit: MPa
\ Bore size (mm) [ 12 [ 16 [ 20 25 \
‘ Minimum operating pressure ‘ 0.03 ‘ 0.02 ‘
Standard Strokes
—————————
Bore size (mm) Standard stroke (mm)
12,16 5,10, 15, 20, 25, 30
20, 25 5, 10, 15, 20, 25, 30, 35, 40, 45, 50
Theoretical Output
[Tl "™ yuen

Bore size Rod size Operating | Piston area Operating pressure (MPa)
(mm) (mm) direction (mm?) 0.3 05 07
IN 84.8 25 42 59

12 6
ouT 113 34 57 79
IN 151 45 75 106

16 8
ouT 201 60 101 141

IN 2 71 1 1

20 10 36 8 65
ouT 314 94 157 220
IN 378 113 189 264

25 12
ouT 491 147 245 344

Intermediate Stroke

Method Installation of spacer on standard stroke body.
Model no. Refer to page 225 for standard model no.
Intermediate strokes at 1 mm intervals are available by
Method N ¥ .
using spacers with standard stroke cylinders.
SENEER) Bore size (mm) Stroke range (mm)
stroke 9
Stroke range 12,16 1t029
20, 25 11049
Part no.: CQSYB25-47DC
CQSYB25-50DC with 3 mm width spacer inside.
Example B dimension is 77.5 mm.
Calculation:@25, B dimension 27.5 mm (without auto switch)
27.5 (B dimension) + 50 (st) = 77.5 (mm)




Smooth Cylinder CQSY Series

For standard strokes

Weights/Without Auto Switch ©  Calculation: (Example) CQSYD20-20DCM
Bore size Cylinder stroke (mm) « Basic weight: CQSYB20-20DC ---
(mm) 5 10 | 15 | 20 | 25 | 30 | 35 | 40 | 45 | 50 « Additional weight: Male rod end
12 37 43 50 57 63 70 — — — — : Double clevis -
16 49 57 66 74 83 92 — — — —
20 75 88 101 114 | 127 | 140 | 153 | 165 | 178 | 191
25 109 125 140 156 172 188 | 204 | 220 | 236 | 252 REA
Weights/With Auto Switch (Built-in magnet) © REB
Bore size Cylinder stroke (mm)
(mm) 5 | 10 [ 156 | 20 | 25 | 30 | 35 | 40 | 45 | 50 REC
12 45 51 58 65 71 78 —_ —_ —_
16 59 67 76 85 94 103 — — — — m
20 106 119 132 145 157 170 183 | 195 | 208 221 Low
25 151 167 | 183 199 | 215 | 231 246 | 262 | 278 | 294 Speed
Additional Weights (a) MQ
Bore size (mm) 12 16 20 25
Male rod and [ Malethread | 15 3 6 12 RHC
Nut 1 2 4 8
With boss on head end 0.7 1.3 2 3 RZQ
Foot (Including mounting bolt) 55 65 159 181
Compact foot (Including mounting bolt) 32 40 97 116
Rod flange (Including mounting bolt) 58 70 143 180
Head flange (Including mounting bolt) 56 66 137 171
Double clevis (Including pin, retaining ring, mounting bolt) 34 40 92 127
Mounting Bolt for CQSYB without Auto Switch
Mounting method: Mounting bolt for through-hole Cylinder model C D | Mounting bokt part no. Cylinder model [+ D | Mounting bolt part no.
mounting type of the CQSYB is CQSYB12-5DC 30 | CQ-M3X30L CQSYB20-25DC 50 | CQ-M5X50L
Refer to the followi:;afgar%red:?i:g" r?rpot::c::i.ures 210D 99 X85L =30DC o5 X55L
. iy -15DC 40 X40L -35DC 60 X60L
Order the actual number of bolts that will be used. 20DC 6.5 25 X45L 40DC 6.5 65 X65L
Example) CQ-M3X30L 4 pcs. -25DC 50 X50L -45DC 70 X70L
-30DC 55 X55L -50DC 75 X75L
CQSYB16-5DC 30 | CQ-M3X30L CQSYB25-5DC 35 | CQ-M5X35L
-10DC 35 X35L -10DC 40 X40L
-15DC 6.5 40 X40L -15DC 45 X45L
-20DC : 45 X45L -20DC 50 X50L
-25DC 50 X50L -25DC 85 55 X55L
-30DC 55 X55L -30DC | 60 X60L
CQSYB20-5DC 30 | CQ-M5X30L -35DC 65 X65L
Note) When mounting a cylinder with -10DC 65 35 X35L -40DC 70 X70L
through-hole, be sure to use the -15DC : 40 X40L -45DC 75 X75L
attached plain washer. -20DC 45 X45L -50DC 80 X80L
Material: Chromium molybdenum steel
Mounting Bolt for CDQSYB with Auto Switch Surface treament: Zine chromated
Mounting method: Mounting bolt for through-hole Cylinder model Cc D | Mounting bolt part no. Cylinder model Cc D | Mounting bolt part no.
mounting type of the CDQSYB CDQSYB12-5DC 35 | CQ-M3X35L CDQSYB20-25DC 60 | CQ-M5X60L
Refer to the foIIowii\sgélf‘/o?iﬁzleerﬁisg?o?etﬂles aCi 0 2 SBE 55 S
. iy -15DC 45 X45L -35DC 70 X70L
Order the actual number of bolts that will be used. 20DC 6.5 50 X50L 20DC 6.5 75 X75L
Example) CQ-M3X35L 4 pcs. -25DC 55 X55L -45DC 80 X80L
-30DC 60 X60L -50DC 85 X85L
CDQSYB16-5DC 35 | CQ-M3X35L CDQSYB25-5DC 45 | CQ-M5X45L
E Mounting bolt -10DC 40 X40L -10DC 50 X50L
i -15DC 65 |48 X45L -15DC 55 X55L
i -20DC 50 X50L -20DC 60 X60L
LC -25DC 55 X55L -25DC 85 65 X65L
-30DC 60 X60L -30DC 70 X70L
D CDQSYB20-5DC 40 | CQ-M5X40L -35DC 75 X75L
Note) When mounting a cylinder with -10DC 6.5 |45 X451 -40DC 80 X80L
through-hole, be sure to use the -15DC | 50 X50L -45DC 85 x8sL_ |D-[]
attached plain washer. -20DC 55 X55L -50DC 90 X90L

Material: Chromium molybdenum steel
Surface treatment: Zinc chromated

227 ®

o



CQSY series

Dimensions: g12 to 925
Standard (Through-hole/Both ends tapped): CQSYB/CDQSYB

o012
(T
S
>/
216 2x4x00B H thread effective depth C 2xM5x08 Auto switch
counterbore depth RB / 2x4xOA effective depth RA Note) Lead wire min.
/ bending radius 10
Q FE'
O <
Ei
<
£
2
T x
<
¥
Flat washer )
L B + Stroke
‘ A + Stroke
220, 225
Male rod end With boss on head end
Width across flats B1
MM = ——
& S I G = [ 72 o
<
=
] B @0 T T 3 e
[
C1 G
X
L1
Male Rod End With Boss on Head End (mm)
Bore size (mm) | B1 | C1 | H1 | L1 MM X Bore size (mm)| G Th9
12 8 | 9] 4 |14|M5x08 |105 12 1.5 150,043
16 10 |10 | 5 |[155| M6x1.0 | 12 16 15 205,052
20 13 (12| 5 [185| M8x1.25 | 14 20 2 130043
25 17 | 15| 6 |225]|M10x1.25|17.5 25 2 150,043
Note) The product with boss on head end is
applicable to only the standard stroke.
Standard
Bore size | Stroke range | Withoutauto switch | With auto switch
(mm) (mm) A B A B Cc D E F H | K L M N OA OB| Q |RA|RB | T
12 510 30 255| 22 |305| 27 | 6 6 25 | 5 |M3x05| 32 | 5 |35 |155]| 35 |[M4x07|65|75| 7 4 105
16 510 30 255| 22 |305| 27 | 8 8 29 | 5 |M4x0.7| 38 | 6 | 35|20 | 35 |[M4x07|65 |75 | 7 4 |05
20 5to 50 29 |24.5| 39 |345| 7 10 | 36 | 55 |[M5x0.8| 47 | 8 | 45 |255| 54 (M6x1.0| 9 8 10| 7 1
25 5to 50 325|275|425|375| 12 | 12 | 40 | 55 |[M6x1.0] 52 | 10 5 28 | 54 (M6x1.0| 9 9 10| 7 1

Note) Threaded through-hole is used for the standard of 820 with 5 to 10 mm strokes and @25 with a 5 mm stroke.

® 228



Dimensions: 12 to 025

Foot: CQSYL/CDQSYL

L B + Stroke Special cap bolt
i g j,
T o
e
1
. T— =
X F\ 4xoLD v 5 F\T x|l LG
Lz LS + Stroke
A + Stroke

Male rod end

Smooth Cylinder CQSY Series

Foot
Bore size | Stroke range | Without auto switch With auto switch
(mm) (mm) A B LS A B LS
12 5 to 30 403 | 22 | 10 [ 453 ] 27 | 15
16 5t030 | 403 | 22 | 10 | 453 | 27 | 15 _ |REA
20 5 to 50 462 | 245 | 125 | 56.2 | 345 | 225
25 5 to 50 49.7 [ 275 [ 125 [ 59.7 [ 375 | 225 |REB
B‘:'ne"ﬁ')ze L |L1|LD|LG|LH|LT |LX|LY|LZ| X | Y |ppe
12 135/ 24 [45]28] 17 | 2 | 34 [295] 44 45
16 135[255/ 4528 19| 2 |38 [335/48 ] 8 | 5 m
20 145(285/66 | 4 |24 |32 48 |42 |62 [9.2]58
25 15 [325]6.6 | 4 | 26 |32 ] 52 | 46 | 66 |10.7] 5.8 [Low
Foot bracket material: Carbon steel |Speed

Surface treatment: Nickel plating

g

Compact foot: CQSYLC/CDQSYLC Compact Foot RZ
A + Stroke Bore size | Stroke range | Without auto switch With auto switch Q
L__ B.Stoke (mm) (mm) A B [Ls | A B | LS
, , 12 510 30 49.6 22 40.6 | 54.6 27 45.6
1 i T | specialcap bot 16 5 to 30 506 | 22 | 406 | 556 | 27 | 456
p—— 20 5 to 50 625 | 245 | 50.9 | 72,5 | 345 | 60.9
l_-.l i 25 5to 50 65.5 | 27.5 | 53.9 | 75,5 | 37.5 | 63.9
] ¥ Bore size
‘ LX 4xolD o M (mm) L L1 |LD|LH | LT |LX LY |LZ | X Y
Lz LS + Stroke 12 135] 24 [45] 17 | 2 |155]295] 25 | 9.3 | 45
7 16 185|255| 45 | 19 2 20 |335| 29 93| 5
Male rod end {’ 20 145|285| 6.6 | 24 | 3.2 |[255| 42 | 36 |13.2]| 5.8
i 25 15 |325| 6.6 | 26 | 3.2 | 28 | 46 | 40 [13.2| 5.8
{ Compact foot bracket material: Carbon steel
== Surface treatment: Zinc chromated
L1
Rod flange: CQSYF/CDQSYF Rod Flange
Bore size | Stroke range | Without auto switch | With auto switch
i T (mm) (mm) A B A B
_@ @ -—I - 12 5t030 | 355 | 22 | 405 | 27
g z i 16 510 30 355 | 22 | 405 | 27
)| £y 20 5to 50 39 245 49 34.5
I LFT 25 5to 50 425 | 275 | 525 | 375
FX 2xoFD L™ B + Strok -
Fz K Sicke B‘z’ﬂf S| FD | FT RV | FX|FZ| L |L
12 45 | 55 25 45 55 |135| 24
Male rod end 16 45 | 55 | 30 45 55 | 13.5| 25.5
20 6.6 8 39 48 60 | 14.5| 28.5
72"‘”—1_@ 25 6.6 8 42 52 64 15 | 32.5
= Flange bracket material: Carbon steel
Rod end nut L Surface treatment: Nickel plating
1
* For details about the rod end nut and accessory brackets,
refer to page 244.
-XO



CQSY series

Dimensions: g12 to g25

Head flange: CQSYG/CDQSYG Head Flange

e Bore size | Stroke range | Without auto switch | With auto switch
— '_@ ] @ (mm) (mm) A B A B
£ £ (r z 12 50 30 31 22 36 27
A 16 510 30 31 22 36 27
[ e M - 20 5t0 50 37 | 245 | 47 | 345
Ll Bxstoke | LFT FX 2xoFD 25 510 50 405 | 275 | 50.5 | 37.5
A + Stroke FZ
Bore size
Male rod end i FD | FT | FV | FX | FZ | L | L
12 45 | 55 | 25 | 45 | 55 | 35 | 14
16 45 | 55| 30 | 45 | 55 | 35 | 155
20 66 | 8 | 39 | 48 | 60 | 45 | 185
25 66 | 8 | 42 | 52 | 64 | 5 |225

“\_Rod end nut*
L1 =

Flange bracket material: Carbon steel
Surface treatment: Nickel plating

Double clevis: CQSYD/CDQSYD

oo 0t Double Clevis
Bore size |Stroke range | Without auto switch | With auto switch
‘ ‘ oCD hole H10 (mm) (mm) A | B|CL|A|B]|CL
/ Aois d9 12 51030 |455| 22 |39.5|505| 27 |445
o I 16 5t030 [46.5] 22 [40.5|51.5] 27 [45.5
B r 20 5t050 | 56 |24.5] 47 | 66 |34.5] 57
cT licy 25 5t050 |62.5|27.5|52.5|72.5|37.5|62.5
L B + Stroke | CW. RR
£L+ Sioko B‘z:ﬁrﬁ')ze cB|co|cT|culew|cx|cz| L | L |RR
12 12| 5 4| 7 [14]5[10]35][14] 6
Male rod end 16 14| 5 | 4 [ 10|15 |65 12 | 35[155] 6
E 20 20| 8 | 5 [12] 18] 8 | 16 [45][185] 9
[ 25 24 [10 | 5 [14 |20 ] 10 ] 20 [ 5 [225] 10
h\a Double clevis bracket material: Carbon steel
L rod end nut* Surface treatment: Nickel plating

+ For details about the rod end nut and accessory brackets,
refer to page 244.

230



CQSY series
Auto Switch Mounting

Minimum Stroke for Auto Switch Mounting

(mm)
Number of auto switches | D-MOCIV D-Aov | D-M9OWV D-A90] Doty D-M9  |D-P3DWA™e " REA
D-MOTIAV D-MOTIA
With 1 pc. 5 5 10 10 (5) 15 (10) 15 (5) 15 REB
With 2 pes. 5 10 10 10 15 (10) 15 (5) 15 REC

Note 1) 925 is only applicable for the D-P3DWAL.

Note 2) The dimensions stated in ( ) shows the minimum stroke for the auto switch mounting when the auto switch does not project from
the end surface of the cylinder body and hinder the lead wire bending space. (Refer to the figure on the right.)
Order auto switches separately.

Auto Switch Proper Mounting Position (Detection at stroke end) and lts Mounting Height

= |5
o|8=

212 216 to 25
Mounting Mounting RHC
a) b) a) b)
D-M9OCIV RzQ
D-M9CIWV
D-M9CIAV
D-A9CIV
w
I
o
o
Auto Switch Proper Mounting Position (mm)
Auto switch -
model| D-MSLCI/MIW D MQEQVS\A?IDWV D-M9CJA D-A9C] D-A9CIV D-P3DWA
Bore size A B w A B Hs A B w A B w A B Hs A B Hs
12 10 5 5 10 5 19.5 | 10 5 7 6 1 1[3.5] 6 1 17 — — —
16 9.5 5.5 4.5 @5 55 | 215 9.5 5.5 6.5 5.5 1.5 0.5 [3] 5.5 1.5 19 = = =
20 13 9.5 05 | 13 9.5 | 25 13 95 | 25 9 5.5 -3.5[-1] 9 55 | 225 — — —
25 14 115 | -15 | 14 115 | 27 14 115 | 05 | 10 7.5 -5.5[-3] 10 75 | 245 | 95 7 33
Note 1) [ ]: Denotes the dimensions of the D-A93.
Note 2) Adjust the auto switch after confirming the operating condition in the actual setting. D-|:|

Note 3) The product is shipped out of the factory in installation state “a)”. To change the electrical entry direction of the switch on the head, refer to installation state “b)”.
Note 4) Negative figures for W indicate an auto switch is mounted inward from the edge of the cylinder body.

o
231 ®



CQSY series

Operating Range

(mm)

Bore size
12 | 16 | 20 | 25

Auto switch model

D-M9CI/M9CIV
D-MOOOW/MOOWV | 3 | 35 | 55| 45
D-M9OCIA/M9LIAV
D-A9C/A90IV 6 | 75|10 |10
D-P3DWA —|—]1—1686

= Values which include hysteresis are for guideline purposes only, they
are not a guarantee (assuming approximately +30% dispersion) and
may change substantially depending on the ambient environment.

Ll i il il Rl e |

I Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable. 1

+ With pre-wired connector is also available for solid state auto switches. For details, refer to pages 1014 and 1015. 1
L Normally closed (NC = b contact) solid state auto switches (D-M9LJE(V)) are also available. For details, refer to page 1592-1. 1

- e R e e e e e e e e e e e e e e e

APrecautions

e |

1 Be sure to read this before handling the products. 1
1 Refer to back page 50 for Safety Instructions and pages 3 to 12 for Actuator and Auto Switch Precautions. 1
-

g T T T .

«If the cylinder is used in an application in
which a magnetic material is placed in close
contact around the cylinder as shown in the
figure on the right (including cases in which
even one of the sides is in close contact) the
operation of auto switches could become
unstable. Therefore, please consult with SMC
for this type of application.

Magnetic substance
(Iron plate etc.)

Magnetic substance
(Iron plate etc.)

® 232



Smooth Cylinder

CQ2Y series

232, 040, 850, 63, 380, 2100

BN co2vB
[ With auto switeh [l o]ePA4[=][KP]

With auto switch
(Built-in magnet)

How to Order
-30/D
-130

OH

Mounting

B | Through-hole (Standard)
A | Both ends tapped Bore size 6——
L Foot Note) 32 | 32mm

LC Compact foot 40 | 40mm Thread type
F Rod flange 50 | 50 mm Nil Rc
G Head flange 63 | 63mm TN NPT
D Double clevis 80 | 80mm TF G

* Mounting bracket is shipped 100 | 100 mm

together with the product,
(but not assembled).

Cylinder stroke (mm)

OHO

)
m
=

N
0 (| N
m|m
o=

ITII—|

o
@® =

)=
@®
o

Number of

g

auto switches
Nil | 2pcs. RHC
S 1 pc.
n “n” pcs. RZQ
Auto switch
[Nl Without auto swich |

+ For applicable auto switches,
refer to the table below.

Auto switch mounting groove

Refer to “Standard Strokes” n
on page 234.
Action Body option 2
Built-in Magnet Cylinder Model [[D [ Double acting | [ Nil_] Standard (Female rod end) |
. N N M Male rod end ‘
If a built-in magnet cylinder without an
auto switch is required, there is no need Body option 1
to enter the symbol for the auto switch. [Nl ] Standard | Cushion
(Example) CDQ2YL40-50DCZ [_F [Withbossonheadend| [ C | _Rubber bumper
Applicable Auto Switches/Reter to pages 941 to 1067 for further information on auto switches.
A =3 i Load voltage Auto switch model Lead wire (m) pa— Pl
Type Seecaiinctod entry Eé (OU‘P'-?U DC AC | Pemendicular| In-line (?\"ﬁ) (Ijll) (E) (g) T?\;‘)e connector pTﬂad
3-wire (NPN) 5V, MONV M9N ® (/@ O|—| O | . .
5 — Bwire (PNP) 12V MOPV | MoP | @ |@|e |0 — 10 cireut
E 2-wire 12V M9BV MB (© @ @ O|—| O —
‘g Diagnostic indication | Swire (NPN) | EE:’:: 152\/\'/ mgngv\\; m:ngv : : : 8 — 8 IC circuit
pliges @ | 3-wire — Relay,
o | (Beolorindiaton ) Grommet | £l T 24V oy~ [yeBwv | MoBW | @ (e e o — o | — PLC
2 Water resistant 3-wire (NPN) 5V, MONAV*!| MONA*' | O |O | @O |—| O C gircuit
=z (2-color indicator) 8-wire (PNP) 12v M9PAV*' | MOPA*' | O |O | @ |O|—| O
3 2-wire 12V M9BAV*!' | M9BA*' | O |O | @ |O|—| O —
Magnetic field resistant (2-color indicator) 2-wire (Non-polar) — — P3SDWA | @ —| @ |0 | — O —
vE @ | e (NPN equivalent) ]| — 5V — A96V A96 o | — e | —|— — |ICcircuit] —
2 E — Grommet | > | 2-wite oay |12V | 100V A93V*2 A93 [ ] [ ] - = — | Relay,
5 No 5V,12V[100Vorless) A9OV A90 ® | —|®|—[—| — |iCacircut| PLC

=1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.

#2 1 m type lead wire is only applicable to D-A93.
= Lead wire length symbols: 0.5 m -
im -
3m -
5m -

) MONW

) MONWM
) MONWL
) MONWZ

Nil (Example]
M (Example]
L (Example)
Z (Example;

+ Since there are other applicable auto switches than listed, refer to page 249 for details.
= For details about auto switches with pre-wired connector, refer to pages 1014 and 1015.

# Solid state auto switches marked with “O” are produced upon receipt of order.



CQ2Y series

€
\ {

N
/

e
v =

= =
g

Symbol

Rubber bumper

Replacement Parts/Seal Kit

Specifications
Bore size (mm) 32 40 50 | 63 | 80 100
Type Pneumatic (Non-lube)
Fluid Air
Proof pressure 1.05 MPa
i perating pressure 0.7 MPa

Without auto switch: —10°C to 70°C
With auto switch: —10°C to 60°C

Rubber bumper (Standard)

+1.0mm Note)
0

Ambient and

fluid temperature (No freezing)

Cushion

Stroke length tolerance
Piston speed range 5 to 500 mm/s

All ble leak rate 0.5 L/min (ANR) or less
Note) Stroke length tolerance does not include the amount of bumper change.

Minimum Operating Pressure

Unit: MPa
\ Bore size (mm) [ 32 [ 40 [ s0 63 80 | 100
‘ Minimum operating pressure ‘ 0.02 ‘ 0.01 ‘

Standard Strokes

Bore size
(mm)

32 CQ2Y32-PS

40 CQ2Y40-PS

Kit no. Contents

Piston seal 1pc.
50 CQ2Y50-PS | Rod seal 1 pe.
63 CQ2Y63-PS | Tube gasket 1 pc.

80 CQ2Y80-ps | Grease pack (10 g) 1pc.
100 CQ2Y100-PS
When maintenance requires only grease, use the
following part numbers to order.
Grease pack part number: GR-L-005 (5 g)
GR-L-010 (10 g)
GR-L-150 (150 g)

Accessory

« For details about the single knuckle joint,
double knuckle joint, knuckle pin, and rod end
nut, refer to page 244.

« Stainless steel mounting brackets and
accessories are also available.

Refer to page 244 for details.

® 234

Bore size (mm) Standard stroke (mm)
32, 40 5, 10, 15, 20, 25, 30, 35, 40, 45, 50, 75, 100
50, 63, 80, 100 10, 15, 20, 25, 30, 35, 40, 45, 50, 75, 100
Theoretical Output
[ —Pour[ F—FN  yun
Bore size Operating Operating pressure (MPa)
(mm) direction 0.3 0.5 0.7
IN 181 302 422
32 ouT 241 402 563
40 IN 317 528 739
ouT 377 628 880
IN 495 825 1155
=S ouT 589 982 1374
IN 841 1402 1962
63 ouT 935 1559 2182
IN 1361 2268 3175
& ouT 1508 2513 3519
IN 2144 3574 5003
100 ouT 2356 3927 5498

Intermediate Stroke

Method Installation of spacer on standard stroke body.
Model no. Refer to page 233 for standard model no.
Intermediate strokes at 1 mm intervals are available by
Method . § .
Standard using spacers with standard stroke cylinders.
stroke Bore size (mm Stroke range (mm
Stroke range re size (mm) ‘ roke range (mm)
3210 100 | 11099
Part no.: CQ2YB50-57DCZ
CQ2YB50-75DCZ with 18 mm width spacer inside.
Example B dimension is 125.5 mm.
Calculation:¢50, B dimension 50.5 mm (without switch)
50.5 (B dimension) + 75 (st) = 125.5 (mm)




Smooth Cylinder CQZY Series

Weights
Weights/Without Auto Switch )
Bore size Cylinder stroke (mm)
(mm) 5 10 15 20 25 30 35 40 45 50 75 100
32 134 154 174 193 213 233 252 272 291 311 457 556
40 211 232 254 275 297 318 340 361 383 404 577 689 | |REA
50 — 369 402 435 467 500 533 566 598 632 902 1073
63 — 557 595 633 671 709 747 786 824 862 1189 1386 | |REB
80 — 983 1043 1104 1164 1224 1284 1345 1405 1465 1985 2281
100 — 1711 1792 1872 1952 2033 2113 2194 2274 2354 3086 3494 REC
Weights/With Auto Switch (Built-in magnet) @ m
Bore size Cylinder stroke Low
(mm) 5 10 15 20 25 30 35 40 45 50 75 100 Speed
32 191 211 230 250 270 289 309 329 348 368 468 567 M 0
40 284 305 327 348 369 391 412 434 455 477 589 701
50 — 480 513 546 579 611 644 677 710 743 915 1087 RHC
63 — 710 748 787 825 863 901 939 977 1015 1211 1408
80 — 1229 1289 1350 1410 1470 1530 1591 1651 1711 2008 2305 RZQ
100 — 2070 2150 2231 2311 2391 2472 2552 2633 2713 3121 3529
Additional Weights (@
Bore size (mm) 32 40 50 63 80 100
Both ends tapped 6 6 6 19 45 45
‘ Male thread 26 27 53 53 120 175
Male rod end
‘ Nut 17 17 32 32 49 116
With boss on head end 5 7 13 25 45 96
Foot (Including mounting bolt) 142 154 243 320 690 1057
Compact foot (Including mounting bolt) 99 114 177 241 501 770
Rod flange (Including mounting bolt) 180 214 373 559 1056 1365
Head flange (Including mounting bolt) 165 198 348 534 1017 1309
Double clevis (Including pin, retaining ring, mounting bolt) 151 196 393 554 1109 1887
Calculation (Example) CQ2YD32-20DCMZ
® Basic weight: CQ2YB32-20DCZ
* Additional weight: Both ends tapped-
Male rod end-
Double clevis
Total 393 g
D-OJ
-Xd



CQ2Y series

Mounting Bolt

Mounting method: Mounting bolt for through-hole E -
mounting type of the CQ2YB is
available as an option.
Refer to the following for ordering procedures. 4
Order the actual number of bolts that will be used.

Example) CQ-M5X40L 2 pcs. |,

Mounting bolt

Mounting Bolt for CQ2YB without Auto Switch

Cylinder model C D | Mounting bolt part no. Cylinder model (o} D | Mounting bolt part no.
CQ2YB32- 5DC 40 | CQ-M5X40L CQ2YB63- 10DC 60 | CQ-M8X60L
- 10DC 45 X45L - 15DC 65 X65L

- 15DC 50 X50L - 20DC 70 X70L

- 20DC 55 X55L - 25DC 75 X75L

- 25DC 60 X60L - 30DC 80 X80L

- 30DC 9 65 X65L - 35DC |145| 85 X85L

- 35DC 70 X70L - 40DC 90 X90L

- 40DC 75 X75L - 45DC 95 X95L

- 45DC 80 X80L - 50DC 100 X100L

- 50DC 85 X85L - 75DC 135 X135L

- 75DC 120 X120L -100DC 160 X160L
-100DC 145 X145L CQ2YB80- 10DC 65 | CQ-M10X65L
CQ2YB40- 5DC 45 | CQ-M5X45L - 15DC 70 X70L
- 10DC 50 X50L - 20DC 75 X75L

- 15DC 55 X55L - 25DC 80 X80L

- 20DC 60 X60L - 30DC 85 X85L

- 25DC 65 X65L - 35DC | 15 90 X90L

- 30DC 75 70 X70L - 40DC 95 X95L
-3DC| 75 X75L - 45DC 100 X100L

- 40DC 80 X80L - 50DC 105 X105L

- 45DC 85 X85L - 75DC 140 X140L

- 50DC 90 X90L -100DC 165 X165L

- 75DC 125 X125L CQ2YB100- 10DC 75 | CQ-M10X75L
-100DC 150 X150L - 15DC 80 X80L
CQ2YB50- 10DC 55 | CQ-M6X55L - 20DC 85 X85L
- 15DC 60 X60L - 25DC 90 X90L

- 20DC 65 X65L - 30DC 95 X95L

- 25DC 70 X70L - 35DC | 15.5| 100 X100L

- 30DC 75 X75L - 40DC 105 X105L

- 35DC | 12.5| 80 X80L - 45DC 110 X110L

- 40DC 85 X85L - 50DC 115 X115L

- 45DC 90 X90L - 75DC 150 X150L

- 50DC 95 X95L -100DC 175 X175L

- 75DC 130 X130L Material: Chromium molybdenum steel
-100DC 155 X155L Surface treatment: Zinc chromated

236



Mounting Bolt for CDQ2YB with Auto Switch (Built-in magnet)

Smooth Cylinder CQZY Series

Cylinder model [+ D | Mounting bolt part no. Cylinder model [ D | Mounting bolt part no.
CDQ2YB32- 5 50 | CQ-M5X50L CDQ2YB63- 10 70| CQ-M8X70L
- 10 55 X55L - 15 75 X75L

- 15 60 X60L - 20 80 X80L

- 20 65 X65L -25 85 X85L

- 25 70 X70L - 30 90 X90L

- 30 9 75 X75L - 35 |145]| 95 X95L

- 35 80 X80L - 40 100 X100L

- 40 85 X85L - 45 105 X105L

- 45 90 X90L - 50 110 X110L

- 50 95 X95L -75 135 X135L

-75 120 X120L -100 160 X160L

-100 145 X145L CDQ2YB80- 10 75 | CQ-M10X75L
CDQ2YB40- 5 55 | CQ-M5X55L - 15 80 X80L
- 10 60 X60L - 20 85 X85L

- 15 65 X65L - 25 90 X90L

- 20 70 X70L - 30 95 X95L

- 25 75 X75L - 35| 15 | 100 X100L

- 30 75 80 X80L - 40 105 X105L

-35| 85 X85L - 45 110 X110L

- 40 90 X90L - 50 115 X115L

- 45 95 X95L - 75 140 X140L

- 50 100 X100L -100 165 X165L

-75 125 X125L CDQ2YB100- 10 85 | CQ-M10X85L

-100 150 X150L - 15 90 X90L
CDQ2YB50- 10 65 | CQ-M6X65L - 20 95 X95L
- 15 70 X70L - 25 100 X100L

- 20 75 X75L - 30 105 X105L

- 25 80 X80L - 35 |155] 110 X110L

- 30 85 X85L - 40 115 X115L
-35|125| 90 X90L - 45 120 X120L

- 40 95 X95L - 50 125 X125L

- 45 100 X100L -75 150 X150L

- 50 105 X105L -100 175 X175L

- 75 130 X130L Material: Chromium molybdenum steel

-100 155 X155L Surface treatment: Zinc chromated

=)
N
o



CQ2Y series

@32 to 050

Through-hole: CQ2YB/CDQ2YB

(Types with auto switch and without auto switch only differ
in the A and B dimensions. Refer to the table below.)

Both ends tapped: CQ2YA/CDQ2YA
CDQ2YA

Oithread R R Both Ends Tapped (mm)

Bore size
(mm) 01 R
32 M6x1.0 | 10
W 40 M6x1.0 | 10
50 M8x1.25 | 14
. 2x P (Re, NPT, G) Auto switch
H thread effective depth € (Port size) Lead wire min. bending radius 10
4 x oN through Q E
8 x 00 counterbore [~ =
= m——Cal
72 7
7 K
N =
N~ 1 i =
S
LK, L B + Stroke
M A + Stroke
E J
w
With boss on head end
With Boss on Head End (mm)
= Bore size
w— — ] ’7 (i) Th9
Py Fary 2 32 21 3os
U \ s 40 2850,
I — 50 353060
L2
) Male rod end
Width across flats B1
MM /
@ VA Male Rod End (mm)
| Bore size
(mm) B1 | C1 | Hi | L MM X
32 22 |20.5| 8 |285| M14x15 (235
40 22 |20.5| 8 |28.5| M14x 1.5 |23.5
G 50 27 | 26 | 11 |33.5| M18x 1.5 |28.5
X
L1
(mm)
Bore size | Stroke range | Wiioutautoswitch | With auto switch
D E F H K L M N P w 4
(mm) (mm) aAlB|Aa[B|° : © ©
5to 50 40 | 33
32 50 | 43 | 13 | 16 | 45 | 7.5 | M8x 125 | 45 | 14 7 34 |55 |9depth7 | 1/8 | 10 |495| 14
75, 100 50 | 43
510 50 46.5|39.5
40 56.5(49.5| 13 | 16 | 52 | 7.5 | M8x1.25 | 5 14 | 7 | 40 | 55 | 9depth7 | 1/8 (125| 57 | 14
75, 100 56.5|49.5
10 to 50 48.5|40.5
50 58.5(50.5| 15 | 20 | 64 |10.5| M10Ox15 | 7 17 8 50 | 6.6 | 11depth8 | 1/4 [105| 71 | 19
75, 100 58.5|50.5

® 238



Bore Size

232 to 050

Smooth Cylinder CQZY Series

(Types with auto switch and without auto switch only differ
in the A and B dimensions. Refer to the table below.)

Foot: CQ2YL/CDQ2YL Foot (mm)
L B+ Stroke Bore size | Stroke range | Without auto switch | With auto switch L | w !l
(mm) (mm) A|BJ|LS|A|B]|LS
: : 51050 |57.2] 33 | 17
N 32 75,700 To7a] as [ 27]672| 43 | 27 | 17 |385| 686
% o b cab e 40 51050 168.713951238) .57 49.5(335| 17 |38.5| 6.6
= 75,100 [73.7[49.5[33.5] 77|70 7 e
8 = == ) 101050 [66.7]40.5]17.5
X _NaxolD XJY| »—T ﬁx LG 50 75,100 |76.7]50.5|27.5 O |508|275| 18 |435) 9
Lz LS + Stroke i
Bore size | Stroke range
A+ Stoke {mm) () LG [LH | LT |LX |LY |LZ| X | ¥
5 t0 50
32 4 |30 |82|57 |57 |71|112]|58
Male rod end g 75, 100
510 50
40 = 4 | 333264 |64|78|112 7
? 10 to 50
L‘ﬁ‘ 50 75.100 5 |39 |32|79|78|95|147| 8

X || R
m|m
W || =

)
m
En

wr
o

=

o

g

Foot bracket material: Carbon

steel

Surface treatment: Nickel plating

Compact foot: CQ2YLC/CDQ2YLC Compact Foot (mm)
A + Stroke Bore size | Stroke range | Without auto switch | With auto switch L L | o
L B+ Stroke (mm) (mm) A B |[LS| A B | LS
[ 5to 50 72 | 33 |60.4
: : 32 75,100 82 | 43 [70.4 82 | 43 |70.4| 17 |385| 6.6
. 5 to 50 80.9/39.5|66.9
. Special cap bolt 40 75, 100 90.9149.5(76.9 90.9|49.5|76.9| 17 |385| 6.6
- F 5 10 to 50 89.9/40.5/73.9
‘ ‘ £ ij U 50 75.100 996505 830|909 |50-5(839| 18 |435| 9
LX 4xoLD -
Lz — X X y B‘z':]rﬁ')ze S"°(kr§n'f)’”ge LH|LT | x|y |z| x| v
LS + Stroke =150
Male rod end % 32 o5 ] 30 | 32| 34 | 57 | 45 |137| 58
5to 50
40 75,100 33 32|40 | 64 | 52 |13.7| 7
,% 10 to 50
:j 50 75, 100 39 {32 |50 | 78| 64 |16.7| 8
L1 Compact foot bracket material: Carbon steel
Surface treatment: Zinc chromated
Rod flange: CQ2YF/CDQ2YF Rod Flange mm)
Special cap bolt Bore size | Stroke range | Withoutauoswich | With auto switch
(mm) (mm) A B A B FD|FT |FV |FX|FZ
T i 5to 50 50 | 33
32 75,100 50 | 43 60 | 43 |55| 8 |48 |56 |65
5 to 50 56.5|39.5
E 40 75. 700 Too.5[405] 05| 495(55| 8 |54 (62| 72
FT 10 to 50 58.5|40.5
L1 B+ Stroke 50 75, 100 6851505 68.5/50.5/6.6| 9 |67 |76 | 89
A + Stroke Bore size | Stroke range
o) ] L L |m
“E 5 to 50
| 32 75, 100 17 |38.5| 34
5 to 50
L _E 40 75,100 17 |38.5| 40
! 10 to 50
50 75,100 18 |43.5| 50

Flange bracket material: Carbon steel
Surface treatment: Nickel plating

# For details about the rod end nut and accessory brackets, refer to page 244.

x|
N | X
oo



CQ2Y series

Bore Size
32 t 50 (Types with auto switch and without auto switch only differ
g o g in the A and B dimensions. Refer to the table below.)
Head flange: CQ2YG/CDQ2YG Head Flange (mm)
Special cap bolt Bore size | Stroke range | Withoutauoswich | With auto switch Ll
(mm) (mm) A A
o ———
+ = 5 to 50 48
32 75,100 58 58 7 285
5to 50 54.5
| 40 = 10 e 64.5 7 |285
L B + Stroke FT 4 xoFD 50 17%1(1 gg Z;g 67.5 8 (335
A + Stroke FZ > -

Flange bracket material: Carbon steel
Surface treatment: Nickel plating
(+ Dimensions except A, L and L1 are the same as rod flange type.)

L1
Double clevis: CQ2YD/CDQ2YD Double Clevis (mm)
4xN Bore size | Stroke range Without auto switch | With auto switch
cr Cap bolt (mm) (mm) A BJCL|A]| B/ CL Ch|CT|cCU
510 50 70 | 33 | 60
J—
t [N {fmﬂ 32 75,100 80 | 43 | 70 80 | 43 | 70 | 10 5 14
% [ 7 5 to 50 78.5|39.5|68.5
%] 1 40 75, 100 8851495785 88.5(49.5/78.5| 10 6 14
Ccu 50 17(21(;;()) 19000'55 gg: ;g: 100.5/50.5|86.5| 14 | 7 | 20
L B + Stroke [CW| | RR = = = -
CL + Stroke Bore size | Stroke range ewlex|cz| L | L N RR
A + Stroke (mm) (mm) !
5 to 50
32 75.100 20 | 18 | 36 | 7 |285| M6x1.0 | 10
5 to 50
40 75,100 22 | 18 | 36 7 |285| M6x1.0 | 10
10 to 50
50 75,100 28 | 22 | 44 8 |335|M8x1.25| 14

Double clevis bracket material: Cast iron
Surface treatment: Painted
# For details about the rod end nut and accessory brackets, refer to page 244.
# A double clevis pin and retaining rings are included.

240



Bore Size

263 to o100

Through-hole: CQ2YB/CDQ2YB

Smooth Cylinder CQZY Series

(Types with auto switch and without auto switch only differ
in the A and B dimensions. Refer to the table below.)

Both ends tapped: CQ2YA/CDQ2YA

Oithread _ R R Both Ends Tapped (mm)
Bore size
o R
\ I T \ (mm) ! REA
L ! I | 63 M10x1.5 | 18
e ] 80 M12x1.75| 22 REB
W 100 M12x1.75| 22
REC
_2xP (Rc, NPT, G) Lead wire min. bending radius 10
(Port size)
H thread effective depth € 4 x oN through Auto switch
8 x 060 counterbore Q F Low
A% - Speed
Ma
| N=|w Q )( @
} \ RzQ
1 =
L B + Stroke
A + Stroke
With boss on head end
With Boss on Head End (mm)
Bore size
40— (mm) The
63 35_0.062
N % -] 80 43 0052
\N & = 100 59 807
1) = =
2
Male rod end
Width across flats B1
MM
\ E Male Rod End (mm)
/ N Bore size
% N (mm) B1 | C1 | Hi | L1 MM X
63 27 |26 11 |33.5| M18x 1.5 |28.5
80 32 [32.5| 13 |435| M22x 1.5 |35.5
100 41 |32.5| 16 |43.5| M26x 1.5 |35.5
C1
X
L1
(mm)
Bore size | Stroke range | Withoutauto switch | With auto switch
(mm) (mm) A B A B C D E F H J K L M N o P Q| w z
10 to 50 54 | 46
63 64 | 56 | 15 | 20 | 77 [10.5|M10x15| 7 17 8 60 9 |14depth105| 1/4 | 15 | 84 | 19
75, 100 64 | 56
10 to 50 63.5|53.5
80 735|635 21 | 25 | 98 |125|M16x2.0| 6 | 22 | 10 | 77 1 |17.5depth 135| 3/8 | 16 | 104 | 25 D I:l
75, 100 73.5|63.5 =
10 to 50 75 | 63
100 85 | 73 | 27 | 30 | 117 | 13 |[M20x25| 6.5 | 27 | 12 | 94 1 |17.5depth 135| 3/8 | 23 |1235| 25 xl:l
75, 100 85 | 73 =




CQ2Y series

Bore Size

263 to o100

Foot: CQ2YL/CDQ2YL

B + Stroke

LY

1=

Special cap bolt

S
N2/

; AP ——
LX PMZLD x5! rtx

LG

LS + Stroke

A + Stroke

(Types with auto switch and without auto switch only differ
in the A and B dimensions. Refer to the table below.)

Foot fmm)
Bore size | Stroke range | Without auto switch | With auto switch L ||
(mm) (mm) A | B|LS|A|B|LS

o [ e il e e
- 17(;"25[? gg Zgzg §gg 95 63.5(335| 20 |535| 13
100 17%}‘:53 ﬁ)z sg ig 108 | 73 | 39 | 22 |53.5| 13
BO(rn? ,ﬁi)ze S""(krﬁn’f)"ge LG |LH LT X |LY|LZ| X | Y

63 ;‘;‘:gg 5 | 46 | 32| 95 |915(113|162| 9

80 ;‘;f‘;gg 7 | 59 | 45 |118 | 114 | 140 |195| 11

100 17‘:‘1’(‘?8 7 | 71| 6 |137|136|162| 23 |125

Foot bracket material: Carbon steel
Surface treatment: Nickel plating

Compact foot: CQ2YLC/CDQ2YLC Compact Foot (mm)
A + Stroke Bore size | Stroke range | Without auto switch | With auto switch L L | LD
B + Stroke (mm) (mm) A B [LS| A B | LS
, , 10to 50 |100.4| 46 |82.4
T i 63 75, 100 1104 56 |92.4 110.4) 56 |92.4| 18 |43.5| 11
. 10to 50 |120.5/53.5|98.5
Special cap bolt 80 75, 100 1305635 108.5130'5 63.5(108.5 20 [53.5| 13
= =g 10 to 50 136 | 63 | 111
&I 100 75, 100 126 73 [ 124 146 | 73 | 121 | 22 |53.5| 13
Bore size | Stroke range
x|y e e LH|LT|LX|LY |LZ| X | Y
LS + Stroke 10 to 50
al dend 63 75, 100 46 | 32| 60 |915| 77 |18.2| 9
ale rod en 10 to 50
% 80 75, 100 59 | 45| 77 |114| 98 |225| 11
10 to 50
% 100 75, 100 71| 6 | 94 (136|117 | 24 |125
.:j Compact foot bracket material: Carbon steel
L1 Surface treatment: Zinc chromated
Rod flange: CQ2YF/CDQ2YF Rod Flange mm)
Special cap bolt Bore size | Stroke range | Wihoutautoswich | With auto switch
(mm) (mm) A B A B FD | FT |FV |FX | FZ
1 e ! 10 to 50 64 | 46
e 2> 63 75,100 74 | 56 74 | 56 | 9 | 9 |80|92|108
w 10 to 50 73.5|53.5
E 80 75, 100 835635 83.5(63.5| 11 | 11|99 [116(134
10 to 50 85 | 63
FT
4 xoFD 100 75,100 95 | 73 95 | 73 | 11| 11 |{117|136|154
L B + Stroke
Bore size | Stroke range
A + Stroke (mm) (mm) L|L | M
10 to 50
63 75,100 18 |43.5| 60
10 to 50
80 75, 100 20 [53.5| 77
10 to 50
100 75,100 22 |535| 94

242

Flange bracket material: Carbon steel
Surface treatment: Nickel plating

+ For details about the rod end nut and accessory brackets, refer to page 244.



Bore Size

263 to o100

Head flange: CQ2YG/CDQ2YG

Special cap bolt

e
I e @@,4 @
& S| L N4
5 . LN/ ¢
| s
L | |_B+Stoke | | FT FX 4xoFD
A + Stroke Fz

Double clevis: CQ2YD/CDQ2YD
4xN
C:p bolt
CT

oCD hole H10

W
8 S

L_| | B +Stroke |CW
CL + Stroke
A + Stroke

Smooth Cylinder CQZY Series

(Types with auto switch and without auto switch only differ
in the A and B dimensions. Refer to the table below.)

Head Flange (mm)
Bore size | Stroke range | Wiioutauto switch | With auto switch Ll L
(mm) (mm) A A
10 to 50 63
63 75, 100 73 73 8 |335
10 to 50 74.5
80 75, 100 845 84.5 10 435
10 to 50 86
100 75,100 % 96 12 1435

Flange bracket material: Carbon steel
Surface treatment: Nickel plating
(+ Dimensions except A, L and L1 are the same as rod flange type.)

Double Clevis mm)
Bo(r:] nil)ze Stro(knf n:]z;nge W:h°“‘aB“‘°SWgT W['\m a“:ao sw(';ih cp|cT|cu
63 1705f(:gg 1958 gg 23 108| 56 | 94 |14 |8 |20
o S ST ol o]
100 17?5}‘358 S 1s2| 73 | 130 22| 1 31
BO(frﬁrﬁi)Zé S"":‘ﬂfnrf)‘"ge cw|cx|cz| L |ut| N |RR
63 1;;":;3 30|22 |44 | 8 |335[M10x 15| 14
80 17%,“:58 38 | 28 | 56 | 10 [435[M12x1.75| 18
100 ;Osf‘:g’g 45 (32| 64| 12 [435|M12x 175 | 22

Double clevis bracket material: Cast iron

Surface treatment: Painted
* For details about the rod end nut and accessory brackets, refer to page 244.
* A double clevis pin and retaining rings are included.

X || R
m|m
W || =

)
m
En

)
@ =

)=
@®
(=%

= |[=|[=
N || X
olla|e



CQ?2Y series

Dimensions of Accessories

Single Knuckle Joint

For I-G012, I-Z015A
1-G02, I-G03

For I-G04, I-G05
-G08, I-G10

©@NDH10
o

MM oNDH10

Ei

o

A1 [Us

Material: Cast iron
Surface treatment: Nickel plating

Material: Carbon steel
Surface treatment: Nickel plating

Double Knuckle Joint

For Y-G012, Y-Z015A For Y-G04, Y-G05
Y-G02, Y-GO03 Y-G08, Y-G10
oND hole H10 oND hole H10
MM Axis d9 |
MM
@
f C T
IR, :
alul L |
[ NZ l
A

Material: Cast iron
Surface treatment: Nickel plating

Material: Carbon steel
Surface treatment: Nickel plating

(mm) (mm)
Applicable Applicable Applicable
Part no. |boresze| A | A1 | E1 | La MM |"Ri| Us | NDwo | NX Part no. |boesize| A |A1|E1|Li| MM |*Ri|Ui|NDuio| NX |NZ[L| "pin

(mm) (mm) part no.

1-G04 |32,40| 42 | 14 |@22| 30 |[M14x15]| 12 | 14 | 106*° | 1853 Y-GO04 |32,40|42 |16 |022| 30 | M14x15 | 12| 14 | 1008°° | 18135 |36|45| IY-G04
I-GO5 |50,63| 56 | 18 |@28| 40 |M18x15| 16 | 20 | 145°° | 22768 Y-GO05 |50, 63| 56 | 20 |028| 40 | M18x 15 | 16 | 20 | 146 | 22135 |44|505| IY-GO5
I-GO8 | 80 | 71 | 21 |@38| 50 |M22x15]| 21 | 27 | 188" | 2858 Y-GO8 | 80 |71(23|038| 50| M2x15 | 21|27 | 188" | 2815 |56/64] IY-G08
I-G10 | 100 | 79 | 21 |@44| 55 |M26x15| 24 | 31 | 22%* | 3268 Y-G10 | 100 |79 |24 |o44] 55 | M26x1.5 | 24 | 31 | 22:°* | 32:33 |64|72| IY-G10

# A knuckle pin and retaining rings are included.

Knuckle Pin (Common with double clevis pin) Rod End Nut
- PE
o8
m L m
™
L t
N\
! H
Material: Carbon steel
Material: Carbon steel Surface material: Nickel plating
(mm) (mm)
Applicable Applicable Applicable bore
Part no. bo(ryﬁjn)ze Dd9 Lid|L | m|t retaining ring Part no size (mm) d H B C
1IY-G04 | 32,40 108872 |41.6]9.6 | 36.2| 1.55| 1.15 | Type C 10 for axis NT-04 32, 40 M14x 1.5 8 22 25.4
1IY-G05 | 50, 63 14888 |50.6| 13.4 | 44.2]2.05] 1.15 | Type C 14 for axis NT-05 50, 63 M18x 1.5 11 27 31.2
1Y-G08 80 18888 64 | 17 | 56.2|2.55 | 1.35 | Type C 18 for axis NT-08 80 M22 x 1.5 13 32 37.0
1Y-G10 100 228%% 72 | 21 |64.2]|2.55]1.35 | Type C 22 for axis NT-10 100 M26 x 1.5 16 Al 47.3

+ Type C retaining rings for axis are included.

Mounting Brackets, Rod End Brackets, and Nut Material: Stainless Steel

Part No. (Dimensions: Same as standard type)

Bore size (mm) | Single knuckle joint | Double knuckle joint* Rod end nut
ig 1-G04SUS Y-G04SUS NT-G04SUS
gg I-GO5SUS Y-G05SUS NT-05SUS
80 1-G08SUS Y-G08SUS NT-08SUS
100 1-G10SUS Y-G10SUS NT-10SUS

+ A knuckle pin and retaining rings are shipped together. Refer to the
XC27 for details on stainless steel double clevis pins and double knuckle
pins. The accessories need to be ordered separately from the cylinder.

® 244




Dimensions of Accessories C 02 Y Series

Simple Joint: 332 to 5100

Type A Mounting Bracket

u T 2xeoD
L L

J 5 o REA
' o . REB

S Saas ) o ﬁ%\‘T
S e iy K2 E2 0 [Rec

1

7;7 Joint m
Low
. . . E.| Speed
Joint and Mounting Bracket

(Type A, Type B) Part No.

g

Material: Chromium molybdenum steel (Nickel plating)

(A ]-[03] — ()
ore size
Part no. (mm) B D E F M T T2 RZQ
Applicable air cylinder bore YA-03| 32,40 | 18 (68 | 16 | 6 | 42 6.5 10
. 03 For 082, 040 YA-05| 50,63 | 20 | 9 | 20 | 8 | 50 6.5 12
Mounting bracket 058 Fora50, 563 YA-08| 80 |26 |11 |25|10|62]| 85 16
YA | Type A mounting bracket 08 For 280 a .
YB | Type B mounting bracket 10 For 2100 YA-10 100 31 14 | 30 | 12 | 76 10.5 18
Xy Joint Bore size
Part no. (mm) u \ W | Weight (g)
. YA-03 | 32,40 6 18 | 56 55
AIIowabIg Eccentricity (mm) YA05 | 50,63 | 8 | 22 | 67 100
Bore size 032 | 040 | 050 | 063 | 080 [ 0100 va0s| 80 | 10 | 28 |83 | 195
Eccentricity tolerance +1 +1.5 | £2 YA-10 100 12 | 36 | 100 340
Backlash 0.5
<Ordering>
« Joints are not included with the A or B type mounting brackets.
Order them separately. Type B Mounting Bracket
(Example)
Bore size 540 Part no.
* Type A mounting bracket part n -YA-03 —
* Joint: -YU-03
Joint and Mounting Bracket (Type A, Type B) Part No. - B RS
Bore si Applicable mounting bracket Ni i D
Ore SIZ€ | jsint part no. - - >+ T RNSEP/ ==
(mm) Type A mounting bracket | Type B mounting bracket . L] =
32, 40 YU-03 YA-03 YB-03 :{ \/2
50, 63 YU-05 YA-05 YB-05 —
80 YU-08 YA-08 YB-08 T:3 2 x oD through
100 YU-10 YA-10 YB-10 -~ 2 x 00 counterbore |<3-
E
©
2
£ < . H - Material: Stainless steel
éé (With locking) (mm)
=y Partno.|Bo®SiZe| g | p | E | g | m 00
- o 1 (mm)
k-] o
°® H ° YB-03| 32,40 |12 | 7 | 25| 9 | 34 11.5 depth 7.5
YB-05 | 50,63 12 9 32 | 11 42 14.5 depth 8.5
ur L YB-08| 80 16| 11 [ 38| 13 ] 52 18 depth 12
UA € YB-10 100 19 | 14 | 50 | 17 | 62 21 depth 14
Material: Chromium molybdenum steel (Nickel plating) -
Applicable b Welat Bore size q
Partno. |"PRICEEEOCIUA| € | di | de H K|L|ur|"E Partno.| = ) T T V | W | RS | Weight (g)
YU-03 32, 40 17|11 |158| 14| M8x125| 8 | 7 | 6 | 25 YB-03 | 32,40 6.5 10 18 | 50 9 80
YU-05 50, 63 1713|198 18 | M10x15| 10| 7 | 6 | 40 YB-05 | 50, 63 6.5 12 22 | 60 | 11 120 D-I:l
YU-08 80 22120(248|23| M16x2 | 13| 9 | 8 | 90 YB-08 80 8.5 16 28 | 75 | 14 230
YU-10 100 26|26 (298|28 | M20x2.5| 14 | 11 | 10 | 160 YB-10 100 10.5 18 36 | 90 | 18 455 'XD

245



CQ?2Y series
Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

D-M9OI 232 to 0100 U A 5
D-M9COIW
D-M90IA ; ‘ ; :
D-A9C1V e O/\ B O/\ = —rrwl
D-M9CIV f N f N Par) m
D-M9CIWV N2 IR e
D-M9CIAV : : + :
D-A90]
D-A70] D-F7NT 232 to 2100
D-A80 D-A73C 5
D-A70H  D-A80C e@«‘fﬁ\w@
D-A80H D-J79C i \ i
80 )
D-F70 D-A79W &y
D-J79 D-F7O0WV > Q% ST éﬁ
D-F70O0W D-F700V ! T T
<0
D-J79W 4%% %@» A Eﬁﬁ B
D-F79F
D-P3DWA 232 to 100
=u A B
- K =1 oo
7 Fan) Fany
A\ S 5
5 (o= —
Auto Switch Proper Mounting Position (mm)
Auto switch| D-M9C1/D-M9OCIV D-A72/A7CH/A80H
model| D-MOCIW D-A9C] D-A73 D-A73C/A80C/F70]
D-M9OIWV D-ASCIV D-AB0 D-F79F/J79/F70IV D-F7NT D-A79W D-P3DWA
D-M9CA D-J79C/F70W
D-M9JAV D-J79W/F7TOWV
Bore size A B A B A B A B A B A B A B
32 18 13 14 9 15 10 15.5 105 20.5 15.5 125 7.5 135 8.5
40 215 16 175 12 185 13 19 13.5 24 18.5 16 105 17 115
50 19 19.5 15 15.5 16 16.5 16.5 17 215 22 13.5 14 14.5 15
63 215 225 175 185 185 195 19 20 24 25 16 17 17 18
80 24.5 27 205 23 215 24 22 24.5 27 29.5 19 215 20 225
100 275 33.5 235 295 24.5 30.5 25 31 30 36 22 28 23 29
Note) Adjust the auto switch after confirming the operating condition in the actual setting.
Auto Switch Mounting Height (mm)
Auto switch D-F70179
model D-F7O0WN79W
D-MOOV | D-A9CV  |D-F7BA DErVw | D-7eC DAL D-ArSC | D-ATOW | D-P3DWA
D-F79F/F7NT | " & &
D-A7C1H/A80H
Bore size u u u u u u u u u
32 30 27.5 36 36.5 39.5 34 40.5 37.5 355
40 32 30 38 40 425 375 435 40.5 38
50 37.5 35 435 45 48 43 49 46 43
63 425 40.5 48.5 50.5 53.5 48 54.5 51.5 48
80 51 49 57 59 615 56.5 62.5 59.5 56.5
100 59 57 65.5 67 70 64.5 71 68 65




Minimum Stroke for Auto Switch Mounting

Auto Switch Mounting CQZ Y Series

(mm)
D-A9CIV
Number of | D-MSOV | D-A70 D-MICWV| D-MID | oo | poa DT
ato | D-F7OV | D-AB0 | D-A9C |D-M9DAV | D-F7D | DMOCW | D-ATCOM | poazew | DJ7OW | ppapwa
switches | D-J79C | D-A73C D-F7OWV | D-J79 Pl
D-A80C
With 1 pc. 5 5 10 (5) 10 15 (5) 15 (10) 15 (5) 15 20 (10) 15
With 2 pes. 5 10 10 15 15 (5) 15 15 (10) 20 20 (15) 15

Note) The dimensions stated in () shows the minimum stroke for the auto switch mounting when the auto switch does not project from the end surface of the cylinder
body and hinder the lead wire bending space. (Refer to the figure below.)

Order auto switches and auto switch mounting brackets separately.

—

P>y
A

%—H

Operating Range

(mm)
. Bore size

Auto switch model 32 20 50 53 = 50
D-M9CI(V)
D-M9CIW(V) 5 5 6 6.5 7 7.5
D-M9TIA(V)
D-A9CI(V) 9 9.5 95 | 11 10.5 | 105
D-A70(H)(C)
D-A80CI(H)(C) 10.5 1.5 11 13 115 1.5
D-A79W 14 155 145 17 15 15.5
D-F70I(V)
D-J79(C)
D-F70O0W(V) 5 5 5 6 7 8
D-F7NT
D-F79F
D-P3DWA 6 6 7 7.5 7.5 7.5

+ Values which include hysteresis are for guideline purposes only, they are not
a guarantee (assuming approximately +30% dispersion) and may change
substantially depending on the ambient environment.

* The auto switch mounting bracket BQ2-012 is not used for 832 or more with
the D-M9I(V)/MITIW(V)/MITIA(V)/A9L](V) types. The above values indicate
the operating range when mounted with the current auto switch installation

groove.

RE

=)
N
o



CQ2Y series

Auto Switch Mounting Brackets/Part No.

Applicable Cylinder Series: CDQ2

bracket part no.

D-MC/MOCIV D-F7LYF70IV/I79/J79C/F7C0W
Applicable D-M9CIW/MOIWV J79W/F7CIWV/D-F7BA/F7TBAV D-P3DWA
auto switch D-M9CJA/MOLIAV F79F/F7NT/D-A7CJ/A80/A7CIH
D-A9C/A9CIV A80H/A73C/A80C/A79W
Bore size (mm) 23210 0100
Auto switch mounting _ BQ5-032 _

® Auto switch fixing screw (M2.5 x 10 L)
® Auto switch mounting screw (M3 x 8 L)
® Auto switch spacer

© Auto switch mounting nut

mounting surface

~2n A
|

c:amg%
N
b

Auto switch Weight: 3.5 g
mounting bracket _ _
fitting parts When requesting the enclosure of the auto
lineup/Weight switch mounting brackets (2 pcs.)
with the cylinder for shipment, add “-BQ” to
the end of the cylinder model number.
Standard model no. + BQ
Example) CDQ2B32-30DZ-BQ
Surfaces with auto switch mounting slot A/B/C side except port side Surfaces with auto switch mounting slot
Port side ‘%
Auto switch 3 %G%m

3
L N
&

Mounting of
auto switch

Auto switch
mounting screw

Auto switch

© When tightening the auto switch mounting screw,
use a watchmakers' screwdriver with a handle 5 to
6 mm in diameter.

Tightening torque for auto

switch mounting screw (N-m)
Auto switch model Tightening torque

D-M9[](V)

D-M9IW(V) 0.05100.15

D-A93

D-M9CIA(V) 0.05100.10

D-A9(V;

(Excludgs)the D-agy | 2101020

(Dinsert the nut into the auto switch mounting
slot on the cylinder tube, and place it in the
roughly estimated setting position.

(@With the lower tapered part of the auto switch
spacer facing the outside of the cylinder tube,
line up the M2.5 through hole with the M2.5
female thread of the auto switch mounting nut.

®Gently screw the auto switch mounting nut
fixing screw (M2.5) into the thread of the auto
switch mounting nut through the mounting hole.

(@Engage the ridge on the auto switch mounting
arm with the recess in the auto switch spacer.

(5 Tighten the auto switch mounting screw (M3)
to fix the auto switch. The tightening torque of
the M3 screw must be 0.35 to 0.45 N-m.

(®Confirm where the mounting position is, and
tighten the auto switch fixing screw (M2.5) to
fix the auto switch mounting nut. The
tightening torque of the M2.5 screw must be

0.2510 0.35 N-m.

The detection position can be changed under

the conditions in step ).

Auto switch mounting screw
(M3x05x8L)

Auto switch

Auto switch fixing screw
(M25x0.45x10 L)

Auto switch spacer

/\'\ Auto switch mounting nut

(DInsert the mounting bracket into the mating
groove of the cylinder tube.

(2)Check the detecting position of the auto switch
and fix the auto switch firmly with the hexagon
socket head cap screw (M2.5 x 12L).*

(3)If the detecting position is changed, go back to
step 4.

Note 1) Ensure that the auto switch is covered
with the mating groove to protect the
auto switch.

Note 2) The tightening torque for the hexagon
socket head cap screw (M2.5 x 12L) is
0.2t0 0.3 N-m.

Hexagon socket head cap screw
(Included with auto switch) (M2.5 x 12 L)

Note) Auto switch mounting bracket and auto switch are enclosed with the cylinder for shipment.
The auto switch mounting bracket for the D-F7BA(V) type uses the BQ5-032 with the normal specifications (iron screw).

® 248




Auto Switch Mounting CQZ Y Series

P I R I e |

Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable.
Refer to pages 941 to 1067 for the detailed specifications.

r
1 1
1 1
1 1
1 Type Model Electrical entry Features Applicable bore size 1
1 D-A72 — 1
1 D-A73 _ — 1 [REA
1 Grommet (Perpendicular) - — - 1
D-A80 Without indicator light
: D-A79W Diagnostic indication (2-color indicator) : REB
1 Reed D-A75C Connector (Perpendicular) — 1
I D-A80C P Without indicator light 1 |REC
1 D-A72H - 1
: D-A73H/A76H Grommet (In-line) — : m
. D-A80H Without indicator light 232 t0 8100 1 [Low
M D-F7NV/F7PV/F7BV — 1 |Speed
1 D-F7NWV/F7BWV Grommet (Perpendicular) | Diagnostic indication (2-color indicator) 1
1 D-F7BAV Water resistant (2-color indicator) 1 IVIQ
1 D-J79C Connector (Perpendicular) — 1
1 Solid state D-F79/F7PII79 — 1 |RHC
! D-F79W/F7PW/J79W Diagnostic indication (2-color indicator) 1
: D-F7BA Grommet (In-line) Water resistant (2-color indicator) : RZQ
1 D-F79F With diagnostic output (2-color indicator) 1
1 D-F7NT With timer 1
1 = With pre-wired connector is also available for solid state auto switches. For detalils, refer to pages 1014 and 1015. 1
1 = Normally closed (NC = b contact) solid state auto switches (D-M9LJE(V)) are also available. For details, refer to page 1592-1. 1
1 * Trimmer auto switch (D-F7K) and heat resistant solid state auto switch (D-F7NJ) are not available. 1
b oo o o o e e e e e e mm e e R M M O M M R M M M M M M M M M M M e M M M e M e e e e e e me e mm mm owmm o
D-OJ
-Xd



	Smooth/Low Speed Cylinders: C□Y/C□X Series
	Features
	Compact foot brackets
	Part numbers with rod end bracket and/or pivot bracket available
	Smooth Cylinder: C□Y Series
	CJ2Y: Smooth Cylinder
	How to Order
	Specifications, Minimum Operating Pressure, Standard Strokes, Mounting and Accessories
	Ordering Example of Cylinder Assembly, Mounting Brackets/Part No.
	Weights, Precautions
	Dimensions/Basic (B), Single foot (L)
	Dimensions/Double foot (M), Rod flange (F)
	Dimensions/Head flange (G), Double clevis (D)
	Dimensions/Double-side bossed (E)
	Dimensions of Accessories
	Auto Switch Mounting

	CM2Y: Smooth Cylinder
	How to Order
	Specifications, Minimum Operating Pressure, Mounting Brackets/Part No.
	Mounting and Accessories, Standard Strokes, Replacement Parts/Rod Seal, Grease Pack for Maintenance
	Ordering Example of Cylinder Assembly, Weights, Same Mounting Dimensions as the Low Friction Cylinder, Precautions
	Dimensions/Basic (Double-side Bossed) (B)
	Dimensions/Axial Foot (L), Rod Flange (F)
	Dimensions/Head Flange (G)
	Dimensions/Single Clevis (C), Double Clevis (D)
	Dimensions/Rod Trunnion (U)
	Dimensions/Head Trunnion (T)
	Dimensions/Integrated Clevis (E)
	Dimensions of Accessories
	Auto Switch Mounting

	CG1Y: Smooth Cylinder
	How to Order
	Specifications, Minimum Operating Pressure, Standard Strokes
	Ordering Example of Cylinder Assembly, Replacement Parts/Seal Kit
	Mounting Brackets/Part No., Weights, Mounting Procedure
	Dimensions/φ20 to φ100
	Dimensions/Mounting Bracket
	Dimensions of Accessories
	Auto Switch Mounting

	MBY: Smooth Cylinder
	How to Order
	Specifications, Standard Strokes, Accessories, Mounting Brackets/Part No.
	Minimum Operating Pressure, Replacement Parts/Seal Kit
	Ordering Example of Cylinder Assembly, Weights
	Dimensions/Standard
	Dimensions/With Mounting Bracket
	Pivot Bracket/Trunnion and Double Clevis Pivot Bracket
	Dimensions of Accessories, Bracket Combinations
	Auto Switch Mounting

	CA2Y: Smooth Cylinder
	How to Order
	Specifications, Minimum Operating Pressure, Standard Strokes, Accessories, Replacement Parts/Seal Kit
	Ordering Example of Cylinder Assembly, Weights/Aluminum Tube
	Dimensions/Basic, Axial Foot
	Dimensions/Rod Flange, Head Flange
	Dimensions/Single Clevis, Double Clevis
	Dimensions/Center Trunnion
	Trunnion and Double Clevis Pivot Bracket
	Dimensions of Accessories
	Auto Switch Mounting

	CS2Y: Smooth Cylinder
	How to Order
	Application Example, Specifications, Minimum Operating Pressure, Maximum Strokes, Accessories
	Mounting Brackets/Part No., Weights, Sliding Resistance, Rod Boot Material
	Relationship between Cylinder Size and Maximum Stroke
	Dimensions/Basic, Foot
	Dimensions/Rod flange, Head flange
	Dimensions/Single clevis, Double clevis
	Dimensions/Center trunnion
	Dimensions of Accessories
	Auto Switch Mounting
	Specific Product Precautions

	CQSY: Smooth Cylinder
	How to Order
	Specifications, Minimum Operating Pressure, Standard Strokes
	Theoretical Output, Intermediate Stroke, Replacement Parts/Seal Kit
	Weights, Mounting Bolt
	Dimensions/φ12 to φ25
	Auto Switch Mounting

	CQ2Y: Smooth Cylinder
	How to Order
	Specifications, Minimum Operating Pressure, Standard Strokes
	Theoretical Output, Intermediate Stroke, Replacement Parts/Seal Kit
	Weights
	Mounting Bolt
	Dimensions/φ32 to φ50
	Dimensions/φ63 to φ100
	Dimensions of Accessories
	Auto Switch Mounting




